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CHEMISTRY

JEE (MAIN AND ADVANCED) CHEMISTRY

PRINCIPLES OF METALLURGY

1. In moist air copper corrodes to produce a green layer on the

surface. What is that layer ?

o Watch Video Solution



https://doubtnut.app.link/lkek2J5wfhb
https://doubtnut.app.link/MVcbJvrhfnb
https://doubtnut.app.link/MVcbJvrhfnb
https://dl.doubtnut.com/l/_SCDWC8dCcT3c

2. Metal sulphides occur mainly in rocks, but metal halides occur

in lakes and sea. Why ?

° Watch Video Solution

3. Why is the reduction of a metal oxide if the metal formed is in

liquid state at the temperature of reduction?

° Watch Video Solution

4. The Value of AG®° for the formation of Cry0; is
—540KJ mol ' and that of Al,O3 is —827KJ mol . Is the

reduction of C'ryO5 possible with Al ?

o Watch Video Solution



https://dl.doubtnut.com/l/_Y61WRuGcMoFb
https://dl.doubtnut.com/l/_KOQ2mmqgrXPy
https://dl.doubtnut.com/l/_d3ZhNoKzEZx1
https://dl.doubtnut.com/l/_nVr63FzuGgXx

5. Reduction of metal sulphides directly with carbon is not

possible. Why?

° Watch Video Solution

6. Eventhough reduction of magnesia with aluminium is
thermodynamically feasible, in practice aluminium is not used in

the metallurgy of Mg. Why ?

o View Text Solution

7. Aluminium containing alumina as impurity can be refined by

poling or not. Why?

° Watch Video Solution



https://dl.doubtnut.com/l/_nVr63FzuGgXx
https://dl.doubtnut.com/l/_VkhwgngUn6DK
https://dl.doubtnut.com/l/_5f8GRob1kc7m
https://dl.doubtnut.com/l/_mxMYrnYL0Yw7

8. The choice of a reducing agent in the extraction of a

particular case depends on thermodynamic factor. Explain.

° Watch Video Solution

9. Hydrogen is a common reductant of organic chemicals, but it

is not widely used in metallurgy. Substantiate.

o Watch Video Solution

10. Although thermodynamically feasible, in practice ,
magnesium metal is not used for the reduction of alumina in

the metallurgy of aluminium Why?

° Watch Video Solution



https://dl.doubtnut.com/l/_mxMYrnYL0Yw7
https://dl.doubtnut.com/l/_6ynktqgyFkeu
https://dl.doubtnut.com/l/_SpcR8AlAIcqf
https://dl.doubtnut.com/l/_s9km6TYZ1LFl

11. Reduction of metal oxides by thermit process becomes faster

just after ignition . Why ?

° Watch Video Solution

12. Out of coke carbonumonoxide, which is a better reducing

agent for iron oxide ?

° View Text Solution

13. Both coke and lime stone are used in smelting of iron ore.

Why?

o Watch Video Solution



https://dl.doubtnut.com/l/_s9km6TYZ1LFl
https://dl.doubtnut.com/l/_yQJxiwgTqhYj
https://dl.doubtnut.com/l/_qg7PsDooNdFq

14. To precipitate silver from sodium argento-cyanide,

aluminium can be used . Comment.

° Watch Video Solution

15. For precipitation of silver from the complex [Ag(CN),]

zinc is used but not copper. Why?

° Watch Video Solution

16. At a site, low grade copper ores are available. Zinc and iron
scraps are also available . Which of the two scrapes would be

more suitable for reducing the leached copper are ?

° View Text Solution



https://dl.doubtnut.com/l/_0fUoTCLNXKDr
https://dl.doubtnut.com/l/_lyEq1ZSbqSp0
https://dl.doubtnut.com/l/_TBfxcTn3UKDQ
https://dl.doubtnut.com/l/_sTbhhkMRjPMt

17. Electrolysis of aqueous alkali metal chloride does not

liberate metal . Why ?

o Watch Video Solution

18. How is a mixture of oxides of Aland Fe separated ?

o Watch Video Solution

19. Graphite rods are frequently replaced in Hall-Heroult's

process of extracting aluminium metal. Why ?

o Watch Video Solution

Subjective Exercise 2 Short Answer Questions



https://dl.doubtnut.com/l/_sTbhhkMRjPMt
https://dl.doubtnut.com/l/_J8VXBc6jwiYp
https://dl.doubtnut.com/l/_6ZqE2hKrKxHD
https://dl.doubtnut.com/l/_rJOrwWaTrp1d

1. Write short note on froth floatation process.

o Watch Video Solution

2. Write short notes on : roasting, calcination and smelting.

o Watch Video Solution

3. Define flux and slag. Give examples.

o Watch Video Solution

Subjective Exercise 2 Very Short Answer Questions

1. Which metal is purified by cupellation?



https://dl.doubtnut.com/l/_rJOrwWaTrp1d
https://dl.doubtnut.com/l/_rYqQQd2QKu69
https://dl.doubtnut.com/l/_IyMkgVwLhukn
https://dl.doubtnut.com/l/_vitymYfUuWmL

° Watch Video Solution

2. How the green wood poles are effecting in the refining of

impure metal.

° Watch Video Solution

3. What is flux ? Give an example.

° Watch Video Solution

4. Give the principle used in gravity concen-tration method.

o Watch Video Solution



https://dl.doubtnut.com/l/_vitymYfUuWmL
https://dl.doubtnut.com/l/_jhdorFhjLZC9
https://dl.doubtnut.com/l/_RH0NXnjB1IW3
https://dl.doubtnut.com/l/_exF3UEfuX4Ii

5. Why haematite is concentrated by electro-magnetic

separation method?

o Watch Video Solution

6. Where do the reactions in a blast furnace take place?

° Watch Video Solution

7.What are the changes that place during roasting ?

o Watch Video Solution

8. What types of ores are subjected to calcination ?

° Watch Video Solution



https://dl.doubtnut.com/l/_6oCfMoSD5FKB
https://dl.doubtnut.com/l/_rz8IkJsS8kr5
https://dl.doubtnut.com/l/_Vms03R4ZrOTS
https://dl.doubtnut.com/l/_WJmxNS8Vs8Ob

9. Write note on zone refining .

° Watch Video Solution

Subjective Exercise 3 Short Answer Questions

1. How wrought iron is prepared from pig iron?

° Watch Video Solution

2. Give any one method to convert cast -iron into steel of high

quality.

o Watch Video Solution



https://dl.doubtnut.com/l/_WJmxNS8Vs8Ob
https://dl.doubtnut.com/l/_RYoCs9WZ3Q3I
https://dl.doubtnut.com/l/_JdkXvqyng3uv
https://dl.doubtnut.com/l/_uxioFxMvIU4e

Subjective Exercise 3 Very Short Answer Questions

1. Write the names and formulae of any two ores of iron

o Watch Video Solution

2. Give the composition of charge in blast furnace in the

extraction of iron?

o Watch Video Solution

3. What is the percentage of carbon in cast iron and wrought

iron

o Watch Video Solution



https://dl.doubtnut.com/l/_CneS9ZLbJteX
https://dl.doubtnut.com/l/_AMTWjwRJexYd
https://dl.doubtnut.com/l/_YTzvwkI6P3ge

Subjective Exercise 4 Short Answer Questions

1. Write the names and formulae of any tow minerals of Cu. How

is the Cu extracted ?

o Watch Video Solution

2. Mention the ores of zinc and give their formulae. How is zinc

dust obtained from zinc blende ?

o Watch Video Solution

Subjective Exercise 4 Very Short Answer Questions

1. Write any two minerals of Cu.

| e~ |


https://dl.doubtnut.com/l/_Y1MfdScQhPXY
https://dl.doubtnut.com/l/_Y1VAKZhyUGc9
https://dl.doubtnut.com/l/_6DKI5bPtMSDU

[ W Watch Video Solution ]

Subjective Exercise 4 Very Short Answer Questions

1. What is the primary product of Bessemerisation of Matte?

° Watch Video Solution

2. Write the names of the minerals of zinc

° Watch Video Solution

3. Calamine is not directly reduced with carbon ? It is calcined

first and the reduced. Why ?

o Watch Video Solution



https://dl.doubtnut.com/l/_6DKI5bPtMSDU
https://dl.doubtnut.com/l/_2VT4XKtHIDbo
https://dl.doubtnut.com/l/_DCzqcw34xwEs
https://dl.doubtnut.com/l/_jWWUKBCj77Fg

4. Write an equation for the reaction between silver glance and

NaCN solution.

o Watch Video Solution

5. How is red bauxite purified ?

o Watch Video Solution

6. Mention oxide minerals of aluminium . Describe the Baeyer's

process.

° Watch Video Solution



https://dl.doubtnut.com/l/_jWWUKBCj77Fg
https://dl.doubtnut.com/l/_q3TodtK3sP6Y
https://dl.doubtnut.com/l/_rOFGIJlAi3Ds
https://dl.doubtnut.com/l/_i1I27gOTdEGA

7.Why cryolite is added to during electrolysis of bauxite ?

o Watch Video Solution

Objective Exercise 1 Occurrence And Concentration Of Ores

1. Which of the following is true ?

A. A mineral need not be an ore

B. An ore can't be a mineral

C. All ores are not minerals

D. All minerals are ores

Answer: A

o Watch Video Solution



https://dl.doubtnut.com/l/_gu7IlKcdBeiZ
https://dl.doubtnut.com/l/_EbuVbFge5YFz

2. Which of the following is/are found in the solid state ?

A. Pt

B. Cu

C.Au

D. Na

Answer: D

° Watch Video Solution

3. Metals occur in the native form because of their

A. High Electronegativity

B. High reactivity


https://dl.doubtnut.com/l/_EbuVbFge5YFz
https://dl.doubtnut.com/l/_A4P9GpMYGRwJ
https://dl.doubtnut.com/l/_1dBcRMn4iTGn

C. Low reactivity

D. Low density

Answer: C

° Watch Video Solution

4. A mineral usually has large amount of undesirable impurities.

These imputities are called

A. Matrix of gangue

B. Slag

C. Flux

D. Ore

Answer: A



https://dl.doubtnut.com/l/_1dBcRMn4iTGn
https://dl.doubtnut.com/l/_40KnlLUpFJgz

| ° View Text Solution

5. Most adundant metal in the earth crust is

A. Na

B. Ca

C. Al

D. Fe

Answer: C

o View Text Solution

6. Which of the following is best concentrated by froth

floatintion method ?


https://dl.doubtnut.com/l/_40KnlLUpFJgz
https://dl.doubtnut.com/l/_j6FE38hGbPzA
https://dl.doubtnut.com/l/_L1CSagF1GVPm

A. Cassiterite

B. Galena

C. Malachite

D. Magnetite

Answer: B

o View Text Solution

7. Cassiterite one is used to extract

A. Fe

B. Sn

C.Au

D.Pb


https://dl.doubtnut.com/l/_L1CSagF1GVPm
https://dl.doubtnut.com/l/_8KChJRLah6z2

Answer: B

° View Text Solution

8. The metal never found in free state is

A. Au

C.Pt

D.Zn

Answer: D

o View Text Solution

9. both calcination and coasting can be performed in


https://dl.doubtnut.com/l/_8KChJRLah6z2
https://dl.doubtnut.com/l/_BYEgwjN0hetS
https://dl.doubtnut.com/l/_tAJhIcK7A0Pr

A. Reverberatory furnace

B. Blast furnace

C. Muffle furnace

D. Electric furnace

Answer: A

o View Text Solution

10. Copper pyrites ore is concentrated by

A. Electromagnetic method

B. Gravity separation method

C. Froth floatation method

D. All the above methods


https://dl.doubtnut.com/l/_tAJhIcK7A0Pr
https://dl.doubtnut.com/l/_FFlYy7tKqjc1

Answer: C

° Watch Video Solution

11. Which one of the following is not a method of concentration

of ore

A. gravity separation

B. froth flotation process

C. electromagnetic separation

D. smelting

Answer: D

o Watch Video Solution



https://dl.doubtnut.com/l/_FFlYy7tKqjc1
https://dl.doubtnut.com/l/_jAjQofJhiGgv

12. Most abundant element in earth crust is

A. Oxygen

B. Silicon

C. Aluminuim

D. Iron.

Answer: A

° Watch Video Solution

13. The rocky and silicious matter associated with an ore is

called

A.Slag

B. Mineral



https://dl.doubtnut.com/l/_zfvjqdrGHUaq
https://dl.doubtnut.com/l/_NyVvbf9ZozhN

C. Matrix of Gangue

D. Flux

Answer: C

° Watch Video Solution

14. The process of removing of lighter ganse particles by

washing in a current of water is called

A. Levigation (or) gravity separation

B. Liquiation

C. Leaching

D. Cupellation

Answer: A



https://dl.doubtnut.com/l/_NyVvbf9ZozhN
https://dl.doubtnut.com/l/_Kx5bxBxuXNSp

| ° Watch Video Solution

15. In the froth flotation process for the purification of minerals

the particles float because

A. they are light

B. they are insoluble

C. their surface is preferentially wetted by oil

D. they bear an electrostatic charge

Answer: C

o Watch Video Solution

16. Froth floatation process for the concentration of ores is an

illustration of the practical application of


https://dl.doubtnut.com/l/_Kx5bxBxuXNSp
https://dl.doubtnut.com/l/_mZ4mDmMuG0zL
https://dl.doubtnut.com/l/_FQrJkiMMibJp

A. Adsorption

B. Abdorption

C. Coagulation

D. Sedimentation

Answer: A

o Watch Video Solution

17. Wolframite (FeW O,) is separated from cassiterite by

A. Froth flotation method
B. Levigation
C. Electromagenetic method

D. Electrostatic separation method.


https://dl.doubtnut.com/l/_FQrJkiMMibJp
https://dl.doubtnut.com/l/_wfEYA6JiDPiH

Answer: C

° Watch Video Solution

18. Which of the following ores are concentrated by Froth

flotation

A. Oxiden ores

B. Chloride ores

C.Sulphide ores

D. Nitride ores

Answer: C

o View Text Solution



https://dl.doubtnut.com/l/_wfEYA6JiDPiH
https://dl.doubtnut.com/l/_x8jk0gjoIofC

19. The common impurity present in bauxite is

A. CuO

B.ZnO

C. F6203

D. C’T‘203

Answer: C

o Watch Video Solution

Objective Exercise 1 Extration Of Crude Metal

1. A common metal that is used for the extraction of some

metals from their oxides is


https://dl.doubtnut.com/l/_kk1eCNQKc6Ye
https://dl.doubtnut.com/l/_Xm3ZIl2Ky9SA

A. Cr

B. Fe

C. Mn

D. Al

Answer: D

° Watch Video Solution

2. Extraction of metals from sulphide cres is done by

A. Electrolysis

B. Smelting

C. Hydrometallurgy

D. Roasting


https://dl.doubtnut.com/l/_Xm3ZIl2Ky9SA
https://dl.doubtnut.com/l/_JyAf1wmCg6FH

Answer: B

° Watch Video Solution

3. Roasting is generally carried out in case of

A. Oxide ores

B. Sulphide ores

C. Silicate ores

D. Carbonate ores

Answer: B

o Watch Video Solution



https://dl.doubtnut.com/l/_JyAf1wmCg6FH
https://dl.doubtnut.com/l/_16gQJC28UR4w

4. Refractory materials are used for the constru-ction of

furnaces because they

A. Are light in weight

B. Can stand with high temperature

C. Are leaf proof

D. Do not require to be replaced

Answer: B

° Watch Video Solution

5. The metal that cannot be obtained by electrolysis of the

aqueous solution of their salts is

A Ag


https://dl.doubtnut.com/l/_two5VLqpByL0
https://dl.doubtnut.com/l/_u0QQSvy7dIMl

B. Mg

C.Cu

D. Cr

Answer: B

° Watch Video Solution

6. To remove basic impurities from the ore the substance

generally used is

A. 510,
B. P2O5
C. P2O5( or )S’I/OQ

D.CaCO;


https://dl.doubtnut.com/l/_u0QQSvy7dIMl
https://dl.doubtnut.com/l/_R5pjy0E9031r

Answer: C

° Watch Video Solution

7. During smelting an additional substance added to form a

fusible product. It is known as

A.Slag

B. Mud

C. Gangue

D. Flux

Answer: D

o Watch Video Solution



https://dl.doubtnut.com/l/_R5pjy0E9031r
https://dl.doubtnut.com/l/_ysKIpGgeQUFE

8. Calcination is the process of heating the ore:

A.in inert gas

B. in the presence of air

C.in the absence of air

D. in the presence of CaO and MgO

Answer: C

o Watch Video Solution

9. To which of the following ores, calcination process in not

applicable

A.CaCOs4

B. Al,Os5. H,O


https://dl.doubtnut.com/l/_FUow6EKXvCdM
https://dl.doubtnut.com/l/_bmdCRnnFd28K

C.CaCO;. Ca(OH),

D. ZnS

Answer: D

o Watch Video Solution

10. Roasting is carried out in case of

A. Galena

B. Iron pyrites

C. Copper glance

D. All

Answer: D

o Watch Video Solution



https://dl.doubtnut.com/l/_bmdCRnnFd28K
https://dl.doubtnut.com/l/_K8C0RpvPu48b

11. Smelting is usually carried out in

A. Blast furnace

B. Open hearth furnce

C. Muffle furnace

D. Electric furnace

Answer: A

° Watch Video Solution

12.Slag is a product of

A. Flux and coke

B. Coke and metal oxide


https://dl.doubtnut.com/l/_K8C0RpvPu48b
https://dl.doubtnut.com/l/_B4hgk0RObwGu
https://dl.doubtnut.com/l/_LJy8GGXf7QGE

C. Flux and impurities

D. Metal and flux

Answer: C

° Watch Video Solution

13. In oxidisin roasting of Zn, S porducts are

A. ZnO + SO2
B. ZnO + ZnSO4 + SO,
C. Zn012

D.Zn + SOQ

Answer: A

o Watch Video Solution



https://dl.doubtnut.com/l/_LJy8GGXf7QGE
https://dl.doubtnut.com/l/_9X7lpqFHWuCW

14. For which one the following reaction AS is positive

A.2Zn(s) +O2(g) — 2Zn0(3)
B.ZC(S) —|—02(g) — ZCO(g)
C.2C’O(g) +02(g) — ZCOQ(g)

D.4Al ;) + 303(4) — 241,03,

Answer: B

° Watch Video Solution

15. For which one of the following reaction AG decreases with

increasing the temperaure

A.2Zn 5y + Oz(g) — 220 ()


https://dl.doubtnut.com/l/_9X7lpqFHWuCW
https://dl.doubtnut.com/l/_kyMZOmjSq3wX
https://dl.doubtnut.com/l/_OoAl1ZaIJZ5I

B.2CO (4) + Oz(4) — 2C0;(y)
C.2C(s) +02(g) — 200(9)

D.4CU(S) + Oz(g) — 2Cu-,0,

Answer: C

o Watch Video Solution

16. For which one of the following reaction, the graph of AG
against T is almost horizontal to temperature axis

A.C(s) + Oz(g) — COz(g)

B.2C (5) + Oz(4) — 2C0 (y)

C.CO(g) + Oa(g) = 2002(y)

D.2Mg(5) —I—Oz(g) — 2MgO(5)


https://dl.doubtnut.com/l/_OoAl1ZaIJZ5I
https://dl.doubtnut.com/l/_JdaUfk4WpSaD

Answer: A

° Watch Video Solution

17. The least stable oxide at room temperature is

A.ZnO

B. CuO

C. Sby04

D. Ah,O

Answer: D

° Watch Video Solution

18. During extraction of a metal the ore is roasted if it is a


https://dl.doubtnut.com/l/_JdaUfk4WpSaD
https://dl.doubtnut.com/l/_5OSYLUqeroKV
https://dl.doubtnut.com/l/_HpPSjJYkopAi

A. Sulphate ore

B. Sulphide ore

C. Carbonate ore

D. Oxide ore

Answer: B

o Watch Video Solution

Objective Exercise 1 Refining Of Metals

1. The process of zone refining is used for

A. Sillicon

B. Germamium


https://dl.doubtnut.com/l/_HpPSjJYkopAi
https://dl.doubtnut.com/l/_48Txw8uetIYj

C. Gallium

D. All the above

Answer: D

° Watch Video Solution

2.In xone-refining method the molten zone

A. consists of impurities only

B. contains more impurity than the original metal

C. contains the purified metal only

D. moves to either side

Answer: B

° Watch Video Solution



https://dl.doubtnut.com/l/_48Txw8uetIYj
https://dl.doubtnut.com/l/_ZoAv7uOit9qd

3.Tin and lead can be refined by

A. Cupellation Liquation

B. Liquiation

C. Bessemerisations

D. Bessemerisations

Answer: B

° Watch Video Solution

4. Which process represents the change

A. Cupellation


https://dl.doubtnut.com/l/_ZoAv7uOit9qd
https://dl.doubtnut.com/l/_zVWL4TdPbveH
https://dl.doubtnut.com/l/_RMCXIEiRmFEV

B. Van Arkel

C. Poling

D. Zone refining

Answer: B

° Watch Video Solution

5. Lead impurity is removed from silver by

A. distillation

B. Poling

C. Levigation

D. Cupellation

Answer: D


https://dl.doubtnut.com/l/_RMCXIEiRmFEV
https://dl.doubtnut.com/l/_azQVaP5jjB76

° Watch Video Solution

6. You are provided with impure samples of Zn, Cu and Ge.

Which methods are recommended for purification of these

metals respectively

A. Electrolytic refining, Zone phase refining, distillation

B. Distillation, Zone phase refining Electolytic refining

C. Electrolytic refining, distillation, zone phase refining

D. Distillation, Electrolytic refining, zone phase refining.

Answer: D

° Watch Video Solution



https://dl.doubtnut.com/l/_azQVaP5jjB76
https://dl.doubtnut.com/l/_Xn7usekwBrnx

7.1n the electrorefining, the impure metal is made

A. Cathode

B. Anode

C.Both1and 2

D. None of these

Answer: B

o Watch Video Solution

8. Electrolytic refining is used to purify which of the following

metals ?

A. Cu and Zn

B. Ge and Si


https://dl.doubtnut.com/l/_8SGv43avqb3B
https://dl.doubtnut.com/l/_QahCk9BaaxA0

C.Zrand Ti

D.Zn and Hg

Answer: A

o Watch Video Solution

9. Ni + co 2% Ni(co),

No(C0O), 2“5 Ni + 400

This sequence of reactions are involved in
A. Van Arkel methal for refining of nickel
B. Mond's process for refining of nickel
C. Zone refining of nickel

D. Refining of nickel by distillation


https://dl.doubtnut.com/l/_QahCk9BaaxA0
https://dl.doubtnut.com/l/_h8LbumIlUGIP

Answer: B

o Watch Video Solution

10. The method of zone refining of metals is based on the

priniciple of

A. Greater mobility of the pure metal than that of impurity

B. Greater solubility of the impurity in the molten state than

in the solid of metal

C. Higher melting point of the impurity than that of the pure

metal

D. The low melting point metal is purified by this method

Answer: B



https://dl.doubtnut.com/l/_h8LbumIlUGIP
https://dl.doubtnut.com/l/_4LVUhnUqJSlk

| ¥ vvatch viaeo sSolution

Objective Exercise 1Iron Metallurgy

1. Most adundant ore of iron is

A. magnetite

B. Haematite

C. limonite

D. pyrites

Answer: B

° Watch Video Solution

2.The iron obtained from blast funace is


https://dl.doubtnut.com/l/_4LVUhnUqJSlk
https://dl.doubtnut.com/l/_j8hdOYwsNm3M
https://dl.doubtnut.com/l/_8k7RyHN6YD4r

A. Pig iron

B. Silver

C. Soft iron

D. Steel

Answer: A

o Watch Video Solution

3. In the middle part of blast furnace, iron ore is treated with

lime stone to remove

A.C

B. CaO

C. 510,


https://dl.doubtnut.com/l/_8k7RyHN6YD4r
https://dl.doubtnut.com/l/_ucRJWZWouYvZ

D. F€20

Answer: C

° Watch Video Solution

4. In the manufacture of iron from haematite, the limestone

acts as

A. Areducing agent

B. Flux

C.Slag

D. Gangue

Answer: B

o Watch Video Solution



https://dl.doubtnut.com/l/_ucRJWZWouYvZ
https://dl.doubtnut.com/l/_bKvKbDmFiYOx

5.The main ore of iron is its

A. Chloride

B. Sulphate

C. Nitrate

D. Oxide

Answer: D

° Watch Video Solution

6. Which one of the following elements constitures a major

impurity in pig iron ?

A. Silicon


https://dl.doubtnut.com/l/_bKvKbDmFiYOx
https://dl.doubtnut.com/l/_gsldPczwnFs6
https://dl.doubtnut.com/l/_9vWytW9urh57

B. Oxygen

C. Sulphur

D. Carbon

Answer: D

o Watch Video Solution

7.1n blast furnace, the cup and cone arrange- ment is used

A. To escape the gases during charging

B. Not to allow the escape of the gases

C. To heat the charge with the gases

D. None of these

Answer: C


https://dl.doubtnut.com/l/_9vWytW9urh57
https://dl.doubtnut.com/l/_rNKDHgnRAfMl

° Watch Video Solution

8. Which of the following are the advantages of using oxygen in
place of air in steel industry

a) It gives more pure product

b) The surface is free from nitrides

c) It makes procedure faster, that is more product on

d) Larger quantities can be handled

A ab,c

B.b & d only

C.b,cd

D.ab,cd

Answer: D

| ° Watch Video Solution


https://dl.doubtnut.com/l/_rNKDHgnRAfMl
https://dl.doubtnut.com/l/_2k1w4zKNqozD

9.1n which of the following percentage of carbon is maximum

A. Pig iron

B. Cast iron

C. Wrought iron

D. Pig iron and wrough iron

Answer: A

° Watch Video Solution

10. Mark the wrong statement among the following. The iron
ore after washing is roasted with a little coal in excess of air.

During roasting


https://dl.doubtnut.com/l/_2k1w4zKNqozD
https://dl.doubtnut.com/l/_Ni80hl3kCzJy
https://dl.doubtnut.com/l/_gKdeyQY1RoIx

A. Moisture is removed

B.S and As are removed in the form of their volatile oxides

C. Any ferrous oxide is oxidised to ferric oxide

D. The mass becomes compact and thus makes it suitable for

ready reduction to metallic iron.

Answer: D

° Watch Video Solution

11. Weight ratio of roasted ore, coke and lime stone fed into the

blast furnace in the manufa-cture of cast iron is

A.8:1:4

B.6:4:1


https://dl.doubtnut.com/l/_gKdeyQY1RoIx
https://dl.doubtnut.com/l/_cmJBv6GcKoqD

C.8:4:1

D.8:4:3

Answer: C

° Watch Video Solution

12. The reducing agent added in the extraction of Iron from

oxide ore of iron is

A. Coke

B. Aluminium

C. Carbon monoxide

D. Zinc

Answer: A



https://dl.doubtnut.com/l/_cmJBv6GcKoqD
https://dl.doubtnut.com/l/_5FQ80XbC3O9b

| ° Watch Video Solution

13. In the extraction of iron, the slag produced is

A.CO
B. FGSZO3
C. MgS’LO3

D. CaS’&Og

Answer: D

o Watch Video Solution

Objective Exercise 1 Extration Of Some Metals


https://dl.doubtnut.com/l/_5FQ80XbC3O9b
https://dl.doubtnut.com/l/_iSxM9S4gAKIQ

1. The flux used in the smelting of copper pyrites is

A. Lime stone

B. Silica

C. Borax

D. P205

Answer: B

o Watch Video Solution

2.In the metallurgy of copper blister copper is obtained from

A. Blast furnace

B. Reverberatory furnace


https://dl.doubtnut.com/l/_Z3ynwjGsCeTJ
https://dl.doubtnut.com/l/_6y8v6AeJ4PyH

C. Bessemer converter

D. Electrolytic tank

Answer: C

° Watch Video Solution

3.Zinc is obtained on large scale by

A. Electrolysis of ZnCl,

B. Reduction of ZnO

C. Precipitation with Ag

D. Any to these methods

Answer: B

o Watch Video Solution



https://dl.doubtnut.com/l/_6y8v6AeJ4PyH
https://dl.doubtnut.com/l/_cD7vTZ2zDh2q

4. In Belgian process, for reduction of ZnO to Zn reductant is

A Al

B. Coal or Coke

C. H,

D. Water gas

Answer: B

° Watch Video Solution

5. The metal that occurs in the native state as well as in the

combined form is

A. Silver


https://dl.doubtnut.com/l/_cD7vTZ2zDh2q
https://dl.doubtnut.com/l/_WHyCZ499aFiy
https://dl.doubtnut.com/l/_3Gy2EiBHWSgc

B. Magnesium

C. Aluminum

D. Manganese

Answer: A

° Watch Video Solution

6. The matter obtained in the metallurgy of copper has the

approximate Composition

A . FeS + CuO

B. CuyS + FeO

C.CuyS + FeS

D.CuS + FeS,


https://dl.doubtnut.com/l/_3Gy2EiBHWSgc
https://dl.doubtnut.com/l/_eU9cwgJANcbL

Answer: C

° Watch Video Solution

7.The metal extracted by leaching with a cyanide is

A Mg

C.Cu

D. Na

Answer: B

o Watch Video Solution



https://dl.doubtnut.com/l/_eU9cwgJANcbL
https://dl.doubtnut.com/l/_WtqOaRuTNbNU

8. The chemical reagent used for leaching of gold and silver

ores is

A. Sodium hydroxide

B. Potassium cyanide

C. Potassium cyanate

D. Sodium sulphate

Answer: B

° Watch Video Solution

9. Name the metal M, which is extracted based on the following
equation
4M + 8CN ™~ + 2H,0 + Oy — 4|M(CN),| + 40H "~

2[M(CN),] ~ + Zn — [Zn(CN),]* + 2M


https://dl.doubtnut.com/l/_xa3WEQ9RD8Og
https://dl.doubtnut.com/l/_N4MFZCcVYRUE

A. Cu

B. Au (or) Ag

C.Hg

D. Ni

Answer: B

° Watch Video Solution

10. Of the following metals that cannot be obtained by

electolysis of the aqueous solultion of their salts is /are

A Ag

B. Mg

C.Cu


https://dl.doubtnut.com/l/_N4MFZCcVYRUE
https://dl.doubtnut.com/l/_y6mzOBZDdz40

D. Al and Mg

Answer: D

° Watch Video Solution

11. Commercially important ore of copper is its

A. Oxide ore

B. Sulphide ore

C. Sulphate ore

D. Silicate ore

Answer: B

° Watch Video Solution



https://dl.doubtnut.com/l/_y6mzOBZDdz40
https://dl.doubtnut.com/l/_7fKcjlU5oEo3
https://dl.doubtnut.com/l/_Sxtg0DEcTuPm

12. Which is the chief ore of copper ?

A. Galena

B. Copper pyrites

C. Sphalerite

D. Siderite

Answer: B

o Watch Video Solution

13. Match the extraction processes listed in Column-l with

metals listed in Column-li

Column-I Column-II
A) Self reduction P) Lead
B) Carbon reduction Q) Silver

C) Complex formation and displacement by metal R) Copper
D) Decomposition of iodi de S) Boron


https://dl.doubtnut.com/l/_Sxtg0DEcTuPm
https://dl.doubtnut.com/l/_E3VpqnAreJ7n
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Answer: A

o Watch Video Solution

14. The chemical composition of slag formed during smelting
process in the extraction of Cu is

A.Cuy0 + FeS

B. FGSZO?,

C.CuFeS,


https://dl.doubtnut.com/l/_E3VpqnAreJ7n
https://dl.doubtnut.com/l/_zXqnbscHwPns

D. CuyS + FeO

Answer: B

° Watch Video Solution

15. The statement that is not correct is

A. A furnace lined with Haematite is used to convert cast

iron to wrongth iron

B. Collectors enhance the wettability of mineral particles

during froth floatation

C.In vapour phase refining, metal should form a volatile

compound


https://dl.doubtnut.com/l/_zXqnbscHwPns
https://dl.doubtnut.com/l/_fH1SYZgsWZZ2

D.Copper from it's low grade are is extracted by

hydrometallurgy

Answer: B

° Watch Video Solution

16. Chemical leaching is useful in the concen-tration of

A. copper pyrites

B. bauxite

C.galena

D. cassiterite

Answer: B

o Watch Video Solution



https://dl.doubtnut.com/l/_fH1SYZgsWZZ2
https://dl.doubtnut.com/l/_BVaW2MbeIKAs

17. The electrolytic reduction method for the preparation of

aluminium is called

A. Hoope's process

B. Baeyer's process

C. Hall and Heroult process

D. Serpeck process

Answer: C

o Watch Video Solution

18. In the electrolytic reduction of alumina, the anodic product

is


https://dl.doubtnut.com/l/_BVaW2MbeIKAs
https://dl.doubtnut.com/l/_hEIRKtanHwWO
https://dl.doubtnut.com/l/_lfyr4KghvxfP

A Al

B. Na

C. O,

D. H,

Answer: C

° Watch Video Solution

19. Which of the following process is used in the extractive

metallurgy of magnesium ?

A. Fused salt electrolysis

B. Self reduction

C. Aqueous solution electrolysis


https://dl.doubtnut.com/l/_lfyr4KghvxfP
https://dl.doubtnut.com/l/_dTfzGqVS70gC

D. Thermite reduction

Answer: A

° Watch Video Solution

20. In the Bayer's process of purification of red hauxite the

leaching agent is

A. NaOH

B. Na2C’03

C.NaCN

D. KCN

Answer: A

o Watch Video Solution



https://dl.doubtnut.com/l/_dTfzGqVS70gC
https://dl.doubtnut.com/l/_lopseJndb7QK

21. A common metal widely used in the displacement method to

obtain other metals is

A. Cu

B. Fe

C.7Zn

D. Ca

Answer: C

o Watch Video Solution

22. The metal extracted by leaching with a cyanide is

A Al



https://dl.doubtnut.com/l/_lopseJndb7QK
https://dl.doubtnut.com/l/_64xJ8WfeCOnl
https://dl.doubtnut.com/l/_oeDPp69dQmpB

B. Na

C.Cu

D.Ag

Answer: D

° Watch Video Solution

23. Alloy used in making anchors, bolts, chains and wires

A. Pig iron

B. Cast iron

C. Wrought iron

D. german silver

Answer: C


https://dl.doubtnut.com/l/_oeDPp69dQmpB
https://dl.doubtnut.com/l/_dh8p1GMIXDBW

° Watch Video Solution

24. Aluminothermy used for the spot welding of large iron

sturctures is based upon the fact that

A.As compared to iron, aluminium has greater affinity for

oxygen

B.As compared to aluminium, ironhas greater affinity for

oxygen

C. Reaction between aluminium and oxygen is endothermic

D. Reaction between iron oxide and alumi-nium is

endothermic

Answer: A

o Watch Video Solution



https://dl.doubtnut.com/l/_dh8p1GMIXDBW
https://dl.doubtnut.com/l/_lxJjGUiImwag

25. Coinage alloy contains copper. The other metal present may

be

A. Fe

B. Ni

C.Zn

D. Pt

Answer: B

° Watch Video Solution

Objective Exercise 2 Occurance And General Principles



https://dl.doubtnut.com/l/_lxJjGUiImwag
https://dl.doubtnut.com/l/_ToDa6SrkCkBv

List-I List-1I
(mineral) (type of mineral)
: 1) Beryl a) Sulphate
" 2) Monositesand  b) Silicate

)
3) Pentlandite c) Sulphide
)

4) Anglesite d) Phosphate
1 2 3 4
A.
b d ¢ a
1 2 3 4
B.
a b ¢ d
c 1 2 3 4
"b c d a
1 2 3 4
D.
a d c b
Answer: A

o Watch Video Solution

2. X' is substance which combines chemically with impurities

associated with the ore to form casily fusible mass'Y! Her X and


https://dl.doubtnut.com/l/_fWHnz9EFEbAK
https://dl.doubtnut.com/l/_1dPmxOWyws7v

Yare

A. Flux, slag

B. Slag, flux

C. Gangue, slag

D. Reductant, flux

Answer: A

° Watch Video Solution

3. In Goldsmith thermite process reductant in

A. Coke

B. Aluminium

C. Water gas


https://dl.doubtnut.com/l/_1dPmxOWyws7v
https://dl.doubtnut.com/l/_uuxRiq3JH89r

D. Carbonmonoxide

Answer: B

° Watch Video Solution

4. Match the following

List-I List-II

(1)Liquation  (a)Volatile metals with non volatile impurit
(2)Poling (b)Metal with its metal oxies as impurity
(3)Cupellation (c)Metal with easily oxidisable impurities

(4)Distillation (d)Metal and impurities differ in M.P

1 2 3 4
A.

a b c d

1 2 3 4
B.

d ¢c b a

1 2 3 4
C.

d b ¢ a

1 2 3 4
D.

a b d c


https://dl.doubtnut.com/l/_uuxRiq3JH89r
https://dl.doubtnut.com/l/_OTgwdryWZy5h

Answer: C

° Watch Video Solution

5. In which of the following products are in the molte state

A. Calcination

B. Oxidizing roasting

C. Sulphatizing roasting

D. smelting

Answer: D

° Watch Video Solution



https://dl.doubtnut.com/l/_OTgwdryWZy5h
https://dl.doubtnut.com/l/_MRhaKBd8X6Lr

6. The removal of impurities from an ore by forming molten

mass is called

A. Calcination

B. Levigation

C.Slagging

D. Refining

Answer: C

° Watch Video Solution

7.Cryolite is chemically

A. Na3AlFg and is used in the electroysis of alumina for

increasing electrical conductivity


https://dl.doubtnut.com/l/_un2gqEiFMOvS
https://dl.doubtnut.com/l/_Bh6fWiGRs5fC

B. NagAlFg and is used in the electrolysis of alumina for

increase the melting point of alumina

C. Na3AlFy and is used in the electrolytic purification of

alumina

D. Na3sAlFy and is used in the electrolysis of alumina

Answer: A

o Watch Video Solution

8. In the froth flotation process for the purification of minerals

the particles float because

A. they are light

B. Their surface is hydrophobic (not easily watted by water)


https://dl.doubtnut.com/l/_Bh6fWiGRs5fC
https://dl.doubtnut.com/l/_TrqBrM5UtUVL

C. They bear electrostatic charge

D. They are insoluble

Answer: B

o Watch Video Solution

9. Match the following :

List-I List-II
(1)vanArkel method (1)Manufacture of caustic soda
(B)Solvay process  (2)Purification of Titanium
(C)Cupellation (3)Manufacture of Na,CO;
(D)Poling (4)Purification of copper
(5)Refining of silver
A A B C D
2 1 3 4
8 A B C D
4 3 2 5
c A B C D
2 3 5 4


https://dl.doubtnut.com/l/_TrqBrM5UtUVL
https://dl.doubtnut.com/l/_6ytdxJ805FOx

o
= W
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Answer: C

° Watch Video Solution

10. Match the following
List-I (Type of mineral) List-II

(1)Oxide (a)Kaolinite
(2)Carbonate (b)Calamine
(3)Sulphide (c)Copper glance
(4)Silicate (d)Cuprite
1 2 3 4
A
d b c a
1 2 3 4
B.
b d a c
1 2 3 4
C.
a b c d
1 2 3 4
D.
b a c d


https://dl.doubtnut.com/l/_6ytdxJ805FOx
https://dl.doubtnut.com/l/_ksZSZqaBXjsw

Answer: A

° Watch Video Solution

List-I List-1II
1) Argentite a) KCl1
11. 2) Hornsilver  b) AgCl
3) Ruby silver ¢) AgyS
4) Sylvine d) 2A92S Sb253
1 2 3 4
A.
c a d b
1 2 3 4
B.
d b c a
c 1 2 3 4
‘c b d a
1 2 3 4
D.
d c b a
Answer: C

o Watch Video Solution



https://dl.doubtnut.com/l/_ksZSZqaBXjsw
https://dl.doubtnut.com/l/_6yGeemW2RHj3

12. Match items of Column-l with the items of Column Il and

assign the correct code :

Column-I Column-II
a) Cyanide process i) Ultrapure Ge
b) Froth floatation process  ii) Dressing of ZnS
c) Electrolytic reduction iii) Extraction of Al
d) Zone refining iv) Extraction of Au

v) Purification of Ni

A. I-(c), lI-(a), llI-(d), IV-(b)

B. I-(d), lI-(b), llI-(c), IV-(a)

C. I(c), lI-(b), NI-(d), IV-(a)

D. I-(d), l1-(a), llI-(c), IV-(b)

Answer: B

° Watch Video Solution



https://dl.doubtnut.com/l/_xJvelJslVBtQ

13. Match the following

List-l (Concentration method)

1) Hydraulic washing

2) Magnetic separation

3) Froth flotation

4) Leaching

List-Il (Principle)

a) Difference in solubility of gangue and ore particles in a
specfic substance

b) Difference in wetting property of ore and gangue particles
c) Difference in gravities of ore and gangue particles

d) Difference in magnetic property of gangue and ore particles

The correct match is

Q@ = o =
SN &N
0O W o w
Q&= 2 B


https://dl.doubtnut.com/l/_njchWCgiMxzf

c 1 2 3 4
‘a d b c
1 2 3 4
D.
c d b a
Answer: D

° Watch Video Solution

14. In froth flotation process which of the following is used as
froth stabiliser

A. Pine oil

B. Xanthates

C. Fatty acids

D. Aniline (or) Cresol

Answer: D



https://dl.doubtnut.com/l/_njchWCgiMxzf
https://dl.doubtnut.com/l/_nKqtUohOI8Gm

| ° Watch Video Solution

15. All of the following metals are silvery white except

A.Zn

B. Pb

C. Mg

D. Cu

Answer: D

° Watch Video Solution

16. Consider the following statements regarding roasting.It is
carried out to

A) convert sulphide to oxide and sulphate


https://dl.doubtnut.com/l/_nKqtUohOI8Gm
https://dl.doubtnut.com/l/_g9ZJQETYcujB
https://dl.doubtnut.com/l/_3gMfKx4ToH8f

B) remove water of hydration

C) melt the ore

D) remove arsenic and sulphur impurities

Of these statements :

A. A, B and C are correct

B. A and D are correct

C.A B and D are correct

D.B, C and D are correct

Answer: C

o Watch Video Solution

17. Neutral refractory material used in furnaces is

A. Graphite


https://dl.doubtnut.com/l/_3gMfKx4ToH8f
https://dl.doubtnut.com/l/_U7gC2cHimiqU

B. CaO

C. 510,

D. MgO

Answer: A

° Watch Video Solution

18. Zirconium and titanim are purified by

A. Electrolysis

B. Zone refining

C. Bessemerisation

D. Van-arkel method

Answer: D


https://dl.doubtnut.com/l/_U7gC2cHimiqU
https://dl.doubtnut.com/l/_4MfgVGRAmedV

o Watch Video Solution

19. At which one of the following condition, a reducing agent is

suitable for reducing a metal oxide

A.Sum of the AG values for oxidation-of metal and

oxidation of reductant should be negative

B.Sum of the AG values for oxidation of metal and

oxidation of reductant should be positive

C.Sum of the AG values for reduction of metal oxide and

oxidation of reductant should be negative

D.Sum of theAG values for oxidation of metal and

reduction of reductant should be negative

Answer: C


https://dl.doubtnut.com/l/_4MfgVGRAmedV
https://dl.doubtnut.com/l/_QNUgDXAmzhVN

° Watch Video Solution

20. What is pyrometallurgy ?

A. Calcination of the ore

B. Hydrolysis of the ore

C. Electrolytic reduction of metal oxide to the metal

D. Termal reduction of metal oxide to the metal

Answer: A

° Watch Video Solution



https://dl.doubtnut.com/l/_QNUgDXAmzhVN
https://dl.doubtnut.com/l/_AF8RxPFjbMpg

21. Match the following

List-I

A) Zone refining

B) Poling

C) Van-Arkel method
D) Mond process

The correct answer is

A A B C D
I II1 II IV
A B C D

> I 1V II 111
A B C D

¢ V IIT II I
A B C D

D.

v 11 I 111

Answer: B

List-II

I) Indium

IT) Titanium

IIT) Nickel

IV) Blister copper
V) Zinc

o Watch Video Solution



https://dl.doubtnut.com/l/_uMsNYxzzBKUj

Objective Exercise 2 Extraction Of Some Metals

1. Sodium connot be extracted by electrolysis of aqueous

solutions due to

A. Sodium is less reactive

B. Sodium liberated reacts with H,O and forms NaOH and

N,

C. Sodium has hight vapour pressure

D. Preferential discharge theory

Answer: D

° Watch Video Solution



https://dl.doubtnut.com/l/_IeKg2QA9H3kb

2. Silver can be precipitated in hydrometallurgy by using

aluminium. This is because

A. silver is more electropositive metal

B. aluminium is more electronegative metal

C.silver is a good oxidising agent

D. aluminum is a good reducing agent

Answer: D

° Watch Video Solution

3. Which of following metal oxide (s) can be reduced to the
corresponding metal by hydrogen
a) MoO3 b) WO;3 c) Fe;O3 d) ZnO

The correct match is


https://dl.doubtnut.com/l/_3iYLGXrJur5w
https://dl.doubtnut.com/l/_m2EaJulTn1NS

A.onlyaandb

B.a,bandd

C.aandc

D.a only

Answer: A

° Watch Video Solution

4. Formation of metallic copper from the sulphide ore in the
normal thermo-metallur-gical process essentially involves which
one of the following reaction ?

3
A CuS + 502 — CuO + SOz,

CuS+C — Cu+ CO


https://dl.doubtnut.com/l/_m2EaJulTn1NS
https://dl.doubtnut.com/l/_aTUFMChFUmt0

3
B.CuS + 502 — CuO + S0O,,
2Cu0 + CuS — 3Cu + SO,
C.CuS + 209 — CuSOy,
CuSO, + CuS — 2Cu + 250,
3
D.CuS + 502 — CuO + SOZ,

CuO + CO — Cu + CO,

Answer: B

° Watch Video Solution

5. A mixture of Al,O3 and Fe;O3 can be separa-ted by using

A. Sodium hydroxide

B. Cold water


https://dl.doubtnut.com/l/_aTUFMChFUmt0
https://dl.doubtnut.com/l/_GLwD4jASukhL

C. Ethyl alcohol

D. Boiling water

Answer: A

° Watch Video Solution

6. Percentages of copper and zinc present in a alloy brass, are
respectively

A. 60 % and 40%

B. 40% and 60%

C.0 % and 100%

D. 100 % and 0%

Answer: A



https://dl.doubtnut.com/l/_GLwD4jASukhL
https://dl.doubtnut.com/l/_6GiU4WBfHlTJ

| ° Watch Video Solution

7.1n the blast furnace, the reaction that is taking place at the

temperature zone of 900 K to 1500 K is

A FeO + CO — Fe + CO,

B.F€203 + CO — 2FeO + 002

C.F6304—|—CO — 3Fe + CO,

D. All the above reactions

Answer: A

o Watch Video Solution

8. Metal used in the extraction of Mn and Cr from their oxides is


https://dl.doubtnut.com/l/_6GiU4WBfHlTJ
https://dl.doubtnut.com/l/_xrDK5HV5yA7T
https://dl.doubtnut.com/l/_b2FCVLBaBbE9

A Ag

B. Cu

C. Al

D. Fe

Answer: C

o Watch Video Solution

9. Impurity present in red bauxite is

A.ZnO

B. F6203

C. 510,

D. Al,Os


https://dl.doubtnut.com/l/_b2FCVLBaBbE9
https://dl.doubtnut.com/l/_vr1lOKsUJeJv

Answer: B

° Watch Video Solution

10. Metal extracted from molten cryolite is

A Al

B. Fe

C.Zn

Answer: A

o Watch Video Solution



https://dl.doubtnut.com/l/_vr1lOKsUJeJv
https://dl.doubtnut.com/l/_xhIu3So28VtN

1. From the below Ellingham diagram, incorrect statement

among the following is

AG° (KJ/mole of O5)—

. IUC—>

A. at the temperature above t(l’C, carbon can reduce Cu,0

B. at the temperature above tgc, carbon can reduce ZnO


https://dl.doubtnut.com/l/_NSaF1ZYYRsIO

C.at tdc, ZnO () will boll
D. reduction of Cu,O with carbon requires low temperature

when compared with the reduction of ZnO by carbon

Answer: C

° Watch Video Solution

12. Metal extracted only by electrolysis process is

A. copper
B. zinc
C.sodium

D. silver

Answer: C


https://dl.doubtnut.com/l/_NSaF1ZYYRsIO
https://dl.doubtnut.com/l/_jDxVxaBOwwNc

° Watch Video Solution

13. Heating mixture of CusO and CuyS will give

A.Cu + SO,
B. C’U, + 503
C.CuO + CuS

D. CUzSOg

Answer: A

o Watch Video Solution

14. Metal that can be extracted by eletrolysis of its salt even

from aqueous solutions



https://dl.doubtnut.com/l/_jDxVxaBOwwNc
https://dl.doubtnut.com/l/_XewBchpeUQC6
https://dl.doubtnut.com/l/_CYHHhtlOmJhH

A. Cu

B. Mg

C. Al

D. Ni

Answer: A

o Watch Video Solution

15. The final step in the metallurgical extraction of Cu metal
from Cu pyrites takes place in a Bessemer converter. The
reaction taking place

A. C’U,QS + 02 — 2Cu + 502

B.4Cuy0 + FeS — 8Cu + FeSO(4)


https://dl.doubtnut.com/l/_CYHHhtlOmJhH
https://dl.doubtnut.com/l/_cnmQpNeVuLfJ

D.CuyS + 2FeO — 2CuO + 2Fe + SO,

Answer: C

° Watch Video Solution

16. The process of bringing the metal or its ore into solution by

the action of a suitable chemical reagnet following by

extraction of the metal either by electrolysis or by suitable

precipitating agent is called

A. Electrometallurgy

B. Electro-refining

C. Hydrometallurgy

D. Zone-refining


https://dl.doubtnut.com/l/_cnmQpNeVuLfJ
https://dl.doubtnut.com/l/_YbNeV8pSd3ku

Answer: C

° Watch Video Solution

17. Exothermic reaction among the following is

A) 07“203 + 2All — 2Cr + Al203

B) F€203 + 2Al — 2Fe + Al203

A AB

B.B,C

CAC

D.A,B,C

Answer: D

° Watch Video Solution



https://dl.doubtnut.com/l/_YbNeV8pSd3ku
https://dl.doubtnut.com/l/_TeF34UIojqZP

18. In the extraction of silver from argentite are the one is
treated with dilute solution of NaCN in water in the presence of

Y, whereby the following reaction takes place.
Ags X + 4NaCN + 2Y — 2Na[Ag(CN),] + Na;XO0,X and Y
in this reaction are repesented by

A.Cland S

B.S and 02

C.O and 02

D.Oand S

Answer: B

o Watch Video Solution



https://dl.doubtnut.com/l/_TeF34UIojqZP
https://dl.doubtnut.com/l/_ol2WH3wWeW3S
https://dl.doubtnut.com/l/_dTb0r1Q44xyU

19. Which of the following reagent is used to separate the

impurity from red bauxite

A. Conc. HCl

B. H2SO4

C.NaOH

D. HNOjs

Answer: C

o Watch Video Solution

20. The metal iron obtained for the last furnace contains X'

percent of carbon. The maximum value of X' is

A1l


https://dl.doubtnut.com/l/_dTb0r1Q44xyU
https://dl.doubtnut.com/l/_Wf5gPSmK0deU

B.2

C.3

D.4

Answer: D

° Watch Video Solution

21. Ag2S + 4NaCN — 2X + NCLzS

Incorrect statement about 'X' is

A. X is anionic complex

B.In 'X' primary valency and secondary valency of Ag are 1

and 2

C. IUPAC and of X' is sodium dicyano-argentate (1)



https://dl.doubtnut.com/l/_Wf5gPSmK0deU
https://dl.doubtnut.com/l/_Mk4ppwDYIvco

D. IUPAC name of 'X" is sodium dicyanosilver (1)

Answer: D

o Watch Video Solution

22.Regarding the electrolysis of Alunina, the correct statements
A) Cryolite is added to increase the fusion temp

B) Impure aluminium is mixed with copper and silicon to
decrease the density

C) Fluorspar is added to reduce the fusion temp

D) Electrolyte is mixture of oxides saturated with alumina

A.Only B, C and D are correct

B.Only A, C and D are correct

C.Only A, B and D are correct


https://dl.doubtnut.com/l/_Mk4ppwDYIvco
https://dl.doubtnut.com/l/_vbqP13YENtW8

D. Only Cis correct

Answer: D

° View Text Solution

23. Gold and silver are extracted from their repective ores by

A. Calcination

B. Smelting

C. Roasting

D. Hydrometallurgy

Answer: D

o View Text Solution



https://dl.doubtnut.com/l/_vbqP13YENtW8
https://dl.doubtnut.com/l/_oo9JJBKLAsjg
https://dl.doubtnut.com/l/_oGRBEct5XpiE

24. In which of the following pair of metals, both are
commercially extracted from their respective ores by carbon

reduction method ?

A.Zn, Cu
B. Fe, Cu
C.Sn, Zn

D. Al, Ag

Answer: C

° View Text Solution

25. The percentage of carbon in steel is approx

A. 0.01



https://dl.doubtnut.com/l/_oGRBEct5XpiE
https://dl.doubtnut.com/l/_jHk0uxh2SIWO

B.0.03

C.0.02

D. 0.1

Answer: C

° Watch Video Solution

26. Which of following metal is extracted by the electrolysis of
its salt in molten state
(a) Na, (b) Mg, (c) Al, (d) Fe, (e) Ag
The correct answer is
A.onlyaandb

B.Onlya,bandc

C.Onlya,b,cand e


https://dl.doubtnut.com/l/_jHk0uxh2SIWO
https://dl.doubtnut.com/l/_6r7EVox4HLuV

D. All the above

Answer: B

° Watch Video Solution

27.The charge of the Blast Furnace consists of

A. Fe - Ore + Coke + Lime stone

B. Fe- Ore + Coke + Petrol

C. Fe- Ore + Petrol + BaS

D. Fe- Ore + Coke + BaS

Answer: A

o View Text Solution



https://dl.doubtnut.com/l/_6r7EVox4HLuV
https://dl.doubtnut.com/l/_GliQAEyVG6Jt
https://dl.doubtnut.com/l/_qh0BYBeUigjF

28. The correct statements with respect to Ellingham's diagram
among the following are
I) Magnesium reduces aluminium oxide below 1700 K
[1) Aluminium reduces magnesium oxide above 1700 K
[1) Aluminium reduces magnesium oxide below 1700 K
IV) Magnesium reduces aluminium oxide above 1700 K
A&l
B. 11 &l

C.l&IV

D.IL & IV

Answer: A

° View Text Solution



https://dl.doubtnut.com/l/_qh0BYBeUigjF

29. Which of the following element is extracted using I, as the

reactant ?

A Ni

B.Zr

C. Al

D. Cu

Answer: C

o Watch Video Solution

Objective Exercise 2 Uses Of Metals



https://dl.doubtnut.com/l/_RCcUmzAJ6qam

1. A common metal widely used in electrical cables and kitchen

ware is

A. Fe

C.Cu

D. Ni

Answer: C

o View Text Solution

2. Nickel steel is used in making

A. Cycles

B. Utensils


https://dl.doubtnut.com/l/_z6zl7IFTEWt2
https://dl.doubtnut.com/l/_R3fDLlAV2ftB

C. Cutting tools

D. Cables

Answer: D

° Watch Video Solution

3. Metal commonly present in bronze, brass and German silver

is

A. Cu

C.Zn

D. Fe

Answer: A



https://dl.doubtnut.com/l/_R3fDLlAV2ftB
https://dl.doubtnut.com/l/_rrtmy7VZt09H

| ° Watch Video Solution

4. Which of the following is used in electro-plating process ?

A. AgCl solid

B. AgNOj solution

C. Sodium argentocyanide

D. None of these

Answer: C

° View Text Solution

5.The process of protecting iron by coating with zinc is called

A. Corrosion


https://dl.doubtnut.com/l/_rrtmy7VZt09H
https://dl.doubtnut.com/l/_Fu3u1FSNbOky
https://dl.doubtnut.com/l/_RJBcaNxkUTuc

B. Galvanisation

C. Rusting

D. Smelting

Answer: B

o Watch Video Solution

Objective Exercise 3 Previous Neet Aipmt Questions

1. The method of zone refining of metals is based on the

priniciple of

A. Greater solubility of the impurities in the molten state

than in the solid

B. Greater solubility of pure metal than that of impurity


https://dl.doubtnut.com/l/_RJBcaNxkUTuc
https://dl.doubtnut.com/l/_up3ViynloVH6

C. Higher melting point of the impurity than that of the pure
metal

D. Greater noble character of the solid metal than that of

the impurity

Answer: A

o Watch Video Solution

2. Which of the following is not an ore of magnesium ?

A. Magnesite

B. Dolomite

C. Gypsum

D. Carnallite


https://dl.doubtnut.com/l/_up3ViynloVH6
https://dl.doubtnut.com/l/_leIuwEWHPDR8

Answer: C

o Watch Video Solution

3. What of the followng statement about the advantage of
roasting of sulphide ore before reduction is not true ?
A AG; of the sulphide is greater than C'S; and H,S
B. AG;’c is negative for roasting of sulphide ore to oxide
C. Roasting of the sulphide to oxide is ther-modynamically
feasible
D. Carbon and hydrogen are suitable reducing agents for

metal sulphides

Answer: D



https://dl.doubtnut.com/l/_leIuwEWHPDR8
https://dl.doubtnut.com/l/_ckVNm4XtrkEB

| ¥ VIEw IEXT Solution ]

4. Siulphide ores of metals are usually concentrated by froth
floatation process. Which one of the following sulphide ores
offfers an exception and is concentrated by leaching ?

A. Argentitie

B. Copper pyrites

C. Sphalerite

D. Galena

Answer: A

° View Text Solution



https://dl.doubtnut.com/l/_ckVNm4XtrkEB
https://dl.doubtnut.com/l/_fT5rb6it3Nw3

5. Which of the following pairs of metals is purified by van Arkel

method ?

A.Zran Ti

B.Ga and In

C.Ni and Fe

D. Ag and Au

Answer: A

° View Text Solution

6.In the eextraction of copper from its sulphide ore, th metal is

finally obtained by the reduction of cuprous oxide with

A. Copperf (1) sulphide (CU,S)


https://dl.doubtnut.com/l/_ov35lJudgOt2
https://dl.doubtnut.com/l/_m2StiD0PsXBa

B. Carbon monoxide (CO)
C. Iron sulphide (FeS)

D. Sulphur dioxide (SO,)

Answer: A

° View Text Solution

7. Which one of the following is a mineral of iron ?

A. Pyrolusite

B. Magnetite

C. Malachite

D. cassiterite

Answer: B


https://dl.doubtnut.com/l/_m2StiD0PsXBa
https://dl.doubtnut.com/l/_hmPsK27LBWuH

° View Text Solution

8.Roasting of sulphides gives the gas X as a by product. This is
a colorless gas with choking smell of burnt sulphur and causes
great damage to respiratory organs as it results in acid rain. Its
aqueous solution is acidic and acts as a reducing agent, and its
acid has never been isolated. The gas X is

A.CO,

B. SO,

C. 503

D. H,S

Answer: B

° Watch Video Solution



https://dl.doubtnut.com/l/_hmPsK27LBWuH
https://dl.doubtnut.com/l/_b9k4pjPQfxuK

9. "Metals are usually not found as nitrates in their ores . " Out
of the following two (I and II) reasons which is/are true for the
above observation ?
I. Metal nitrates are highly unstable
Il. Metal nitrates are highly soluble in water

A.lis false but Il is true

B. lis true but Il is false

C.land Il are true

D.l and Il are false

Answer: A

o View Text Solution



https://dl.doubtnut.com/l/_ttd0ZObYaFVH

10. Match items of Column-l with the items of Column Il and

assign the correct code :

Column-I Column-II
a) Cyanide process i) Ultrapure Ge
b) Froth floatation process  ii) Dressing of ZnS
c) Electrolytic reduction iii) Extraction of Al
d) Zone refining iv) Extraction of Au

v) Purification of Ni

1 2 3 4
i 4 98 v
1 2 3 4
B. .. . :
it v v 1
1 2 3 4
v it it @
1 2 3 4
D

o1t 1 v

Answer: C

° Watch Video Solution



https://dl.doubtnut.com/l/_f77IXoFNFx8N

1. AlFj is soluble in HF only in presence of KF . It is due to the
formation of

A. K3[AlF3H;|

B. K3[AlF§]

C. AlH;

D. K[AlF;H]

Answer: B

° Watch Video Solution

12. When copper is heated with cone. HNQOj It produces :

A. C’U,(N03)2, NO and NO2

B. CU(N03)2 and NQO


https://dl.doubtnut.com/l/_nli8Ih9wMPbb
https://dl.doubtnut.com/l/_LIkcszT9HIw7

C. C’U,(NO3)2 and NOQ

D. Cu(NOs), and NO

Answer: C

° Watch Video Solution

13. Extraction of gold and silver involved leaching with CN ~

ions. Silver is later recovered by

A. Displacement with Zn

B. Liquiation

C. Distillation

D. Zone refining

Answer: A



https://dl.doubtnut.com/l/_LIkcszT9HIw7
https://dl.doubtnut.com/l/_knRgrCCpTYOR

| o Watch Video Solution

14. Considering Ellingharn diagram, which of the following
metals can be used to reduce alumina ?

A Mg

B.Zn

C.Fe

D. Cu

Answer: A

° Watch Video Solution

Objective Exercise 4 Assertion A Reason R Type Questions



https://dl.doubtnut.com/l/_knRgrCCpTYOR
https://dl.doubtnut.com/l/_ZhqVvuIoZVGA
https://dl.doubtnut.com/l/_YdMDBIzMyfCG

1. (A) Reduction of a metal oxide is easier if the metal formed is

in liquid state at the temperature of reduction .

(R) AG° for the net reaction, reduction of metal oxide with the

reductant, is more-ve when the metal formed is in molten state

A.Both (A) and (R) are true and (R) is the correct explanation

of (A)

B.Both (A) and (R) are true and (R) is not the correct

explanation of (A)

C. (A) is true but (R) is false

D. Both (A) and (R) are false

Answer: A

o Watch Video Solution



https://dl.doubtnut.com/l/_YdMDBIzMyfCG

2. (A): Efficiency of the reverberatary furnace is less

(R): The waste gases formed in the fumace reactions leave the

furnace through chimney.

A. Both (A) and (R) are true and (R) is the correct explanation

of (A)

B.Both (A) and (R) are true and (R) is not the correct

explanation of (A)

C. (A) is true but (R) is false

D. Both (A) and (R) are false

Answer: A

° Watch Video Solution



https://dl.doubtnut.com/l/_yfcRUHoy2pNg

3. (A): In the smelting of copper pyrites in blast furnace, CuyS

formed but not FeS.

(R) : Cu has greater affinity to 'S' than to 'O’ where as Fe has

greater affinity to 'O’ than to 'S".

A. Both (A) and (R) are true and (R) is the correct explanation

of (A)

B.Both (A) and (R) are true and (R) is not the correct

explanation of (A)

C. (A) is true but (R) is false

D. Both (A) and (R) are false

Answer: A

° Watch Video Solution



https://dl.doubtnut.com/l/_2aVZdJsJ5RUc
https://dl.doubtnut.com/l/_5VJtImeX5To4

4. (A): lron pyrate is used in the extraction of iron releases

pollutants like sulphurdioxide

(R) : Ores which are abundent with non metals produce

poluting gases

A.Both (A) and (R) are true and (R) is the correct explanation

of (A)

B.Both (A) and (R) are true and (R) is not the correct

explanation of (A)

C. (A) is true but (R) is false

D. Both (A) and (R) are false

Answer: B

° Watch Video Solution



https://dl.doubtnut.com/l/_5VJtImeX5To4
https://dl.doubtnut.com/l/_RnqFonU7DgWR

5. (A) Cassiterite mineral is concentrated by electromagnetic

method

(R) Tinstone is non-magnetic and impurity wolframite is

magnetic

A.Both (A) and (R) are true and (R) is the correct explanation

of (A)

B.Both (A) and (R) are true and (R) is not the correct

explanation of (A)

C. (A) is true but (R) is false

D. Both (A) and (R) are false

Answer: A

o View Text Solution



https://dl.doubtnut.com/l/_RnqFonU7DgWR

6. (A) Leaching is chemical method used to ore benefication

process

(R) Leaching is usually performed in metallurgy with the help of

a non-aqueous solvent

A. Both (A) and (R) are true and (R) is the correct explanation

of (A)

B.Both (A) and (R) are true and (R) is not the correct

explanation of (A)

C. (A) is true but (R) is false

D. Both (A) and (R) are false

Answer: C

° View Text Solution



https://dl.doubtnut.com/l/_2Q2YDVfMGbkI
https://dl.doubtnut.com/l/_YwL6VsH4yQy4

7. (A): In aluminothermic process, Al reduction increases the

heat of the reaction

(R): During reduction in thermit process, Al5Os is formed which

is an exothermic product.

A.Both (A) and (R) are true and (R) is the correct explanation

of (A)

B.Both (A) and (R) are true and (R) is not the correct

explanation of (A)

C. (A) is true but (R) is false

D. Both (A) and (R) are false

Answer: A

° Watch Video Solution



https://dl.doubtnut.com/l/_YwL6VsH4yQy4
https://dl.doubtnut.com/l/_Wx9u9yAuv86c

8. (A) : Sulphide ores are concentrated by froth floatation

process.

(R) : Pine oil acts as a frothing agent in froth floatation process.

A.Both (A) and (R) are true and (R) is the correct explanation

of (A)

B.Both (A) and (R) are true and (R) is not the correct

explanation of (A)

C.(A) is true but (R) is false

D. Both (A) and (R) are false

Answer: B

o Watch Video Solution



https://dl.doubtnut.com/l/_Wx9u9yAuv86c

9. (A): Platinum and gold occur in native state in nature.

(R): Platinum and gold are noble metals

A. Both (A) and (R) are true and (R) is the correct explanation

of (A)

B.Both (A) and (R) are true and (R) is not the correct

explanation of (A)

C. (A) is true but (R) is false

D. Both (A) and (R) are false

Answer: A

° Watch Video Solution



https://dl.doubtnut.com/l/_d5ydP9HM3vfz

10. (A) Levigation is used for the separation of oxide ores from

impurities

(R) Ore particles are removed by washing in a current of water.

A. Both (A) and (R) are true and (R) is the correct explanation

of (A)

B.Both (A) and (R) are true and (R) is not the correct

explanation of (A)

C. (A) is true but (R) is false

D. Both (A) and (R) are false

Answer: C

° View Text Solution



https://dl.doubtnut.com/l/_dzGThgv1Qn2L

11. (A) Calamine is a mineral of calcium

(R) Calamine is chemically a sulphate mineral

A. Both (A) and (R) are true and (R) is the correct explanation

of (A)

B.Both (A) and (R) are true and (R) is not the correct

explanation of (A)

C. (A) is true but (R) is false

D. Both (A) and (R) are false

Answer: D

o View Text Solution

12. Carnallite is an example of


https://dl.doubtnut.com/l/_OyD5jmbRIB65
https://dl.doubtnut.com/l/_K1yhT8u0qTm3

A. Both (A) and (R) are true and (R) is the correct explanation

of (A)

B.Both (A) and (R) are true and (R) is not the correct

explanation of (A)

C. (A) is true but (R) is false

D. Both (A) and (R) are false

Answer: D

o Watch Video Solution

13. (A) Froath floatation process involves adsorption
(R) Pure ore is preferentially wetted by froath

benefication method.

in the


https://dl.doubtnut.com/l/_K1yhT8u0qTm3
https://dl.doubtnut.com/l/_AUncDAWaf2OX

A. Both (A) and (R) are true and (R) is the correct explanation

of (A)

B.Both (A) and (R) are true and (R) is not the correct

explanation of (A)

C. (A) is true but (R) is false

D. Both (A) and (R) are false

Answer: A

o View Text Solution

14. (A) Wolframite impurities are separated from cassiterite by
electromagnetic separation
(R) Cassiterite being magnetic is attracted by the magnet and

forms a separate heap.


https://dl.doubtnut.com/l/_AUncDAWaf2OX
https://dl.doubtnut.com/l/_4yxi5SFIWqyQ

A. Both (A) and (R) are true and (R) is the correct explanation

of (A)

B.Both (A) and (R) are true and (R) is not the correct

explanation of (A)

C. (A) is true but (R) is false

D. Both (A) and (R) are false

Answer: C

° View Text Solution

15. (A) In smelting, roasted ore is heated with powdered coke in
presence of a flux.
(R) Oxides are reduced to metals by carbon or carbonmonoxide.

Impurities are removed as slag.


https://dl.doubtnut.com/l/_4yxi5SFIWqyQ
https://dl.doubtnut.com/l/_oDsqtNR0c1nw

A. Both (A) and (R) are true and (R) is the correct explanation

of (A)

B.Both (A) and (R) are true and (R) is not the correct

explanation of (A)

C. (A) is true but (R) is false

D. Both (A) and (R) are false

Answer: A

° View Text Solution

16. (A) Leaching is the process of converting the ore into oxide
and then reducing it .

(R) Leaching is done in a blast furnace.


https://dl.doubtnut.com/l/_oDsqtNR0c1nw
https://dl.doubtnut.com/l/_Y8kOn70iKiKR

A. Both (A) and (R) are true and (R) is the correct explanation

of (A)

B.Both (A) and (R) are true and (R) is not the correct

explanation of (A)

C. (A) is true but (R) is false

D. Both (A) and (R) are false

Answer: D

° Watch Video Solution

17. (A) Aluminium metal is used as a reducing agent in thermite
welding

(R) Al has a lower melting point than Fe, Cr and Mn.


https://dl.doubtnut.com/l/_Y8kOn70iKiKR
https://dl.doubtnut.com/l/_OJnQJEjSDnwZ

A.Both (A) and (R) are true and (R) is the correct explanation

of (A)

B.Both (A) and (R) are true and (R) is not the correct

explanation of (A)

C.(A) is true but (R) is false

D. Both (A) and (R) are false

Answer: B

° Watch Video Solution

18. (A) Lead, tin and bismuth are purified by liquation method .
(R) Lead, tin and bismuth have low melting points as compared

to impurities


https://dl.doubtnut.com/l/_OJnQJEjSDnwZ
https://dl.doubtnut.com/l/_veUue8De2lDV

A. Both (A) and (R) are true and (R) is the correct explanation

of (A)

B.Both (A) and (R) are true and (R) is not the correct

explanation of (A)

C. (A) is true but (R) is false

D. Both (A) and (R) are false

Answer: A

° View Text Solution

19. (A) Pin oil is fused as a foaming agent in froth floatation
process

(R) Adsorption principle is involved in froth floatation process


https://dl.doubtnut.com/l/_veUue8De2lDV
https://dl.doubtnut.com/l/_pWTsLoNbRgnm

A. Both (A) and (R) are true and (R) is the correct explanation

of (A)

B.Both (A) and (R) are true and (R) is not the correct

explanation of (A)

C. (A) is true but (R) is false

D. Both (A) and (R) are false

Answer: A

° View Text Solution

20. (A) Aluminium metal can be extracted by the electrolysis of
aqueous aluminium fluoride
(R) The reduction potential of standard aluminium electrode is

positive


https://dl.doubtnut.com/l/_pWTsLoNbRgnm
https://dl.doubtnut.com/l/_9iPbBfWjWOUy

A. Both (A) and (R) are true and (R) is the correct explanation

of (A)

B.Both (A) and (R) are true and (R) is not the correct

explanation of (A)

C. (A) is true but (R) is false

D. Both (A) and (R) are false

Answer: D

o View Text Solution

21. (A) Magnesium can not be extracted by electrolysis of
aqueous salt solution

(R) Magnesium reacts with water


https://dl.doubtnut.com/l/_9iPbBfWjWOUy
https://dl.doubtnut.com/l/_QggHFpUR5x9i

A. Both (A) and (R) are true and (R) is the correct explanation

of (A)

B.Both (A) and (R) are true and (R) is not the correct

explanation of (A)

C. (A) is true but (R) is false

D. Both (A) and (R) are false

Answer: B

° View Text Solution

22. (A) Iron metal is refined in blast furnace

(R) Blast furnace is used to perform roasting


https://dl.doubtnut.com/l/_QggHFpUR5x9i
https://dl.doubtnut.com/l/_lS02nh4XKsAp

A. Both (A) and (R) are true and (R) is the correct explanation

of (A)

B.Both (A) and (R) are true and (R) is not the correct

explanation of (A)

C. (A) is true but (R) is false

D. Both (A) and (R) are false

Answer: D

° View Text Solution

23. (A) Van Arkel method is a vapour phase refining process

(R) Vapours of nickel are condensed in van Arkel method


https://dl.doubtnut.com/l/_lS02nh4XKsAp
https://dl.doubtnut.com/l/_65XV6MfIKiBD

A. Both (A) and (R) are true and (R) is the correct explanation

of (A)

B.Both (A) and (R) are true and (R) is not the correct

explanation of (A)

C. (A) is true but (R) is false

D. Both (A) and (R) are false

Answer: C

° View Text Solution

24. (A) For iron extraction usually Fe; O3 is used but not FeS,

(R) F'e503 does not produce polluting gas like SO, but FeS,


https://dl.doubtnut.com/l/_65XV6MfIKiBD
https://dl.doubtnut.com/l/_M2AfrLiiq5C9

A. Both (A) and (R) are true and (R) is the correct explanation

of (A)

B.Both (A) and (R) are true and (R) is not the correct

explanation of (A)

C. (A) is true but (R) is false

D. Both (A) and (R) are false

Answer: A

° View Text Solution

25. (A) In the case of an ore contaning ZnS and PbS, the one
depresant like NaCN is used

(R) NaCN prevents ZnS from coming to the froth


https://dl.doubtnut.com/l/_M2AfrLiiq5C9
https://dl.doubtnut.com/l/_f0xqQh2Jc1CY

A. Both (A) and (R) are true and (R) is the correct explanation

of (A)

B.Both (A) and (R) are true and (R) is not the correct

explanation of (A)

C. (A) is true but (R) is false

D. Both (A) and (R) are false

Answer: A

° View Text Solution

26. (A) In Froth floatation proess collectors like pine oil is added
(R) Froth Floatation is in use for removing gangue from

sulphide ores


https://dl.doubtnut.com/l/_f0xqQh2Jc1CY
https://dl.doubtnut.com/l/_RyWlEZh4Xiiu

A.Both (A) and (R) are true and (R) is the correct explanation

of (A)

B.Both (A) and (R) are true and (R) is not the correct

explanation of (A)

C.(A) is true but (R) is false

D. Both (A) and (R) are false

Answer: B

° View Text Solution

27.(A) During leaching of Al from bauxite seeding agent freshly
prepared hydrated Al,O5 is added

(R) Seeding agent induces precipitation of Al,O3, x H,O


https://dl.doubtnut.com/l/_RyWlEZh4Xiiu
https://dl.doubtnut.com/l/_EF851drmcXTB

A. Both (A) and (R) are true and (R) is the correct explanation

of (A)

B.Both (A) and (R) are true and (R) is not the correct

explanation of (A)

C. (A) is true but (R) is false

D. Both (A) and (R) are false

Answer: A

o View Text Solution

28. (A) The thermodynamical reaction proceeds forward if AG is
negative in the equation AG = AH — TAS
(R) If AS and AH are positive and with increasing

temperature, TAS increases


https://dl.doubtnut.com/l/_EF851drmcXTB
https://dl.doubtnut.com/l/_8pwp1Z1ldG23

A.Both (A) and (R) are true and (R) is the correct explanation

of (A)

B.Both (A) and (R) are true and (R) is not the correct

explanation of (A)

C.(A) is true but (R) is false

D. Both (A) and (R) are false

Answer: A

o Watch Video Solution

29. (A) Mg metal is not used for reduction of Al,O;
thermodynamically

(R) The process will be uneconomical


https://dl.doubtnut.com/l/_8pwp1Z1ldG23
https://dl.doubtnut.com/l/_Jhz8g2cy6UpL

A. Both (A) and (R) are true and (R) is the correct explanation

of (A)

B.Both (A) and (R) are true and (R) is not the correct

explanation of (A)

C. (A) is true but (R) is false

D. Both (A) and (R) are false

Answer: A

° Watch Video Solution

30. (A) The reduction of metal oxide is easier if the metal is in
liquid state at temp of reduction

(R) AS'is -ve and AG is + ve


https://dl.doubtnut.com/l/_Jhz8g2cy6UpL
https://dl.doubtnut.com/l/_OuToNC5hmHsn

A. Both (A) and (R) are true and (R) is the correct explanation

of (A)

B.Both (A) and (R) are true and (R) is not the correct

explanation of (A)

C. (A) is true but (R) is false

D. Both (A) and (R) are false

Answer: C

° Watch Video Solution

31.(A) At all conditions Mg can reduce Al,O5

(R) Below 135° C Mg can reduce Al,O3


https://dl.doubtnut.com/l/_OuToNC5hmHsn
https://dl.doubtnut.com/l/_60IeueZK41e7

A. Both (A) and (R) are true and (R) is the correct explanation

of (A)

B.Both (A) and (R) are true and (R) is not the correct

explanation of (A)

C. (A) is true but (R) is false

D. Both (A) and (R) are false

Answer: D

° View Text Solution

32.(A) In metallurgy of Al , the electrolyte is bauxite mixed with
cryolite
(R) Addition of NasAlFg or CaF, lower M.P and increases

conductivity


https://dl.doubtnut.com/l/_60IeueZK41e7
https://dl.doubtnut.com/l/_dZ1OrOM8JaT5

A. Both (A) and (R) are true and (R) is the correct explanation

of (A)

B.Both (A) and (R) are true and (R) is not the correct

explanation of (A)

C. (A) is true but (R) is false

D. Both (A) and (R) are false

Answer: A

° Watch Video Solution

33. (A) The reduction of leached copper ore will be advisable
with Iron scrap than zinc scrap

(R) Zinc is more costlier than Iron


https://dl.doubtnut.com/l/_dZ1OrOM8JaT5
https://dl.doubtnut.com/l/_5zV825OiK68K

A. Both (A) and (R) are true and (R) is the correct explanation

of (A)

B.Both (A) and (R) are true and (R) is not the correct

explanation of (A)

C. (A) is true but (R) is false

D. Both (A) and (R) are false

Answer: A

° View Text Solution

34. (A) H, is good reducing agent but not widely used in
metallurgical process
(R) Metal hydrides can be formed and mixture of Hy and O,

may explode


https://dl.doubtnut.com/l/_5zV825OiK68K
https://dl.doubtnut.com/l/_85RCt6zY7Uq8

A. Both (A) and (R) are true and (R) is the correct explanation

of (A)

B.Both (A) and (R) are true and (R) is not the correct

explanation of (A)

C. (A) is true but (R) is false

D. Both (A) and (R) are false

Answer: A

o View Text Solution

35. (A) In metallurgy of Ag, Zn replaces Ag from comples
Na[Ag(CN),]

(R) Zn is more electropositive than Ag.


https://dl.doubtnut.com/l/_85RCt6zY7Uq8
https://dl.doubtnut.com/l/_3HGZD9wFBTFH

A. Both (A) and (R) are true and (R) is the correct explanation

of (A)

B.Both (A) and (R) are true and (R) is not the correct

explanation of (A)

C. (A) is true but (R) is false

D. Both (A) and (R) are false

Answer: A

° View Text Solution

36. (A) The reduction of C'ro03 with Al posses AG° = - ve but
does not take place at room 'T'
(R) Certain amount of E, is required and hence heating is

required .


https://dl.doubtnut.com/l/_3HGZD9wFBTFH
https://dl.doubtnut.com/l/_bTABfjQ0QPam

A. Both (A) and (R) are true and (R) is the correct explanation

of (A)

B.Both (A) and (R) are true and (R) is not the correct

explanation of (A)

C. (A) is true but (R) is false

D. Both (A) and (R) are false

Answer: A

° View Text Solution

37.(A) In extraction of Al, Al,Oj3 is concentrated by leaching

(R) Leaching removes impurities like Si0, Fea05


https://dl.doubtnut.com/l/_bTABfjQ0QPam
https://dl.doubtnut.com/l/_PpXl8cpv7vK8

A. Both (A) and (R) are true and (R) is the correct explanation

of (A)

B.Both (A) and (R) are true and (R) is not the correct

explanation of (A)

C. (A) is true but (R) is false

D. Both (A) and (R) are false

Answer: A

o View Text Solution

38. (A) Ores like haematite, Iron pyrites can be concentrated by
magnetic seperation method
(R) Magnetic seperation is used for ores in which the impurity

or ore is magnetic


https://dl.doubtnut.com/l/_PpXl8cpv7vK8
https://dl.doubtnut.com/l/_AzOoGUdU95ph

A. Both (A) and (R) are true and (R) is the correct explanation

of (A)

B.Both (A) and (R) are true and (R) is not the correct

explanation of (A)

C. (A) is true but (R) is false

D. Both (A) and (R) are false

Answer: A

° View Text Solution

39. (A) Alumina is leached from bauxite using caustic soda
(R) Leaching is used when ore alone, but not gangue is soluble

in a suitable solvent.


https://dl.doubtnut.com/l/_AzOoGUdU95ph
https://dl.doubtnut.com/l/_mzsmkroQPyRH

A.Both (A) and (R) are true and (R) is the correct explanation

of (A)

B.Both (A) and (R) are true and (R) is not the correct

explanation of (A)

C. (A) is true but (R) is false

D. Both (A) and (R) are false

Answer: C

o View Text Solution

1. In moist air copper corrodes to produce a green layer on the

surface. What is that layer ?



https://dl.doubtnut.com/l/_mzsmkroQPyRH
https://dl.doubtnut.com/l/_FUza6sgXeV4t

| ° Watch Video Solution

2. Metal sulphides occur mainly in rocks, but metal halides occur

in lakes and sea. Why?

° View Text Solution

3. Why is the reduction of a metal oxide if the metal formed is in

liquid state at the temperature of reduction?

o Watch Video Solution

4.The value of AfGG for formation of Cry05 is — 540 kj mol ~*
and that of Al,Oj is - 827 kj mol ~! . Is the reduction of Cry0;

possible with Al ?

| e |


https://dl.doubtnut.com/l/_FUza6sgXeV4t
https://dl.doubtnut.com/l/_fM0CIthZPLCu
https://dl.doubtnut.com/l/_1V3YpCqA66zK
https://dl.doubtnut.com/l/_sxFP7fOMjwPt

| &J Watch Video Solution

5. Reduction of metal sulphides directly with carbon is not

possible. Why?

o View Text Solution

6. Although thermodynamically feasible, in practice , magnesium
metal is not used for the reduction of alumina in the metallurgy

of aluminium Why?

° Watch Video Solution

7. Aluminium containing alumina as impurity can be refined by

poling or not. Why?

.Y


https://dl.doubtnut.com/l/_sxFP7fOMjwPt
https://dl.doubtnut.com/l/_KN6St6CLsTgJ
https://dl.doubtnut.com/l/_95m6sRPA0Zh1
https://dl.doubtnut.com/l/_tcB70bGBJ63U

| ¥ View |ext Solution J

8. The choice of a reducing agent in a particular case depends
on thermodynamic factor. How far do you agree with this

statement? Support your opinion with two examples.

o Watch Video Solution

9. Hydrogen is a common reductant of organic chemicals, but it

is not widely used in metallurgy. Substantiate.

° View Text Solution

10. Although thermodynamically feasible , in practice ,
magnesium metal is not used for the reduction of alumina in

the metallurgy of aluminium . Why


https://dl.doubtnut.com/l/_tcB70bGBJ63U
https://dl.doubtnut.com/l/_2cULj00N2y8Q
https://dl.doubtnut.com/l/_WX1Bk4AViTZT
https://dl.doubtnut.com/l/_ogdIHA4JDowK

o Watch Video Solution

11. Reduction of metal oxides by thermit process becomes faster

just after ignition . Why ?

o Watch Video Solution

12. Out of coke and carbonmonoxide, which is a better reducing

agent for iron oxide?

o View Text Solution

13. Both coke and lime stone are used in smelting of iron ore.

Why?

o Watch Video Solution



https://dl.doubtnut.com/l/_ogdIHA4JDowK
https://dl.doubtnut.com/l/_gyxxZKSBzkNX
https://dl.doubtnut.com/l/_URmn8iAYlrzQ
https://dl.doubtnut.com/l/_ovnbmqLWYUCP

14. To precipitate silver from sodium argento-cyanide,

aluminium can be used . Comment.

° Watch Video Solution

15. For precipitation of silver from the complex [Ag(CN)z} o,

zinc is used but not copper. Why?

° Watch Video Solution

16. At a site, low grade copper ores are avilable and Zinc and
iron scraps are also avilable . Which of the two scraps would be

more suitable for reducing the leached copper ore and why?

o Watch Video Solution



https://dl.doubtnut.com/l/_ovnbmqLWYUCP
https://dl.doubtnut.com/l/_caeX47knAILA
https://dl.doubtnut.com/l/_rLC682aH3gGF
https://dl.doubtnut.com/l/_Q5yMnxbgoqci

17. Electrolysis of aqueous alkali metal chloride does not

liberate metal. Why?

° View Text Solution

18. How is a mixture of oxides of Aland Fe separated ?

o View Text Solution

19. Graphite rods are frequently replaced in HallHeroult's

process of extracting aluminium metal. Why?

o View Text Solution



https://dl.doubtnut.com/l/_Q5yMnxbgoqci
https://dl.doubtnut.com/l/_AKBnjUblIBcW
https://dl.doubtnut.com/l/_hg9BXUmAD8ba
https://dl.doubtnut.com/l/_XYCiqHZ7OQOf

20. In moist air copper corrodes to produce a green layer on the

surface. What is that layer ?

° Watch Video Solution

21. Metal sulphides occur mainly in rocks, but metal halides

occur in lakes and sea. Why ?

° Watch Video Solution

22. Why is the reduction of a metal oxide if the metal formed is

in liquid state at the temperature of reduction?

° Watch Video Solution



https://dl.doubtnut.com/l/_8qorc1yJPHTJ
https://dl.doubtnut.com/l/_WMWP1et3NXff
https://dl.doubtnut.com/l/_xwOnpKZ7iO3p

23. The value of AfG@ for formation of Cry03 is - 540 kJ

mol ~land that of Al,Oj3 is - 827 k) mol " . Is the reduction of

Cry03 possible with Al ?

° Watch Video Solution

24. Reduction of metal sulphides directly with carbon is not

possible. Why?

° Watch Video Solution

25. Eventhough reduction of magnesia with aluminium is
thermodynamically feasible, in practice aluminium is not used in

the metallurgy of Mg. Why?

o View Text Solution



https://dl.doubtnut.com/l/_haKsvTE254i6
https://dl.doubtnut.com/l/_rzOgdqI57Zvm
https://dl.doubtnut.com/l/_YzBEklFXBdH8

26. Aluminium containing alumina as impurity can be refined by

poling or not. Why?

° Watch Video Solution

27. The choice of a reducing agent in the extraction of a

particular case depends on thermodynamic factor. Explain.

o Watch Video Solution

28. Hydrogen is a common reductant of organic chemicals, but

it is not widely used in metallurgy. Substantiate.

° Watch Video Solution



https://dl.doubtnut.com/l/_YzBEklFXBdH8
https://dl.doubtnut.com/l/_VVbAHfeZ2oW5
https://dl.doubtnut.com/l/_B7GnV76JOf18
https://dl.doubtnut.com/l/_iIKe5bCc56NO
https://dl.doubtnut.com/l/_C1hMX1H5K9X6

29. Although thermodynamically feasible, in practice alumina is

not reduced using magnesium. Why?

o View Text Solution

30. Reduction of metal oxides by thermit process becomes

faster just after ignition . Why ?

o Watch Video Solution

31. Out of coke and carbonmonoxide, which is a better reducing

agent for iron oxide?

° View Text Solution



https://dl.doubtnut.com/l/_C1hMX1H5K9X6
https://dl.doubtnut.com/l/_JrRsmlv8YkeL
https://dl.doubtnut.com/l/_Xl6VE7kjTNCs

32. Both coke and lime stone are used in smelting of iron ore.

Why?

° Watch Video Solution

33. To precipitate silver from sodium argento-cyanide,

aluminium can be used . Comment.

° Watch Video Solution

34. For precipitation of silver from the complex [Ag(CN),]|

zinc is used but not copper. Why?

o Watch Video Solution



https://dl.doubtnut.com/l/_P4jbjInxSKm3
https://dl.doubtnut.com/l/_vtSZOWpI1sPb
https://dl.doubtnut.com/l/_JKJAJhYBmUMZ

35. At a site, low grade copper ores are avilable and Zinc and
iron scraps are also avilable . Which of the two scraps would be

more suitable for reducing the leached copper ore and why?

° Watch Video Solution

36. Electrolysis of aqueous alkali metal chloride does not

liberate metal . Why ?

° Watch Video Solution

37.How is a mixture of oxides of Aland Fe separated ?

° Watch Video Solution



https://dl.doubtnut.com/l/_PhOqIaFjnyHJ
https://dl.doubtnut.com/l/_Xj2QZ2yrv1mB
https://dl.doubtnut.com/l/_DzP0dB8GSYwg

38. Graphite rods are frequently replaced in Hall-Heroult's

process of extracting aluminium metal. Why ?

o Watch Video Solution

Subjective Exercise 2 Short Answer Questions

1. Mention any four reducing agents used to reduce oxide and

halide ores. Give one equation for each.

o Watch Video Solution

2. Write short note on froth floatation process.

° Watch Video Solution



https://dl.doubtnut.com/l/_f9h7hug2RZLf
https://dl.doubtnut.com/l/_K5V975dP3hB8
https://dl.doubtnut.com/l/_08RDdjQ9naEK
https://dl.doubtnut.com/l/_vzOQv67qQOa1

3. Write short notes on : roasting, calcination and smelting.

° Watch Video Solution

4, Define flux and slag. Give examples.

° Watch Video Solution

5. Mention any four reducing agents used to reduce oxide and

halide ores. Give one equation for each.

° Watch Video Solution

6. Write the functions of pine oil and sodium ethyl xanthate in

metallurgy ?


https://dl.doubtnut.com/l/_vzOQv67qQOa1
https://dl.doubtnut.com/l/_WAUVvDFPVFUX
https://dl.doubtnut.com/l/_5y50nHdNMXmD
https://dl.doubtnut.com/l/_2TB9oVB4cxBb

o Watch Video Solution

7. Write an equation for each of the types of roasting.

o Watch Video Solution

8. How is Ellingham diagram useful in the selection of reductant

?

o Watch Video Solution

Subjective Exercise 2 Very Short Answer Questions

1. What is flux ? Give an example.

o Watch Video Solution



https://dl.doubtnut.com/l/_2TB9oVB4cxBb
https://dl.doubtnut.com/l/_XFk3qWq82lKJ
https://dl.doubtnut.com/l/_75ah72vNS9Cf
https://dl.doubtnut.com/l/_PeGLHxGLYObs

2. (A) Efficiency of the reverboratary furnace is less
(R) The waste gases formed in the furnace reactions leave the

furnace through chimney.

° Watch Video Solution

3. What are the changes that take place during roasting?

° Watch Video Solution

4. Which metal is purified by cupellation ?

° Watch Video Solution



https://dl.doubtnut.com/l/_PeGLHxGLYObs
https://dl.doubtnut.com/l/_nV2mFTuJ3utc
https://dl.doubtnut.com/l/_YzfgfnOyDItx
https://dl.doubtnut.com/l/_KkxaLRWF7SVN

5. How the green wood poles are effecting in the refining of

impure metal.

° Watch Video Solution

6. Give the anode, cathode and the electrolysis method of

refining a metal.

o Watch Video Solution

7.What is flux ? Give an example.

o Watch Video Solution



https://dl.doubtnut.com/l/_i6Deqh4juRxb
https://dl.doubtnut.com/l/_0O2HGkHNZyC9
https://dl.doubtnut.com/l/_JozCdHq71A2w

8. What is the suitable method for the concentration of native

gold ?

o Watch Video Solution

9. Give the principle used in gravity concentration method.

° Watch Video Solution

10. Ore bearing particles are wetted more by water. True or

false. Give an example.

o Watch Video Solution



https://dl.doubtnut.com/l/_8GYolyVoET6C
https://dl.doubtnut.com/l/_HvvN8NODVI3X
https://dl.doubtnut.com/l/_AJwZuxkkRzvK

1. Why haematite is concentrated by electromagnetic

separation method ?

° Watch Video Solution

12. Write any two furnaces that are generally used in

metallurgical process.

° Watch Video Solution

13. (A) Efficiency of the reverboratary furnace is less
(R) The waste gases formed in the furnace reactions leave the

furnace through chimney .

o Watch Video Solution



https://dl.doubtnut.com/l/_4eycM9JTtE9L
https://dl.doubtnut.com/l/_pglpEbPM9vHf
https://dl.doubtnut.com/l/_YXnfOlZx0LUA
https://dl.doubtnut.com/l/_suER85wHUlXT

14. What purpose is served by the cup and cone arrangement in

a blast furnace ?

° Watch Video Solution

15. Where do the reactions in a blast furnace take place?

o Watch Video Solution

16. How is nickel oxide reduced to the metal ?

o Watch Video Solution

17. What are the changes that take place in large intestine

during digestion of food?



https://dl.doubtnut.com/l/_suER85wHUlXT
https://dl.doubtnut.com/l/_b6swVFbSIxEM
https://dl.doubtnut.com/l/_ARzvteRx20xk
https://dl.doubtnut.com/l/_we7qL6ORRiY2

| o Watch Video Solution

18. What types of ores are subjected to calcination ?

o Watch Video Solution

19. The method of zone refining of metals is based on the

priniciple of

o Watch Video Solution

Subjective Exercise 3 Long Answer Questions

1. Describe a method for the manufacture of cast iron and

wrought iron.



https://dl.doubtnut.com/l/_we7qL6ORRiY2
https://dl.doubtnut.com/l/_ySGoLEFP6IPz
https://dl.doubtnut.com/l/_kUaFxb2cs5WR
https://dl.doubtnut.com/l/_PP3eK0aLtvzI

| ° Watch Video Solution

2. Describe a method for the manufacture of cast iron and

wrought iron.

o Watch Video Solution

3. Write a method for the manufacturing of pig iron from the

ore.

o Watch Video Solution

Subjective Exercise 3 Short Answer Questions


https://dl.doubtnut.com/l/_PP3eK0aLtvzI
https://dl.doubtnut.com/l/_P3WwHhCgRKZu
https://dl.doubtnut.com/l/_62FQEjWxRVkq

1. Which treatment is given to the iron ore before it is reduced

to the metal ? Explain.

° Watch Video Solution

2. How wrought iron is prepared from pig iron?

° Watch Video Solution

3. Give any one method to convert cast -iron into steel of high

quality.

o Watch Video Solution



https://dl.doubtnut.com/l/_VpvNNiKgAe8l
https://dl.doubtnut.com/l/_JwNQJkxE5Ski
https://dl.doubtnut.com/l/_xtrKFlRuHwwC

4. Which treatment is given to the iron ore before it is reduced

to the metal ? Explain.

o Watch Video Solution

5. How wrought iron is prepared from pig iron?

o Watch Video Solution

6. Give any one method to convert cast -iron into steel of high

quality.

o Watch Video Solution

Subjective Exercise 3 Very Short Answer Questions



https://dl.doubtnut.com/l/_P9Iaf2BgPzDS
https://dl.doubtnut.com/l/_FUQvaHVr54HK
https://dl.doubtnut.com/l/_CNWOKD3nId5i
https://dl.doubtnut.com/l/_uUjACedP6qRn

1. Write the names and formulae of any two ores of iron

o Watch Video Solution

2. What are the impurities present in the cast iron ?

° Watch Video Solution

3. Give the composition of charge in blast furnace in the

extraction of iron?

° Watch Video Solution

4. What is the percentage of carbon in cast iron and wrought

iron


https://dl.doubtnut.com/l/_uUjACedP6qRn
https://dl.doubtnut.com/l/_am9RdjSiO3WM
https://dl.doubtnut.com/l/_5lwsq4HkjjWT
https://dl.doubtnut.com/l/_sxgaUZOtURvb

o Watch Video Solution

5. Write the names and formulae of any two ores of iron

o Watch Video Solution

6. What are the impurities present in the cast iron ?

o Watch Video Solution

7. Give the composition of charge in blast furnace in the

extraction of iron?

o Watch Video Solution



https://dl.doubtnut.com/l/_sxgaUZOtURvb
https://dl.doubtnut.com/l/_OAoURcMcMx91
https://dl.doubtnut.com/l/_vHCoNpCC1rqy
https://dl.doubtnut.com/l/_brX1LeFK9Y7O

8. What is the percentage of carbon in cast iron and wrought

iron

o Watch Video Solution

Subjective Exercise 4 Short Answer Questions

1. Write the names and formulae of any tow minerals of Cu. How

is the Cu extracted ?

o Watch Video Solution

2. Mention the ores of zinc and give their formulae. How is zinc

dust obtained from zinc blende ?

° Watch Video Solution



https://dl.doubtnut.com/l/_Fl87NQgkfioe
https://dl.doubtnut.com/l/_uGuuWcdzECbH
https://dl.doubtnut.com/l/_VHEniql52hDi

3. What are the natural sources of silver? How is the metal

obtained from one of them?

o Watch Video Solution

4. Write the names and formulae of any tow minerals of Cu.

How is the Cu extracted ?

° Watch Video Solution

5. Mention the ores of zinc and give their formulae. How is zinc

dust obtained from zinc blende ?

o Watch Video Solution



https://dl.doubtnut.com/l/_VHEniql52hDi
https://dl.doubtnut.com/l/_5jDwbB0M14x7
https://dl.doubtnut.com/l/_Ku3ddQP0caMO
https://dl.doubtnut.com/l/_fhxFBFiANjJg
https://dl.doubtnut.com/l/_zNIkoNVjJOgD

6. What are the natural sources of silver? How is the metal

obtained from one of them?

o Watch Video Solution

Subjective Exercise 4 Very Short Answer Questions

1. Write any two minerals of Cu.

o Watch Video Solution

2. What is the primary product of Bessemerisation of Matte?

o Watch Video Solution



https://dl.doubtnut.com/l/_zNIkoNVjJOgD
https://dl.doubtnut.com/l/_9zeoddetxpIC
https://dl.doubtnut.com/l/_bwU636H56YId

3. Write the names of the minerals of zinc

o Watch Video Solution

4. Calamine is not directly reduced with carbon ? It is calcined

first and the reduced. Why ?

° Watch Video Solution

5. Write an equation for the reaction between silver glance and

NaCN solution.

o Watch Video Solution

6. How is red bauxite purified ?


https://dl.doubtnut.com/l/_kic0cVFNFns3
https://dl.doubtnut.com/l/_cN6AHGoO2vtD
https://dl.doubtnut.com/l/_7Vzshoyg0yR6
https://dl.doubtnut.com/l/_VVF8iWXDnvjZ

o Watch Video Solution

7. Mention oxide minerals of aluminium . Describe the Baeyer's

process.

o Watch Video Solution

8. Explain the electrolysis of fused bauxite dissolved in cryolite.

o Watch Video Solution

9. Why cryolite is added to during electrolysis of bauxite ?

o Watch Video Solution



https://dl.doubtnut.com/l/_VVF8iWXDnvjZ
https://dl.doubtnut.com/l/_s8PMHGUaWygy
https://dl.doubtnut.com/l/_izcXjMki4cAS
https://dl.doubtnut.com/l/_Cmn1seD4Y6GW

10. Write any two minerals of Cu.

o Watch Video Solution

11. What is the primary product of Bessemerisation of Matte?

o Watch Video Solution

12. Write the names of the minerals of zinc

° Watch Video Solution

13. Calamine is not directly reduced with carbon ? It is calcined

first and the reduced. Why ?

o Watch Video Solution



https://dl.doubtnut.com/l/_VCipyRrynLGZ
https://dl.doubtnut.com/l/_DnzCLA0peKjD
https://dl.doubtnut.com/l/_6sgo2Qy8yxVv
https://dl.doubtnut.com/l/_kBIpNhn4LK5s

14. Write an equation for the reaction between silver glance and

NaCN solution.

° Watch Video Solution

15. How is red bauxite purified ?

° Watch Video Solution

16. Mention oxide minerals of aluminium . Describe the Baeyer's

process.

o Watch Video Solution



https://dl.doubtnut.com/l/_kBIpNhn4LK5s
https://dl.doubtnut.com/l/_CsNIFGFWrBzH
https://dl.doubtnut.com/l/_a3n3NWkA6CGm
https://dl.doubtnut.com/l/_zfUEy6VviAFL

17. Explain the electrolysis of fused bauxite dissolved in cryolite.

o Watch Video Solution

18. Why cryolite is added to during electrolysis of bauxite ?

o Watch Video Solution

Objective Exercise 1

1. Which of the following is true

A. A mineral need not be an ore
B. An ore can't be a mineral

C. All ores are not minerals


https://dl.doubtnut.com/l/_0gaUBgjMFioR
https://dl.doubtnut.com/l/_P4OA3A1HRfyt
https://dl.doubtnut.com/l/_WjSOspHoGrnX

D. All minerals are ores

Answer: A

o Watch Video Solution

2. Which of the following is not found in native state ?

A. Pt

B. Cu

C.Au

D. Na

Answer: D

o Watch Video Solution



https://dl.doubtnut.com/l/_WjSOspHoGrnX
https://dl.doubtnut.com/l/_0pcS6hcaraqN
https://dl.doubtnut.com/l/_ozSd053URJwk

3. Cassiterite ore is used to extract

A. Fe

B. Sn

C.Au

D.Pb

Answer: B

° Watch Video Solution

4. The metal never found in free state is

A. Au

C.pPt


https://dl.doubtnut.com/l/_ozSd053URJwk
https://dl.doubtnut.com/l/_sUYRBk4UoTDS

D.Zn

Answer: D

° Watch Video Solution

5. Both calcination and roasting can be performed in

A. Reverberatory furnace

B. Blast furnace

C. Muffle furnace

D. Electric furnace

Answer: A

° View Text Solution



https://dl.doubtnut.com/l/_sUYRBk4UoTDS
https://dl.doubtnut.com/l/_FVw6uzMftfRI
https://dl.doubtnut.com/l/_pJ4eiCLIENbS

6. Copper pyrites ore is concentrated by

A. Electromagnetic method

B. Gravity separation method

C. Froth floatation method

D. All the above methods

Answer: C

o View Text Solution

7.Which one of the following is not a method of concentration

of ore

A. gravity separation

B. froth flotation process


https://dl.doubtnut.com/l/_pJ4eiCLIENbS
https://dl.doubtnut.com/l/_fUviIQ4IbaOt

C. electromagnetic separation

D. smelting

Answer: D

° View Text Solution

8. Most abundant element in the earth's crust by weight is

A. Oxygen

B. Silicon

C. Alluminuim

D. Iron

Answer: A

o View Text Solution



https://dl.doubtnut.com/l/_fUviIQ4IbaOt
https://dl.doubtnut.com/l/_B9DSDJDhY7Ph

9. The rocky and silicious matter associated with an ore is called

A.Slag

B. Mineral

C. Matrix or Gangue

D. Flux

Answer: C

° View Text Solution

10. The process of removing of lighter ganse particles by

washing in a current of water is called

A. Levigation (or) gravity separation


https://dl.doubtnut.com/l/_B9DSDJDhY7Ph
https://dl.doubtnut.com/l/_gOPFNS60m7GZ
https://dl.doubtnut.com/l/_zTrSQr9BrHGO

B. Liquiation

C. Leaching

D. Cupellation

Answer: A

o Watch Video Solution

11.In the froth flotation process for the purification of minerals

the particles float because

A. they are light

B. they are insoluble

C. their surface is preferentially wetted by oil

D. they bear an electrostatic charge


https://dl.doubtnut.com/l/_zTrSQr9BrHGO
https://dl.doubtnut.com/l/_LeD34m1acawp

Answer: C

° Watch Video Solution

12. Froth floatation process for the concentration of ores is an

illustration of the practical application of

A. Adsorption

B. Absorption

C. Coagulation

D. Sedimentation

Answer: A

o View Text Solution



https://dl.doubtnut.com/l/_LeD34m1acawp
https://dl.doubtnut.com/l/_Avb47RqRLkyI

13. Gravity separation process may be used for the

concentration of

A. Chalcopyrite

B. Bauxite

C. Haematite

D. Calamine

Answer: C

° Watch Video Solution

14. Wolframite (F'eWWo,) is separated from cassiterite by

A. Froth flotation method

B. levigation


https://dl.doubtnut.com/l/_FVSHZygCSzgo
https://dl.doubtnut.com/l/_hAhvK0rr0Yhf

C. electromagnetic method

D. electrostatic separation method

Answer: C

° View Text Solution

15. In the extraction of gold .alluival sand is conectrated by

which method

A. Gavity separation

B. Frouth floation

C. magnetic separation

D. Liquation

Answer: A



https://dl.doubtnut.com/l/_hAhvK0rr0Yhf
https://dl.doubtnut.com/l/_LX3kPvrXgtqq

| ° View Text Solution

16. Which one of the following is used as conditioner in froth

floation process

A. pine oil

B. soduium ethyl xanthate

C.Sodium carbanate

D. Olive oil

Answer: C

o View Text Solution

17. During extraction of a metal the ore is roasted if it is a


https://dl.doubtnut.com/l/_LX3kPvrXgtqq
https://dl.doubtnut.com/l/_drRGf48yJL30
https://dl.doubtnut.com/l/_8yyBHDYcUvjj

A. sulphate ore

B. sulphide ore

C. Carbonate ore

D. Oxide ore

Answer: A

° Watch Video Solution

18. A common metal that is used for the extraction of some

metals from their oxides is

A. Cr

B. Fe

C.Mn


https://dl.doubtnut.com/l/_8yyBHDYcUvjj
https://dl.doubtnut.com/l/_GPervLAvXQMw

D. Al

Answer: D

° Watch Video Solution

19. Extraction of metals from sulphide cres is done by

A. Electrolysis
B. smelting
C. Hydrometallurgy

D. Roasting

Answer: B

° Watch Video Solution



https://dl.doubtnut.com/l/_GPervLAvXQMw
https://dl.doubtnut.com/l/_sv6rZyEmhVBt
https://dl.doubtnut.com/l/_t9gTLRp8mMvR

20. To remove basic impurities from the ore the substance

generally used is

A. 510,

B. P205

C. P205( or )S’LOQ

D.CaCOs

Answer: C

° Watch Video Solution

21. During smelting an additional substance added to form a

fusible product. It is known as

A.Slag


https://dl.doubtnut.com/l/_t9gTLRp8mMvR
https://dl.doubtnut.com/l/_flsMN4151gmJ

B. Mud

C. Gangue

D. Flux

Answer: D

° Watch Video Solution

22. Calcination is the process of heating the ore :

A.in inert gas

B. in the presence of air

C.in the absence of air

D. in the presence of CaO and MgO

Answer: C


https://dl.doubtnut.com/l/_flsMN4151gmJ
https://dl.doubtnut.com/l/_g2v61WvtTJMh

° Watch Video Solution

23. To which of the following ores, calcination process in not
applicable

A. CGCO?,

B. Al,O3, H,O

C.CaCOs, Ca(OH),

D. ZnS

Answer: D

o Watch Video Solution

24.Roasting is carried out in case of


https://dl.doubtnut.com/l/_g2v61WvtTJMh
https://dl.doubtnut.com/l/_Rbs13C1BRmac
https://dl.doubtnut.com/l/_u78hjbGb1xeL

A. Galena

B. Iron pyrites

C. Copper glance

D. All

Answer: D

° Watch Video Solution

25.Smelting is usually carried out in

A. Blast furnace

B. Open hearth furnce

C. Muffle furnace

D. Electric furnace


https://dl.doubtnut.com/l/_u78hjbGb1xeL
https://dl.doubtnut.com/l/_UfjcZuSTEyuo

Answer: A

o Watch Video Solution

26.Slag is a product of

A. Flux and coke

B. Coke and metal oxide

C. Flux and impurities

D. Metal and flux

Answer: C

o Watch Video Solution

27.In oxidisin roasting of Zn, S porducts are


https://dl.doubtnut.com/l/_UfjcZuSTEyuo
https://dl.doubtnut.com/l/_kqnaZUrlY0BP
https://dl.doubtnut.com/l/_XrFZKwKiltI2

B. ZnO + ZnSO,4 + SO,

C. Z’I’LClg

D. Zn + 502

Answer: A

o Watch Video Solution

28. Ag,S or in mixed with NaCl and heated to 6000° in the

presence of air t5hen product formed are

A. Ag + SOg

B. AgCl + SO,

C. AgCl + NayS0O,


https://dl.doubtnut.com/l/_XrFZKwKiltI2
https://dl.doubtnut.com/l/_nZAeFShMwP4r

D. AgCl 4 NasS

Answer: C

° Watch Video Solution

29. For which one the following reaction AS is positive

A.2Zn(s) +O2(g) — 2Zﬁ0(s)
B.ZC(S) —0-02(9) — 200(9)
C.200(4) + Oy(g) — 2C0y(y)

D.4Al(5) +302(g) — 2A1203(s)

Answer: B

° Watch Video Solution



https://dl.doubtnut.com/l/_nZAeFShMwP4r
https://dl.doubtnut.com/l/_i2nyaweF5rzn
https://dl.doubtnut.com/l/_LlmG0JeEyipR

30. For which one of the followinng reaction AG decreases with
increasing the temperature

A 2Zn(s) + Oz(g) — 2Z N O(s)

B. 200(g) + 02(g) — 2002(g)

C.2C (5) + Oz(y) — 200 y)

D.4Cu(5) + 02(9) — 2Cu20(3)

Answer: C

° Watch Video Solution

31. For which one of the following reaction , the graph of AG

against T is almost horizontal to temperature axis

A.C(s) + Oz(g) — COQ(g)


https://dl.doubtnut.com/l/_LlmG0JeEyipR
https://dl.doubtnut.com/l/_eEwheBkudZsM

B.2C(s) +02(g) — 200(9)
C.CO(g) + Oz(g) = 2C0;(y)

D.3Mg ) +02(g) — 2MgO(S)

Answer: A

° Watch Video Solution

32.The least stable oxide at room temperature is

A.ZnO

B.CuO

C. 56,04

D. A920

Answer: D


https://dl.doubtnut.com/l/_eEwheBkudZsM
https://dl.doubtnut.com/l/_t9pE5qV2kXKf

° Watch Video Solution

— K 450 — 470k
33. Ni + 400 "% Ni(c0), % Ni + 400

this sequance of reaction s involed in
A. Van Arkel methal for refining of nickel
B. Mond's process for refining of nickel
C. Zone refining of nickel

D. Refining of nickel by disstilation

Answer: B

° View Text Solution

34.The process of zone refining is used for


https://dl.doubtnut.com/l/_t9pE5qV2kXKf
https://dl.doubtnut.com/l/_lKjpoNvV1mDo
https://dl.doubtnut.com/l/_ARxhuVOhoRn4

A. Sillicon

B. Germanium

C. Gallium

D. all the above

Answer: D

o Watch Video Solution

35. The process used in the refining of aluminimum and zinc

metals are repsectively

A. Hoope's process and fractional distillation

B. Hoope's process and cupellation

C. Poling and fractional distillation


https://dl.doubtnut.com/l/_ARxhuVOhoRn4
https://dl.doubtnut.com/l/_xlcmoXHDjLGG

D. Cupellation and fractional distillation

Answer: A

° Watch Video Solution

36. In the metallurgy of which of the following supellation

process is used ?

A. Copper

B. silver

C.lron

D. Aluminium

Answer: B

o Watch Video Solution



https://dl.doubtnut.com/l/_xlcmoXHDjLGG
https://dl.doubtnut.com/l/_A1XYQAqIruYx

37.In zone - Refining method the molten zone:

A. consists of impurities only

B. contiins more impurity than the original metal

C. contains the purified metal only

D. moves to either side

Answer: B

o Watch Video Solution

38.Tin and lead can be refined by

A. Cupellation

B. Liquation


https://dl.doubtnut.com/l/_A1XYQAqIruYx
https://dl.doubtnut.com/l/_I0LQZnR5OQow
https://dl.doubtnut.com/l/_sqHZ0tXGj8tX

C. Poling

D. Bessmerisations

Answer: B

° Watch Video Solution

39. Silver containing lead as an impurity is not purified by

A. Poling

B. Cupellation

C. Levigation

D. Distillation

Answer: B

o Watch Video Solution



https://dl.doubtnut.com/l/_sqHZ0tXGj8tX
https://dl.doubtnut.com/l/_uww95BXyfsDF

40. The main ore of iron is its

A. chloride

B. sulphate

C. Nitrate

D. Oxide

Answer: D

° Watch Video Solution

41. Mark the wrong statement among the following. The iron
ore after washing is roasted with a little coal in excess of air.

During roasting


https://dl.doubtnut.com/l/_uww95BXyfsDF
https://dl.doubtnut.com/l/_zhlGGI61UNm5
https://dl.doubtnut.com/l/_z2FrD8QSGuX9

A. moisture is removed

B.S and As are removed in the form of their volatile oxides

C. Any ferrous oxide is oxidised to ferricoxide

D. The mass becomes compact and thus makes it suitable for

ready reduction to metallic iron.

Answer: D

° Watch Video Solution

42. Most abundant ore of iron is

A. magnetite

B. haematite

C. limonite


https://dl.doubtnut.com/l/_z2FrD8QSGuX9
https://dl.doubtnut.com/l/_YrAQlZ3soM1C

D. pyrites

Answer: B

° Watch Video Solution

43. The reducing agent added in the extraction of Iron from

oxide ore of iron is

A. coke

B. Aluminium

C. carbon monoxide

D. zinc

Answer: A

o View Text Solution



https://dl.doubtnut.com/l/_YrAQlZ3soM1C
https://dl.doubtnut.com/l/_J4Sda9ooqvYB

44.The iron obtained from blast funace is

A. Pig iron

B. Silver

C. Soft iron

D. Steel

Answer: A

o Watch Video Solution

45, In the middle part of blast furnace, iron ore is treated with

lime stone to remove

AC


https://dl.doubtnut.com/l/_J4Sda9ooqvYB
https://dl.doubtnut.com/l/_kyBlIArvKSp4
https://dl.doubtnut.com/l/_Xl6BF9MXy8Xj

B.CaO

C. 570,

D. F€2O

Answer: C

° Watch Video Solution

46. In the manufacture of iron from haematite, the limestone

acts as

A. Areducing agent

B. Flux

C.Slag

D. Gangue


https://dl.doubtnut.com/l/_Xl6BF9MXy8Xj
https://dl.doubtnut.com/l/_Vs5PvkiGuUNY

Answer: B

° Watch Video Solution

47.1n the extraction of iron, the slag produced is

A.CO

B. F@S’LO?,

C. MgS’LOg

D. CaS’lOg

Answer: D

o Watch Video Solution



https://dl.doubtnut.com/l/_Vs5PvkiGuUNY
https://dl.doubtnut.com/l/_bKP1nofLYJbO

48. Which one of the following elements constitutes a major

impurity in pig iron?

A. Silicon

B. Oxygen

C. Sulphur

D. Carbon

Answer: D

° Watch Video Solution

49, In which of the following percentage of carbon is maximum

A. Pig iron

B. Cast iron


https://dl.doubtnut.com/l/_m2GMGDihgjQc
https://dl.doubtnut.com/l/_6Beo9fhflPOl

C. Wrought iron

D. Pig iron and wrough iron

Answer: A

° Watch Video Solution

50. Weight ratio of roasted ore, coke and lime stone fed into

the blast furnace in the manufacture of cast iron is

A 8:1:4

B.6:4:1

C.8:4:1

D.8:4:3

Answer: C



https://dl.doubtnut.com/l/_6Beo9fhflPOl
https://dl.doubtnut.com/l/_tI9FwkfbHzUh

| ° Watch Video Solution

51. Carbon is present in pig Iron as

A. FeC
B. FeC’g
C. F630

D. FelOC

Answer: C

° Watch Video Solution

52. Commercially important ore of copper is its

A. Oxide ore


https://dl.doubtnut.com/l/_tI9FwkfbHzUh
https://dl.doubtnut.com/l/_5uk5K8kc1T1V
https://dl.doubtnut.com/l/_P5QdRxRGHL73

B. sulphide ore

C.sulphate ore

D. silicate ore

Answer: B

° View Text Solution

53. Which is the chief ore of copper ?

A. Galena

B. Copper pyrites

C. Sphalerite

D. Siderite

Answer: B


https://dl.doubtnut.com/l/_P5QdRxRGHL73
https://dl.doubtnut.com/l/_cBgjz5ef6vX6

° Watch Video Solution

54. The matte obtained in the callurgy of copper has the

approximate Composition

A FeS + CuO

B. CuyS + FeO

C.CuyS + FeS

D.CuS + FeS,

Answer: C

o Watch Video Solution

55.The flux used in the smelting of copper pyrites is


https://dl.doubtnut.com/l/_cBgjz5ef6vX6
https://dl.doubtnut.com/l/_pEbdqhI2Dknh
https://dl.doubtnut.com/l/_P2WUKM0kAoY9

A. lime stone

B. silica

C. borax

D. P205

Answer: B

° Watch Video Solution

56. In the metallurgy of copper blister copper is obtained from

A. Blast furnace

B. Reverberatory furnace

C. Bessemer converter

D. Electrolytic tank


https://dl.doubtnut.com/l/_P2WUKM0kAoY9
https://dl.doubtnut.com/l/_PxqK50FN460j

Answer: C

o Watch Video Solution

57.Blister Cu is about :

A.60% Cu

B. 98% Cu

C.90% Cu

D. 100% Cu

Answer: C

o Watch Video Solution

58.Zinc is obtained on large scale by


https://dl.doubtnut.com/l/_PxqK50FN460j
https://dl.doubtnut.com/l/_BysycR44JncD
https://dl.doubtnut.com/l/_iQAp8l2LiICU

A. Electrolysis of ZnCl,

B. Reduction of ZnO

C. Precipitation with Ag

D. Any of these methods

Answer: B

° Watch Video Solution

59.in Belgian process for reduction of ZnO to Z reductant is

A Al

B. Coal or Coke

C. H,

D. Water gas


https://dl.doubtnut.com/l/_iQAp8l2LiICU
https://dl.doubtnut.com/l/_jht2tbShxWoj

Answer: B

° Watch Video Solution

60. The metal that occurs in the native state as well as in the

combined form is

A. Silver

B. Magnesium

C. Aluminum

D. Manganese

Answer: A

o Watch Video Solution



https://dl.doubtnut.com/l/_jht2tbShxWoj
https://dl.doubtnut.com/l/_TuUsmp8DtC7r

61. A common metal widely used in the displacement method to

obtain other metals is

A. Cu

B. Fe

C.7Zn

D. Ca

Answer: C

° Watch Video Solution

62. The metal extracted by leaching with a cyanide is

A Mg


https://dl.doubtnut.com/l/_ku7rrft2bOxu
https://dl.doubtnut.com/l/_KFXtPjzbIBy3

C.Cu

D. Na

Answer: B

° Watch Video Solution

63. The chemical reagent used for leaching of gold and silver

ores is

A. Sodium hydroxide

B. Potassium cyanide

C. Potassium cyanate

D. Sodium sulphate

Answer: B



https://dl.doubtnut.com/l/_KFXtPjzbIBy3
https://dl.doubtnut.com/l/_3hmAYqeQG6rF

| ° Watch Video Solution

64. Name the metal M, which is extracted based on the

following equation
4M + 8CN~ + 2H,0 + Oy — 4[M(CN),| +40H "~
2[M(CN),] ~ + Zn — [Zn(CN),]* + 2M

A.Cu

B. Au (or) Ag

C.Hg

D. Ni

Answer: B

° Watch Video Solution



https://dl.doubtnut.com/l/_3hmAYqeQG6rF
https://dl.doubtnut.com/l/_kVApbfdheBBp

65. Of the following metals that cannot be obtained by

electolysis of the aqueous solultion of their salts is /are

A Ag

B. Mg

C.Cu

D. Al and Mg

Answer: D

° Watch Video Solution

66. Which of the following process is used in the extractive

metallurgy of magnesium?

A. Fused salt electrolysis


https://dl.doubtnut.com/l/_3rvriKQrpDyR
https://dl.doubtnut.com/l/_RGnBiAjSOovu

B. Self reduction

C. Aqueous solution electrolysis

D. Thermite reduction

Answer: A

° View Text Solution

67. In the Bayer's process of purification of red hauxite the

leaching agent is

A. NaOH

B. Na20'03

C. NaCN

D. KCN


https://dl.doubtnut.com/l/_RGnBiAjSOovu
https://dl.doubtnut.com/l/_XwiuG5ARjDXD

Answer: A

o Watch Video Solution

68. Chemical leaching is useful in the concen-tration of

A. copper pyrites

B. bauxite

C.galena

D. cassiterite

Answer: B

o Watch Video Solution



https://dl.doubtnut.com/l/_XwiuG5ARjDXD
https://dl.doubtnut.com/l/_3ovcH2hqqzcK

69. The electrolytic reduction method for the preparation of

aluminium is called

A. Hoope's process

B. Baeyer's process

C. Hall and Heroult process

D. Serpeck process

Answer: C

° Watch Video Solution

70. In the electrolytic reduction of alumina, the anodic product

is

A Al


https://dl.doubtnut.com/l/_5IL5BTjDXGvT
https://dl.doubtnut.com/l/_GcB6uEVeSZ3G

B. Na

C. Oy

D. H,

Answer: C

° View Text Solution

71. Coinage alloy contains copper. The other metal present may

be

A. Fe

B. Ni

C.Zn

D. Pt


https://dl.doubtnut.com/l/_GcB6uEVeSZ3G
https://dl.doubtnut.com/l/_WuPQOmnmd8bT

Answer: B

o Watch Video Solution

72. Alloy used in making anchors, bolts, chains and wires

A. pig iron

B. cast iron

C.wrought iron

D. german silver

Answer: C

o Watch Video Solution



https://dl.doubtnut.com/l/_WuPQOmnmd8bT
https://dl.doubtnut.com/l/_Zlj8KpIvMJLF

73. (A) : Cassiterite mineral is concentrated by electromagnetic
method
(R): Tinstone is non-magnetic and impurity wolframite is
magnetic

A.Both A & R are true, R is the correct explanation of A

B. Both A & R are true, R is not correct explanation of A

C.Ais true, R is false

D. Ais false, R is true

Answer: A

° View Text Solution

74. (A): Efficiency of the reverberatary furnace is less

(R): The waste gases formed in the fumace reactions leave the


https://dl.doubtnut.com/l/_ty0IrHBptSyp
https://dl.doubtnut.com/l/_0fa4c45ij5Rc

furnace through chimney.

A.Both A & R are true, R is the correct explanation of A

B. Both A & R are true, R is not correct explanation of A

C.Ais true, R is false

D. Ais false, R is true

Answer: A

o Watch Video Solution

75. (A): In the smelting of copper pyrites in blast furnace, CuyS
formed but not FeS.
(R) : Cu has greater affinity to 'S' than to 'O’ where as Fe has

greater affinity to 'O’ than to 'S'".

A.Both A & R are true, R is the correct explanation of A


https://dl.doubtnut.com/l/_0fa4c45ij5Rc
https://dl.doubtnut.com/l/_C0fFE0KAcj0a

B. Both A & R are true, R is not correct explanation of A

C.Ais true, R is false

D. Ais false, R is true

Answer: A

o Watch Video Solution

76. (A): Iron pyrate is used in the extraction of iron releases

pollutants like sulphurdioxide

(R) : Ores which are abundent with non metals produce

poluting gases

A.Both A & R are true, R is the correct explanation of A

B. Both A & R are true, R is not correct explanation of A

C.Ais true, R is false


https://dl.doubtnut.com/l/_C0fFE0KAcj0a
https://dl.doubtnut.com/l/_tLUN4p88zIUX

D. Ais false, R is true

Answer: B

o View Text Solution

77. (A) Reduction of a metal oxide is easier if the metal formed is

in liquid state at the temperature of reduction .

(R) AG° for the net reaction, reduction of metal oxide with the

reductant, is more-ve when the metal formed is in molten state

A.Both A& R are true, R is the correct explanation of A

B.Both A & R are true, R is not correct explanation of A

C.Ais true, R is false

D. Ais false, R is true


https://dl.doubtnut.com/l/_tLUN4p88zIUX
https://dl.doubtnut.com/l/_UgDSwrS1tWKH

Answer: A

° Watch Video Solution

78. (A): Leaching is chemical method used to ore benefication
process
(R): Leaching is usually performed in metallurgy with the help of
a non aqueous solvent

A.Both A& R are true, R is the correct explanation of A

B. Both A & R are true, R is not correct explanation of A

C.Ais true, R is false

D. Ais false, R is true

Answer: C

o View Text Solution



https://dl.doubtnut.com/l/_UgDSwrS1tWKH
https://dl.doubtnut.com/l/_C3BNYuQ7ryjd

79. (A): Hydrated oxides are usually subjected to roasting

(R) : Hydrated oxides on heating loses water and gives oxide

A.Both A & R are true, R is the correct explanation of A

B.Both A & R are true, R is not correct explanation of A

C.Ais true, R is false

D. Ais false, R is true

Answer: D

o View Text Solution

80. (A): Levigation is used for the separation of oxide ores from

impurities


https://dl.doubtnut.com/l/_C3BNYuQ7ryjd
https://dl.doubtnut.com/l/_gOkdKnwDgDu6
https://dl.doubtnut.com/l/_6SWTpr5aFZA3

(R) : Ore particles are removed by washing in a current of water.

A.Both A & R are true, R is the correct explanation of A

B. Both A & R are true, R is not correct explanation of A

C.Ais true, R is false

D. Ais false, R is true

Answer: C

o View Text Solution

81. (A): High purity gallium for semiconducting purpose can be
obtained by zone refining
(R): Zone refining works on the principle of fractional

crystallisation, leading to high purity

A.Both A & R are true, R is the correct explanation of A


https://dl.doubtnut.com/l/_6SWTpr5aFZA3
https://dl.doubtnut.com/l/_Yd4RFPsYn6Ln

B. Both A & R are true, R is not correct explanation of A

C.Ais true, R is false

D. Ais false, R is true

Answer: A

° Watch Video Solution

82. (A): Copper metal can be extracted by electrolysis even from

aqueous solution

(R): Copper ions are preferentially reduced to water in aqueous

solution

A.Both A& R are true, R is the correct explanation of A

B. Both A & R are true, R is not correct explanation of A

C.Ais true, R is false


https://dl.doubtnut.com/l/_Yd4RFPsYn6Ln
https://dl.doubtnut.com/l/_u1RodcHthLri

D. Ais false, R is true

Answer: A

° Watch Video Solution

83. (A): Last traces of lead from silver is removed by cupellation
(R): Lead will be converted to volatile litharge during
cupellation, but silver remains.
A.Both A & R are true, R is the correct explanation of A
B.Both A & R are true, R is not correct explanation of A

C.Ais true,R is false

D. Ais false, R is true

Answer: A

| o |


https://dl.doubtnut.com/l/_u1RodcHthLri
https://dl.doubtnut.com/l/_fN7pT7LNOcDd

[ & View Text Solution I

84.(A): Zinc can be refined from lead by distillation

(R): Vapour pressure of lead is more compared to that of zinc

A.Both A& R are true, R is the correct explanation of A

B. Both A & R are true, R is not correct explanation of A

C.Ais true,R is false

D. Ais false, R is true

Answer: C

° View Text Solution

85. (A): Metals like Sn and Pb can be refined by liquation

(R) : Sn and Pb are readily fusible and can be separated from


https://dl.doubtnut.com/l/_fN7pT7LNOcDd
https://dl.doubtnut.com/l/_mdtDtnEXl3Ab
https://dl.doubtnut.com/l/_lYWsPQFXG48K

less fusible impurities on heating

A.Both A & R are true, R is the correct explanation of A

B. Both A & R are true, R is not correct explanation of A

C.Ais true, R is false

D. Ais false, R is true

Answer: A

o Watch Video Solution

86. (A): Mond's process is used to refine nickel metal
(R) : With carbonmonoxide, nickel forms a neutral complex

nickeltetracarbonyl.

A.Both A & R are true, R is the correct explanation of A


https://dl.doubtnut.com/l/_lYWsPQFXG48K
https://dl.doubtnut.com/l/_MYxJJe06PWCk

B. Both A & R are true, R is not correct explanation of A

C.Ais true, R is false

D. Ais false, R is true

Answer: B

° Watch Video Solution

87. (A): Corrosion involves the oxidation of metal

(R): Oxidised form of metal is more stable than metal.

A.Both A& R are true, R is the correct explanation of A

B.Both A & R are true, R is not correct explanation of A

C.Ais true,R is false

D. Ais false, R is true


https://dl.doubtnut.com/l/_MYxJJe06PWCk
https://dl.doubtnut.com/l/_hx4azNhb6rh6

Answer: A

° View Text Solution

88. (A): Silver cyanide complex is treated with zinc to precipitate

silver metal

(R): Zinc cyanide complex is more stable than silver cyanide

complex.

A.Both A & R are true, R is the correct explanation of A

B. Both A & R are true, R is not correct explanation of A

C.Ais true,R is false

D. Ais false, R is true

Answer: A

° View Text Solution



https://dl.doubtnut.com/l/_hx4azNhb6rh6
https://dl.doubtnut.com/l/_FuuTPs6L6h4n

89. (A): In aluminothermic process, Al reduction increases the
heat of the reaction
(R): During reduction in thermit process, Al,Os is formed which
is an exothermic product.
A.Both A & R are true, R is the correct explanation of A
B.Both A & R are true, R is not correct explanation of A

C.Ais true, R is false

D. Ais false, R is true

Answer: A

o View Text Solution



https://dl.doubtnut.com/l/_FuuTPs6L6h4n
https://dl.doubtnut.com/l/_7c9pRDPD5tEK

90. (A) : Sulphide ores are concentrated by froth floatation
process.
(R) : Pine oil acts as a frothing agent in froth floatation process.
A.Both A& R are true, R is the correct explanation of A
B. Both A & R are true, R is not correct explanation of A

C.Ais true,R is false

D. Ais false, R is true

Answer: B

° Watch Video Solution

91. (A): Platinum and gold occur in native state in nature.

(R): Platinum and gold are noble metals


https://dl.doubtnut.com/l/_IAyttM43SY2z
https://dl.doubtnut.com/l/_PQAPepidWEVx

A.Both A & R are true, R is the correct explanation of A

B.Both A & R are true, R is not correct explanation of A

C.Ais true, R is false

D. Ais false, R is true

Answer: A

° Watch Video Solution

92. (A): Graphite is an example of neutral refractory material

used in furnaces

(R) : Chemically graphite is most stable allotrope of carbon
A.Both A & R are true, R is the correct explanation of A

B.Both A & R are true, R is not correct explanation of A

C.Ais true, R is false


https://dl.doubtnut.com/l/_PQAPepidWEVx
https://dl.doubtnut.com/l/_Xag8SacBNOOm

D. Ais false, R is true

Answer: C

° Watch Video Solution

93. Which of the following is true ?

A. A mineral need not be an ore

B. An ore can't be a mineral

C. All ores are not minerals

D. All minerals are ores

Answer: A

o Watch Video Solution



https://dl.doubtnut.com/l/_Xag8SacBNOOm
https://dl.doubtnut.com/l/_ccrjuO9nutkk
https://dl.doubtnut.com/l/_jRv6ci6WVVba

94. Which of the following is not found in native state ?

A. Pt

B. Cu

C.Au

D. Na

Answer: D

o Watch Video Solution

95. Cassiterite ore is used to extract

A. Fe

B. Sn

C.Au


https://dl.doubtnut.com/l/_jRv6ci6WVVba
https://dl.doubtnut.com/l/_M3carVjK7e0J

D.Pb

Answer: B

o Watch Video Solution

96. The metal never found in free state is

A. Au

B. Ag

C.Pt

D.Zn

Answer: D

o Watch Video Solution



https://dl.doubtnut.com/l/_M3carVjK7e0J
https://dl.doubtnut.com/l/_HFQAoErmB8Vj
https://dl.doubtnut.com/l/_benjcyxJHMH3

97. Both calcination and roasting can be performed in

A. Reverberatory furnace

B. Blast furnace

C. Muffle furnace

D. Electric furnace

Answer: A

o Watch Video Solution

98. Copper pyrites ore is concentrated by

A. Electromagnetic method

B. Gravity separation method

C. Froth floatation method


https://dl.doubtnut.com/l/_benjcyxJHMH3
https://dl.doubtnut.com/l/_b2Yki9ZKNuOq

D. All the above methods

Answer: C

° Watch Video Solution

99. Which one of the following is not a method of concentration

of ore

A. gravity separation

B. froth flotation process

C. electromagnetic separation

D. smelting

Answer: D

o Watch Video Solution



https://dl.doubtnut.com/l/_b2Yki9ZKNuOq
https://dl.doubtnut.com/l/_UjIOOhD0ZAgd

100. Most abundant element in the earth's crust by weight is

A. Oxygen

B. Silicon

C. Alluminuim

D. Iron

Answer: A

o Watch Video Solution

101. The rocky and silicious matter associated with an ore is

called

A.Slag


https://dl.doubtnut.com/l/_UjIOOhD0ZAgd
https://dl.doubtnut.com/l/_gBiqx5VASsO3
https://dl.doubtnut.com/l/_LYr6XcgzAn9z

B. Mineral

C. Matrix or Gangue

D. Flux

Answer: C

° Watch Video Solution

102. The process of removing of lighter ganse particles by

washing in a current of water is called

A. Levigation (or) gravity separation

B. Liquiation

C. Leaching

D. Cupellation


https://dl.doubtnut.com/l/_LYr6XcgzAn9z
https://dl.doubtnut.com/l/_OUwmUuKSPs6o

Answer: A

° Watch Video Solution

103. In the froth flotation process for the purification of

minerals the particles float because

A. they are light

B. they are insoluble

C.their surface is preferentially wetted by oil

D. they bear an electrostatic charge

Answer: C

o Watch Video Solution



https://dl.doubtnut.com/l/_OUwmUuKSPs6o
https://dl.doubtnut.com/l/_ZPdJs5usMIeI

104. Froth floatation process for the concentration of ores is an

illustration of the practical application of

A. Adsorption

B. Absorption

C. Coagulation

D. Sedimentation

Answer: A

° Watch Video Solution

105. Gravity separation process may be used for the

concentration of

A. Chalcopyrite


https://dl.doubtnut.com/l/_qKU94NCuOU5B
https://dl.doubtnut.com/l/_YRMPkma1nPRl

B. Bauxite

C. Haematite

D. Calamine

Answer: C

° Watch Video Solution

106. Wolframite (F'eWWO,) is separated from cassiterite by

A. Froth flotation method
B. levigation
C. electromagnetic method

D. electrostatic separation method

Answer: C


https://dl.doubtnut.com/l/_YRMPkma1nPRl
https://dl.doubtnut.com/l/_Nnkj8MtAXnME

° Watch Video Solution

107. In the extraction of gold ,alluival sand is conectrated by

which method

A. Gavity separation

B. Frouth floation

C. magnetic separation

D. Liquation

Answer: A

o Watch Video Solution



https://dl.doubtnut.com/l/_Nnkj8MtAXnME
https://dl.doubtnut.com/l/_3lolUDWlqEur

108. Which one of the following is used as conditioner in froth

flotation process

A. pine oll

B. soduium ethyl xanthate

C. Sodium carbanate

D. Olive oil

Answer: C

° Watch Video Solution

109. During extraction of a metal the ore is roasted if it is a

A. sulphate ore

B. sulphide ore


https://dl.doubtnut.com/l/_s7eOy9mj1QmG
https://dl.doubtnut.com/l/_W5xiwH54Dqt9

C. Carbonate ore

D. Oxide ore

Answer: A

° Watch Video Solution

110. A common metal that is used for the extraction of some

metals from their oxides is

A.Cr

B. Fe

C.Mn

D. Al

Answer: D



https://dl.doubtnut.com/l/_W5xiwH54Dqt9
https://dl.doubtnut.com/l/_UflfOfMD5eDi

| ° Watch Video Solution

111. Extraction of metals from sulphide cres is done by

A. Electrolysis

B. smelting

C. Hydrometallurgy

D. Roasting

Answer: B

° Watch Video Solution

112. To remove basic impurities from the ore the substance

generally used is


https://dl.doubtnut.com/l/_UflfOfMD5eDi
https://dl.doubtnut.com/l/_q2CQnGMjqbq6
https://dl.doubtnut.com/l/_aOrFC2xZM39u

A. 510,
B. P205
C. P205( or )SZOQ

D. CaCOg

Answer: C

° Watch Video Solution

113. During smelting an additional substance added to form a

fusible product. It is known as

A.Slag

B. Mud

C. Gangue


https://dl.doubtnut.com/l/_aOrFC2xZM39u
https://dl.doubtnut.com/l/_dK4TBZ8qGX0o

D. Flux

Answer: D

° Watch Video Solution

114. Calcination is the process of heating the ore :

A.ininert gas

B. in the presence of air

C.in the absence of air

D. in the presence of CaO and MgO

Answer: C

o Watch Video Solution



https://dl.doubtnut.com/l/_dK4TBZ8qGX0o
https://dl.doubtnut.com/l/_PSFBgf6O5vo7
https://dl.doubtnut.com/l/_GWEWRlM9l00F

115. To which of the following ores, calcination process in not
applicable

A.CaCO;

B. Al,O3, H,O

C.CaCOs, Ca(OH),

D. ZnS

Answer: D

o Watch Video Solution

116. Roasting is carried out in case of

A. Galena

B. Iron pyrites


https://dl.doubtnut.com/l/_GWEWRlM9l00F
https://dl.doubtnut.com/l/_wLqlaEdW4FVt

C. Copper glance

D. All

Answer: D

° Watch Video Solution

117. Smelting is usually carried out in

A. Blast furnace

B. Open hearth furnce

C. Muffle furnace

D. Electric furnace

Answer: A

° Watch Video Solution



https://dl.doubtnut.com/l/_wLqlaEdW4FVt
https://dl.doubtnut.com/l/_qnkYviAKqPUf

118. Slag is a product of

A. Flux and coke

B. Coke and metal oxide

C. Flux and impurities

D. Metal and flux

Answer: C

o Watch Video Solution

119. In oxidisin roasting of Zn, S porducts are

A. ZnO + 502

B. ZnO + ZnSO4 + SO,


https://dl.doubtnut.com/l/_qnkYviAKqPUf
https://dl.doubtnut.com/l/_xrMdVnqO6edN
https://dl.doubtnut.com/l/_79vD0IZpSnoL

D. Zn + SOQ

Answer: A

° Watch Video Solution

120. AgyS or in mixed with NaCl and heated to 6000° in the

presence of air t5hen product formed are

A. Ag + SOg

C. AgCl + NG,QSO4

D. AgCl + Na,S

Answer: C



https://dl.doubtnut.com/l/_79vD0IZpSnoL
https://dl.doubtnut.com/l/_950B9A7NK0hT

| ° Watch Video Solution

121. For which one the following reaction AS'is positive

A.2Zn(s) —I—O2(g) — 2Zﬂ0(s)
B.ZC(S) +02(g) — 200(9)
C.2CO(9) +O2(g) — ZCOz(g)

D. 4Al(s) + 302(9) — 2Al203(s)

Answer: B

° Watch Video Solution

122. For which one of the followinng reaction AG decreases

with increasing the temperature


https://dl.doubtnut.com/l/_950B9A7NK0hT
https://dl.doubtnut.com/l/_0rHnVCnEhPAp
https://dl.doubtnut.com/l/_x6x9lGJKthcy

A.2Zn(s) —|—02(9) — 2Zﬂ0(5)
B.2CO(g) —|—02(g) — ZCOQ(Q)
C.2C(3) —I—Og(g) — 200(9)

D.4C'U,(5) + 02(9) — 2Cu20(3)

Answer: C

o Watch Video Solution

123. For which one of the following reaction , the graph of AG
against T is almost horizontal to temperature axis

A.C(s) + 02(9) — COQ(g)

B.2C (s) + O2(4) — 2C0 (y)

C.CO(y) + O2(g) — 2C0(y)


https://dl.doubtnut.com/l/_x6x9lGJKthcy
https://dl.doubtnut.com/l/_9gGjKwePFPHC

D.3Mg ) -|—02(g) — 2MgO(S)

Answer: A

o Watch Video Solution

124. The least stable oxide at room temperature is

A.ZnO

B.CuO

C. 56,04

D. AgzO

Answer: D

o Watch Video Solution



https://dl.doubtnut.com/l/_9gGjKwePFPHC
https://dl.doubtnut.com/l/_o2N5tQETf31N
https://dl.doubtnut.com/l/_fGcTK5QxPfed

125.Ni + 00 2% Ni(co),

No(C0O), 2% Ni + 400

This sequence of reactions are involved in
A. Van Arkel methal for refining of nickel
B. Mond's process for refining of nickel
C. Zone refining of nickel

D. Refining of nickel by disstilation

Answer: B

° Watch Video Solution

126. The process of zone refining is used for

A. Sillicon


https://dl.doubtnut.com/l/_fGcTK5QxPfed
https://dl.doubtnut.com/l/_t2nHE6kdoeeZ

B. Germanium

C. Gallium

D. all the above

Answer: D

o Watch Video Solution

127. The process used in the refining of aluminimum and zinc

metals are repsectively

A. Hoope's process and fractional distillation

B. Hoope's process and cupellation

C. Poling and fractional distillation

D. Cupellation and fractional distillation


https://dl.doubtnut.com/l/_t2nHE6kdoeeZ
https://dl.doubtnut.com/l/_VV4KhbWY47XT

Answer: A

o Watch Video Solution

128. In the metallurgy of which of the following supellation

process is used ?

A. Copper

B. silver

C.lron

D. Aluminium

Answer: B

° Watch Video Solution



https://dl.doubtnut.com/l/_VV4KhbWY47XT
https://dl.doubtnut.com/l/_KFtF8ahZdXu1

129. In zone - Refining method the molten zone:

A. consists of impurities only

B. contiins more impurity than the original metal

C. contains the purified metal only

D. moves to either side

Answer: B

° Watch Video Solution

130.Tin and lead can be refined by

A. Cupellation

B. Liquation


https://dl.doubtnut.com/l/_B5jNVYjqyD14
https://dl.doubtnut.com/l/_zgHpHtltsCU0

C. Poling

D. Bessmerisations

Answer: B

° Watch Video Solution

131. Silver containing lead as an impurity is not purified by

A. Poling

B. Cupellation

C. Levigation

D. Distillation

Answer: B

o Watch Video Solution



https://dl.doubtnut.com/l/_zgHpHtltsCU0
https://dl.doubtnut.com/l/_lHV7hqGPVLK2

132. The main ore of iron is its

A. chloride

B. sulphate

C. Nitrate

D. Oxide

Answer: D

o Watch Video Solution

133. Mark the wrong statement among the following. The iron
ore after washing is roasted with a little coal in excess of air.

During roasting


https://dl.doubtnut.com/l/_lHV7hqGPVLK2
https://dl.doubtnut.com/l/_07om4bfu50nn
https://dl.doubtnut.com/l/_TIAB4NGm2UmT

A. moisture is removed

B.S and As are removed in the form of their volatile oxides

C. Any ferrous oxide is oxidised to ferricoxide

D. The mass becomes compact and thus makes it suitable for

ready reduction to metallic iron.

Answer: D

° Watch Video Solution

134. Most abundant ore of iron is

A. magnetite

B. haematite

C. limonite


https://dl.doubtnut.com/l/_TIAB4NGm2UmT
https://dl.doubtnut.com/l/_q7ZhhySxLeBJ

D. pyrites

Answer: B

° Watch Video Solution

135. The reducing agent added in the extraction of Iron from

oxide ore of iron is

A. coke

B. Aluminium

C. carbon monoxide

D. zinc

Answer: A

o Watch Video Solution



https://dl.doubtnut.com/l/_q7ZhhySxLeBJ
https://dl.doubtnut.com/l/_yDz2f9Ssx1Cv

136. The iron obtained from blast funace is

A. Pig iron

B. Silver

C. Soft iron

D. Steel

Answer: A

o Watch Video Solution

137.1n the middle part of blast furnace, iron ore is treated with

lime stone to remove

AC


https://dl.doubtnut.com/l/_yDz2f9Ssx1Cv
https://dl.doubtnut.com/l/_ZBGmJmzfrdia
https://dl.doubtnut.com/l/_GkOqQGRcItGG

B. CaO

C. 510,

D. F€2O

Answer: C

° Watch Video Solution

138. In the manufacture of iron from haematite, the limestone

acts as

A. Areducing agent

B. Flux

C.Slag

D. Gangue


https://dl.doubtnut.com/l/_GkOqQGRcItGG
https://dl.doubtnut.com/l/_o8EPVEIsjrpQ

Answer: B

° Watch Video Solution

139. In the extraction of iron, the slag produced is

A.CO

B. F@S’LO?,

C. MgS’LOg

D. CaS’lOg

Answer: D

o Watch Video Solution



https://dl.doubtnut.com/l/_o8EPVEIsjrpQ
https://dl.doubtnut.com/l/_INxILTrVtxpQ

140. Which one of the following elements constitutes a major

impurity in pig iron?

A. Silicon

B. Oxygen

C. Sulphur

D. Carbon

Answer: D

o Watch Video Solution

141. In which of the following percentage of carbon is maximum

A. Pig iron

B. Cast iron


https://dl.doubtnut.com/l/_jeOaiWZoe4VS
https://dl.doubtnut.com/l/_PvEFo4z3rJ3i

C. Wrought iron

D. Pig iron and wrough iron

Answer: A

° Watch Video Solution

142. Weight ratio of roasted ore, coke and lime stone fed into

the blast furnace in the manufacture of cast iron is

A 8:1:4

B.6:4:1

C.8:4:1

D.8:4:3

Answer: C



https://dl.doubtnut.com/l/_PvEFo4z3rJ3i
https://dl.doubtnut.com/l/_mjOD0V776Uqq

| ° Watch Video Solution

143. Carbon is present in pig Iron as

A FeC

B. F@Cg

C. FegC

D. FelOC

Answer: C

° Watch Video Solution

144. Commercially important ore of copper is its

A. Oxide ore


https://dl.doubtnut.com/l/_mjOD0V776Uqq
https://dl.doubtnut.com/l/_xcOgIoSMaYPr
https://dl.doubtnut.com/l/_eav48SOCMmdS

B. sulphide ore

C.sulphate ore

D. silicate ore

Answer: B

° Watch Video Solution

145. Which is the chief ore of copper ?

A. Galena

B. Copper pyrites

C. Sphalerite

D. Siderite

Answer: B


https://dl.doubtnut.com/l/_eav48SOCMmdS
https://dl.doubtnut.com/l/_3IBUPnQOwa47

° Watch Video Solution

146. The matte obtained in the callurgy of copper has the

approximate Composition

A FeS + CuO

B. CuyS + FeO

C.CuyS + FeS

D.CuS + FeS,

Answer: C

o Watch Video Solution

147. The flux used in the smelting of copper pyrites is


https://dl.doubtnut.com/l/_3IBUPnQOwa47
https://dl.doubtnut.com/l/_3KRli4JMaPox
https://dl.doubtnut.com/l/_Xa6pTEzYVIko

A. lime stone

B. silica

C. borax

D. P205

Answer: B

o Watch Video Solution

148. In the metallurgy of copper blister copper is obtained from

A. Blast furnace

B. Reverberatory furnace

C. Bessemer converter

D. Electrolytic tank


https://dl.doubtnut.com/l/_Xa6pTEzYVIko
https://dl.doubtnut.com/l/_LS75YO33gp1V

Answer: C

° Watch Video Solution

149. Blister Cu is about :

A.60% Cu

B. 98% Cu

C.90% Cu

D. 100% Cu

Answer: C

o Watch Video Solution

150. Zinc is obtained on large scale by


https://dl.doubtnut.com/l/_LS75YO33gp1V
https://dl.doubtnut.com/l/_ODMiLSMChJNn
https://dl.doubtnut.com/l/_pFEYsLfzig2Q

A. Electrolysis of ZnCl,

B. Reduction of ZnO

C. Precipitation with Ag

D. Any of these methods

Answer: B

° Watch Video Solution

151.in Belgian process for reduction of ZnO to Z reductant is

A Al

B. Coal or Coke

C.H,

D. Water gas


https://dl.doubtnut.com/l/_pFEYsLfzig2Q
https://dl.doubtnut.com/l/_rjyXFz3p0RW7

Answer: B

o Watch Video Solution

152. The metal that occurs in the native state as well as in the

combined form is

A. Silver

B. Magnesium

C. Aluminum

D. Manganese

Answer: A

° Watch Video Solution



https://dl.doubtnut.com/l/_rjyXFz3p0RW7
https://dl.doubtnut.com/l/_hCP5QvEglfT4

153. A common metal widely used in the displacement method

to obtain other metals is

A. Cu

B. Fe

C.7Zn

D. Ca

Answer: C

o Watch Video Solution

154. The metal extracted by leaching with a cyanide is

A Mg



https://dl.doubtnut.com/l/_SQLnYc33rTOd
https://dl.doubtnut.com/l/_TzTCec7YX6F1

C.Cu

D. Na

Answer: B

° Watch Video Solution

155. The chemical reagent used for leaching of gold and silver

ores is

A. Sodium hydroxide

B. Potassium cyanide

C. Potassium cyanate

D. Sodium sulphate

Answer: B



https://dl.doubtnut.com/l/_TzTCec7YX6F1
https://dl.doubtnut.com/l/_a5c71ZZfM3qX

| ° Watch Video Solution

156. Name the metal M, which is extracted based on the

following equation
4M + 8CN~ + 2H,0 + Oy — 4[M(CN),| +40H "~
2[M(CN),] ™ + Zn — [Zn(CN),]* + 2M

A.Cu

B. Au (or) Ag

C.Hg

D. Ni

Answer: B

° Watch Video Solution



https://dl.doubtnut.com/l/_a5c71ZZfM3qX
https://dl.doubtnut.com/l/_lYYiPArxOJPq

157. Of the following metals that cannot be obtained by

electolysis of the aqueous solultion of their salts is /are

A Ag

B. Mg

C.Cu

D. Al and Mg

Answer: D

° Watch Video Solution

158. Which of the following process is used in the extractive

metallurgy of magnesium ?

A. Fused salt electrolysis


https://dl.doubtnut.com/l/_VK7wufBvV2lc
https://dl.doubtnut.com/l/_UxzLygi7csl4

B. Self reduction

C. Aqueous solution electrolysis

D. Thermite reduction

Answer: A

° Watch Video Solution

159. In the Bayer's process of purification of red hauxite the

leaching agent is

A. NaOH

B. Na20'03

C. NaCN

D. KCN


https://dl.doubtnut.com/l/_UxzLygi7csl4
https://dl.doubtnut.com/l/_4gIzDyanpKYf

Answer: A

° Watch Video Solution

160. Chemical leaching is useful in the concen-tration of

A. copper pyrites

B. bauxite

C.galena

D. cassiterite

Answer: B

o Watch Video Solution



https://dl.doubtnut.com/l/_4gIzDyanpKYf
https://dl.doubtnut.com/l/_f6NOYhyj1YKx

161. The electrolytic reduction method for the preparation of

aluminium is called

A. Hoope's process

B. Baeyer's process

C. Hall and Heroult process

D. Serpeck process

Answer: C

° Watch Video Solution

162. During the electrolytic reduction of alumina, the reaction at

cathode is

A Al


https://dl.doubtnut.com/l/_529TyLLvwHmM
https://dl.doubtnut.com/l/_SUKDHwOpOgor

B. Na

C. Oy

D. H,

Answer: C

° Watch Video Solution

163. Coinage alloy contains copper. The other metal present may

be

A. Fe

B. Ni

C.Zn

D. Pt


https://dl.doubtnut.com/l/_SUKDHwOpOgor
https://dl.doubtnut.com/l/_0p0IYl2uDj9p

Answer: B

° Watch Video Solution

164. Alloy used in making anchors, bolts, chains and wires

A. pig iron

B. cast iron

C. wrought iron

D. german silver

Answer: C

o Watch Video Solution



https://dl.doubtnut.com/l/_0p0IYl2uDj9p
https://dl.doubtnut.com/l/_SwV7ECfGAxLA

165. (A) : Cassiterite mineral is concentrated by electromagnetic
method
(R): Tinstone is non-magnetic and impurity wolframite is
magnetic

A.Both A& R are true, R is the correct explanation of A

B. Both A & R are true, R is not correct explanation of A

C.Ais true, R is false

D. Ais false, R is true

Answer: A

o Watch Video Solution

166. (A) Efficiency of the reverboratary furnace is less

(R) The waste gases formed in the furnace reactions leave the


https://dl.doubtnut.com/l/_P0umt0fVvUTN
https://dl.doubtnut.com/l/_T06eqMgqmLJv

furnace through chimney .

A.Both A & R are true, R is the correct explanation of A

B. Both A & R are true, R is not correct explanation of A

C.Ais true, R is false

D. Ais false, R is true

Answer: A

o Watch Video Solution

167. (A): In the smelting of copper pyrites in blast furace, CuyS
formed but not FeS.
(R): Ca has greater affinity to 'S than to where as fe has greater

affinity to than to's

A.Both A & R are true, R is the correct explanation of A


https://dl.doubtnut.com/l/_T06eqMgqmLJv
https://dl.doubtnut.com/l/_8UdFt2fLc5sQ

B. Both A & R are true, R is not correct explanation of A

C.Ais true, R is false

D. Ais false, R is true

Answer: A

° Watch Video Solution

168. (A): Iron pyrate is used in the extraction of iron releases

pollutants like sulphurdioxide

(R) : Ores which are abundent with non metals produce

poluting gases

A.Both A & R are true, R is the correct explanation of A

B. Both A & R are true, R is not correct explanation of A

C.Ais true, R is false


https://dl.doubtnut.com/l/_8UdFt2fLc5sQ
https://dl.doubtnut.com/l/_4fdSHi37KlXK

D. Ais false, R is true

Answer: B

o Watch Video Solution

169. (A) Reduction of a metal oxide is easier if the metal formed

is in liquid state at the temperature of reduction .

(R) AG° for the net reaction, reduction of metal oxide with the

reductant, is more-ve when the metal formed is in molten state

A.Both A& R are true, R is the correct explanation of A

B. Both A & R are true, R is not correct explanation of A

C.Ais true, R is false

D. Ais false, R is true


https://dl.doubtnut.com/l/_4fdSHi37KlXK
https://dl.doubtnut.com/l/_Q2EOan23GYNK

Answer: A

° Watch Video Solution

170. (A): Leaching is chemical method used to ore benefication
process
(R): Leaching is usually performed in metallurgy with the help of
a non aqueous solvent

A.Both A& R are true, R is the correct explanation of A

B. Both A & R are true, R is not correct explanation of A

C.Ais true,R is false

D. Ais false, R is true

Answer: C

° Watch Video Solution



https://dl.doubtnut.com/l/_Q2EOan23GYNK
https://dl.doubtnut.com/l/_kZLaFJnSk8pH

171. (A): Hydrated oxides are usually subjected to roasting

(R) : Hydrated oxides on heating loses water and gives oxide

A.Both A & R are true, R is the correct explanation of A

B.Both A & R are true, R is not correct explanation of A

C.Ais true,R is false

D. Ais false, R is true

Answer: D

o Watch Video Solution

172. (A): Levigation is used for the separation of oxide ores from

impurities


https://dl.doubtnut.com/l/_kZLaFJnSk8pH
https://dl.doubtnut.com/l/_Gj8obZMlKbDE
https://dl.doubtnut.com/l/_sj8gKk0y4Fg8

(R) : Ore particles are removed by washing in a current of water.

A.Both A & R are true, R is the correct explanation of A

B. Both A & R are true, R is not correct explanation of A

C.Ais true, R is false

D. Ais false, R is true

Answer: C

o Watch Video Solution

173. (A): High purity gallium for semiconducting purpose can be
obtained by zone refining
(R): Zone refining works on the principle of fractional

crystallisation, leading to high purity

A.Both A & R are true, R is the correct explanation of A


https://dl.doubtnut.com/l/_sj8gKk0y4Fg8
https://dl.doubtnut.com/l/_8pBBBPRSXB7s

B.Both A & R are true, R is not correct explanation of A

C.Ais true, R is false

D. Ais false, R is true

Answer: A

o Watch Video Solution

174. (A): Copper metal can be extracted by electrolysis even
from aqueous solution
(R): Copper ions are preferentially reduced to water in aqueous
solution

A.Both A & R are true, R is the correct explanation of A

B. Both A & R are true, R is not correct explanation of A

C.Ais true, R is false


https://dl.doubtnut.com/l/_8pBBBPRSXB7s
https://dl.doubtnut.com/l/_u30HjGBZKIRD

D. A is false, R is true

Answer: A

° Watch Video Solution

175. (A): Last traces of lead from silver is removed by cupellation
(R): Lead will be converted to volatile litharge during
cupellation, but silver remains.

A.Both A & R are true, R is the correct explanation of A

B. Both A & R are true, R is not correct explanation of A

C.Ais true,R is false

D. Ais false, R is true

Answer: A

| o |


https://dl.doubtnut.com/l/_u30HjGBZKIRD
https://dl.doubtnut.com/l/_5qjkJoIBGTLO

I & Watch Video Solution ]

176. (A): Zinc can be refined from lead by distillation

(R): Vapour pressure of lead is more compared to that of zinc

A.Both A& R are true, R is the correct explanation of A

B. Both A & R are true, R is not correct explanation of A

C.Ais true,R is false

D. Ais false, R is true

Answer: C

o Watch Video Solution

177. (A): Metals like Sn and Pb can be refined by liquation

(R) : Sn and Pb are readily fusible and can be separated from


https://dl.doubtnut.com/l/_5qjkJoIBGTLO
https://dl.doubtnut.com/l/_4B3pZk2oxJPV
https://dl.doubtnut.com/l/_GCwTZFDVsx4F

less fusible impurities on heating

A.Both A & R are true, R is the correct explanation of A

B. Both A & R are true, R is not correct explanation of A

C.Ais true, R is false

D. Ais false, R is true

Answer: A

o Watch Video Solution

178. (A): Mond's process is used to refine nickel metal
(R) : With carbonmonoxide, nickel forms a neutral complex

nickeltetracarbonyl.

A.Both A & R are true, R is the correct explanation of A


https://dl.doubtnut.com/l/_GCwTZFDVsx4F
https://dl.doubtnut.com/l/_KKJPgiEzzUKf

B. Both A & R are true, R is not correct explanation of A

C.Ais true, R is false

D. Ais false, R is true

Answer: B

° Watch Video Solution

179. (A): Corrosion involves the oxidation of metal

(R): Oxidised form of metal is more stable than metal.

A.Both A& R are true, R is the correct explanation of A

B.Both A & R are true, R is not correct explanation of A

C.Ais true,R is false

D. Ais false, R is true


https://dl.doubtnut.com/l/_KKJPgiEzzUKf
https://dl.doubtnut.com/l/_QTeqpKmR61O7

Answer: A

° Watch Video Solution

180. (A): Silver cyanide complex is treated with zinc to
precipitate silver metal
(R): Zinc cyanide complex is more stable than silver cyanide
complex.
A.Both A& R are true, R is the correct explanation of A
B.Both A & R are true, R is not correct explanation of A

C.Ais true, R is false

D. Ais false, R is true

Answer: A

o Watch Video Solution



https://dl.doubtnut.com/l/_QTeqpKmR61O7
https://dl.doubtnut.com/l/_2kjdYVFweMXZ

181. (A): In aluminothermic process, Al reduction increases the

heat of the reaction

(R): During reduction in thermit process, Al,Os is formed which

is an exothermic product.

A.Both A & R are true, R is the correct explanation of A

B.Both A & R are true, R is not correct explanation of A

C.Ais true, R is false

D. Ais false, R is true

Answer: A

o Watch Video Solution



https://dl.doubtnut.com/l/_2kjdYVFweMXZ
https://dl.doubtnut.com/l/_1PPpSDlMMkWF

182. (A) : Sulphide ores are concentrated by froth floatation
process.
(R) : Pine oil acts as a frothing agent in froth floatation process.
A.Both A& R are true, R is the correct explanation of A
B. Both A & R are true, R is not correct explanation of A

C.Ais true, R is false

D. Ais false, R is true

Answer: B

° Watch Video Solution

183. (A): Platinum and gold occur in native state in nature.

(R): Platinum and gold are noble metals


https://dl.doubtnut.com/l/_d6LsgR84wYox
https://dl.doubtnut.com/l/_HPQltmDkkNbZ

A.Both A & R are true, R is the correct explanation of A

B.Both A & R are true, R is not correct explanation of A

C.Ais true, R is false

D. Ais false, R is true

Answer: A

o Watch Video Solution

184. (A): Graphite is an example of neutral refractory material

used in furnaces

(R) : Chemically graphite is most stable allotrope of carbon
A.Both A & R are true, R is the correct explanation of A

B.Both A & R are true, R is not correct explanation of A

C.Ais true, R is false


https://dl.doubtnut.com/l/_HPQltmDkkNbZ
https://dl.doubtnut.com/l/_IFLRU0s3kgmM

D. Ais false, R is true

Answer: C

o Watch Video Solution

Objective Exercise 2

List - | (mineral) List - 1T (type of mineral)

1) Zircon a) Sulphate

2) Monite b} Silicate '

3) Pentlandite ¢) Sulphide |

4) Anglesite d) Phosphate '
1. " Correct
Match is

S = Q= S
O N SN N
& W o w o w
Q@ B &k 2 B


https://dl.doubtnut.com/l/_IFLRU0s3kgmM
https://dl.doubtnut.com/l/_8hppLWqt0HQN

1 2 3 4
D.
a d ¢ b

Answer: A

° Watch Video Solution

2. X' is substance which combines chemically with impurities

associated with the ore to form casily fusible mass'Y! Her X and

Yare

A. Flux, slag

B. Slag, flux

C. Gangue, slag

D. Reductant, flux

Answer: A

| o |


https://dl.doubtnut.com/l/_8hppLWqt0HQN
https://dl.doubtnut.com/l/_MCquqQ0VcJSY

[ & Watch Video Solution

3.In Goldsmith thermite process reductant in

A. Coke

B. Aluminium

C. Water gas

D. Carbonmonoxide

Answer: B

o Watch Video Solution

4. In which of the following products are in the molte state

A. Calcination


https://dl.doubtnut.com/l/_MCquqQ0VcJSY
https://dl.doubtnut.com/l/_hFjlQvSETUm5
https://dl.doubtnut.com/l/_ATt2ZWSU00dR

B. Oxidizing roasting

C. Sulphatizing roasting

D. Smelting

Answer: D

° Watch Video Solution

List -1 List -1
A) vanArkel method 1) Manufacture of
caustic soda

B} Solvay process  2)Purification of

Titanium
C) Cupellation 3) Manufature of Na,CO,
D) Poling 4y Puritication of copper
5, 3)Refming of silver

AABC’D
2 1 3 4

B.(A, B,C, D), (,4,3,2,5)


https://dl.doubtnut.com/l/_ATt2ZWSU00dR
https://dl.doubtnut.com/l/_4jDNExRxWV3m

CABC’D
"2 3 5 4
DABCD
‘5 1 3 4
Answer: C

° Watch Video Solution

[List - |

I} Argentite
23 Horn silver
3) Ruby silver

4) Sylvine
6. A i

correct Match is

1 2 3 4
A.

c a d b

1 2 3 4
B.

d b c a

1 2 3 4
C.

c b d a

List - 11
a) KC/

b) AgC/
c) Ag,S

d) 3Ag,5.5b.S,
) - The


https://dl.doubtnut.com/l/_4jDNExRxWV3m
https://dl.doubtnut.com/l/_IqQNo1ygBi0l

1 2 3 4
D.
d ¢ b a

Answer: C

° Watch Video Solution

7. Match the following

List -1 List - II
l. Cyuanide process a) Ultrapure Ge
I1. Floatation proces bi Pine oil

[11. Electrolytic reduction  ¢) Extraction of Al

IV. Zone relining d) Extraction of Au

A 1-(C),11-(a), Nl -(d), IV-(b)

B.1-(d), Il -(b), 1l -(c), IV -(a)

C.1-(C), 11 -(b), N -(d), IV -(a)

D.1-(d), Il -(a), Il -(C), IV - (b)


https://dl.doubtnut.com/l/_IqQNo1ygBi0l
https://dl.doubtnut.com/l/_o0i6c4xq6EMn

Answer: B

o Watch Video Solution

8. Match the following

List-l (Concentration method)

1) Hydraulic washing

2) Magnetic separation

3) Froth flotation

4) Leaching

List-l (Principle)

a) Difference in solubility of gangue and ore particles in a
specfic substance

b) Difference in wetting property of ore and gangue particles

c) Difference in gravities of ore and gangue particles


https://dl.doubtnut.com/l/_o0i6c4xq6EMn
https://dl.doubtnut.com/l/_1spRqdHBO8GL

d) Difference in magnetic property of gangue and ore particles

The correct match is

1 2 3 4

A.
b d ¢ a
1 2 3 4

B.
a b ¢ d
c 1 2 3 4
‘a d b c
1 2 3 4

D.
c d b a

Answer: D

o Watch Video Solution

9.The final step in the metallurgical extraction of Cu metal from
Cu pyrites takes place in a Bessemer converter. The reaction

taking place

A CusS + Oy — 2Cu + SO,


https://dl.doubtnut.com/l/_1spRqdHBO8GL
https://dl.doubtnut.com/l/_FhhBFjq0KCFH

B.4Cu50 + Fes — 8Cu + FeSO,

D.CusS + 2FeO — 2CuO + 2Fe + SO,

Answer: C

° Watch Video Solution

10. Heating mixture of CuyO and CusS will give

A Cu + 502

B.Cu + 503

C.CuO + CuS

D. C'u2 S04

Answer: A


https://dl.doubtnut.com/l/_FhhBFjq0KCFH
https://dl.doubtnut.com/l/_T4TIFrvUjfSx

° Watch Video Solution

11. In the extraction of silver from argentite are the one is
treated with dilute solution of NaCN in water in the presence of

Y, whereby the following reaction takes place.
Ag: X + 4NaCN + 2Y — 2Na[Ag(CN),] + Nap XO,X and Y
in this reaction are repesented by

A.Cland S

B.S and O,

C.0 and O,

D.Oand S

Answer: B

° Watch Video Solution



https://dl.doubtnut.com/l/_T4TIFrvUjfSx
https://dl.doubtnut.com/l/_vfGft4efu4xU

12. Which of the following is not a characteristic of open -

hearth process

A. The quality of steel obtained is very high

B. Composition of steel can be controlled

C. A blast of air is used in the furnace

D. Iron scrap and lower grade pig iorn can be used

Answer: C

° Watch Video Solution

13. Formation of metallic copper from the sulphide ore in the
normal thermo-metallur-gical process essentially involves which

one of the following reaction ?


https://dl.doubtnut.com/l/_eNpKrAJgJTv1
https://dl.doubtnut.com/l/_yeTUqIBf03zD

3
A.CuS + 502 — CuO + S0,, CuS + C — Cu+ CO
B.
3
CuS + 502 — Cu0 + 505, 2Cu0 + CuS — 3Cu + SO,

C.CuS + 209 — CuSOy4, CuSO,4 + CuS — 2Cu + 250,

3
CuS + 502 — CuO + 50,5, CuO + CO — Cu + CO,

Answer: B

° Watch Video Solution

14. Which of the following reagent is used to separate the

impurity from red bauxite

A. Conc. HCI


https://dl.doubtnut.com/l/_yeTUqIBf03zD
https://dl.doubtnut.com/l/_jcnNzSHGaFED

B. H,50,

C. NaOH

D. HNO,

Answer: C

° Watch Video Solution

15. A mixture of Aly,O3 and Fe;O3 can be separated by using

A. Sodium hydroxide

B. Cold water

C. Ethyl alcohol

D. Boiling water

Answer: A


https://dl.doubtnut.com/l/_jcnNzSHGaFED
https://dl.doubtnut.com/l/_VXQT9gzVQDYL

° Watch Video Solution

16. Percentages of copper and zinc present in a alloy brass, are
respectively

A.60 % and 40%

B. 40% and 60%

C. 0 % and 100%

D. 100 % and 0%

Answer: A

o Watch Video Solution



https://dl.doubtnut.com/l/_VXQT9gzVQDYL
https://dl.doubtnut.com/l/_8YT82faBefVl

17. In the blast furnace, the reaction that is taking place at the

temperature zone of 900 K to 1500 K is

A FeO + CO — Fe + CO,

B.F6203 + CO — 2FeO + 002

C.Fes04 + CO — 3Fe + COy

D. All the above reactions

Answer: A

° Watch Video Solution

18. Metal used in the extraction of Mn and Cr from their oxides

A Ag


https://dl.doubtnut.com/l/_xEXiXg60es6U
https://dl.doubtnut.com/l/_xBnyP9fROpQb

B. Cu

C. Al

D. Fe

Answer: C

° Watch Video Solution

19. Impurity present in red bauxite is

A. ZnO

B. F6203

C. 570,

D. Al,Os

Answer: B


https://dl.doubtnut.com/l/_xBnyP9fROpQb
https://dl.doubtnut.com/l/_U1XMUgX8Ipuq

o Watch Video Solution

20. Metal extracted from molten cryolite is

A Al

B. Fe

C.7Zn

D. Ag

Answer: A

o Watch Video Solution

21. Metal commonly present in bronze, brass and German silver

is


https://dl.doubtnut.com/l/_U1XMUgX8Ipuq
https://dl.doubtnut.com/l/_F6ZvD7aDCDPN
https://dl.doubtnut.com/l/_gP5rslhKZPqF

A. Cu

C.Zn

D. Fe

Answer: A

° Watch Video Solution

List - I (mineral)
1y Zircon

2) Monite

3y Pentlanditc

4y Anglesite
2 P AN

Match is

1 2 3 4
A.
b d ¢ a

List - 1 (type of mineral)
a) Sulphate

b) Silicate

¢) Sulphide

d) Phosphate

' Correct


https://dl.doubtnut.com/l/_gP5rslhKZPqF
https://dl.doubtnut.com/l/_lPkQmJuV4x79

1 2 3 4
B.

a b ¢ d

1 2 3 4
C.

b ¢ d a

1 2 3 4
D.

a d c b

Answer: A

° Watch Video Solution

23. X' is substance which combines chemically with impurities
associated with the ore to form casily fusible mass'Y! Her X and
Yare

A. Flux, slag

B. Slag, flux

C. Gangue, slag

D. Reductant, flux


https://dl.doubtnut.com/l/_lPkQmJuV4x79
https://dl.doubtnut.com/l/_bQxAexGrC1HW

Answer: A

° Watch Video Solution

24.In Goldsmith thermite process reductant in

A. Coke

B. Aluminium

C. Water gas

D. Carbonmonoxide

Answer: B

o Watch Video Solution

25. In which of the following products are in the molte state


https://dl.doubtnut.com/l/_bQxAexGrC1HW
https://dl.doubtnut.com/l/_BSdRKywXZ7WR
https://dl.doubtnut.com/l/_vcZp7vgKk3wd

A. Calcination

B. Oxidizing roasting

C.Sulphatizing roasting

D. Smelting

Answer: D

o Watch Video Solution

26. Match the following

st - 1 List - 11
') Liguation a) Volatile metals with
2) Poling non volatile impurity
3y Cupellation by Metal with 1ts metal
4) Distillation oxides as impurity

¢) Metal with easily
oxidisable impuritics

d) Metal and impurities
differ in M.P.


https://dl.doubtnut.com/l/_vcZp7vgKk3wd
https://dl.doubtnut.com/l/_O0hA7pdHxEb2

1 2 3 4

A.
a b ¢ d
1 2 3 4

B.
d ¢c b a
c 1 2 3 4
‘d b c a
1 2 3 4

D.
a b d c

Answer: C

° Watch Video Solution

27. Various types of zone in the blast burnace are given in the

list -l and reactions take place in the extraction of iron are given

in list - II.
List - 1 st -1
1) Zone of reduction  a) C+0,—-CO,
2y Zone of heat b) CO,.+C—2C0
abrsorption
3y Zone of fusion C) ]-TejD_‘, +300—

2Fe +3C0,


https://dl.doubtnut.com/l/_O0hA7pdHxEb2
https://dl.doubtnut.com/l/_GE3XSg5MpmNt

1 2 3
A.

a b ¢

1 2 3
B.

c b a

1 2 3
C.

b ¢ a

1 2 3
D.

c a b

Answer: B

o Watch Video Solution

List -1 List -11
A) vanArkel method 1)Manufacture of
caustic soda

B) Solvay process  2)Purification of

Titanium
() Cupellation 3) Manulawire of Na,CO,
D) Poling 4) Puritication of copper
5yRefinine of silver
28. yRefining of silver
A B C D
A
2 1 3 4


https://dl.doubtnut.com/l/_GE3XSg5MpmNt
https://dl.doubtnut.com/l/_QM9UyG0XDJGW

B.(A, B,C, D), (,4,3,2,5)

CABCD
"2 3 5 4
DABCD
"5 1 3 4
Answer: C

° Watch Video Solution

1y Oxide a) Kaolinife
2) Carbonate b) Calamine
3) Sulphide ¢} Copper glance
20. 4) Silicate d) Cuprite
1 2 3 4
A.
d b c a
1 2 3 4
B.
b d a c
c 1 2 3 4
‘a b c d
5 1 2 3 4
b a c d


https://dl.doubtnut.com/l/_QM9UyG0XDJGW
https://dl.doubtnut.com/l/_V6lmh6Iguyod

Answer: A

o Watch Video Solution

[List - | List - 11
Iy Argentite a) KC/
2} Horn silver b) AgC/
3) Ruby silver c) Ag.S
4) Svlvine d) 3Ag,S.5b.S,
30. A o The

correct Match is

1 2 3 4

A.
c a d b
1 2 3 4

B.
d b c a
1 2 3 4

C.
c b d a
5 1 2 3 4
‘d ¢ b a

Answer: C

r 1


https://dl.doubtnut.com/l/_V6lmh6Iguyod
https://dl.doubtnut.com/l/_8uBOw8CKtY6j

| o Watch Video Solution

31. Match the following

List - 1 List - II
l. Cyuanide process a) Ultrapure Ge
I1. Floatation proces b} Pine oil

[11. Electrolytic reduction  ¢) Extraction of Al

IV. Zone relining d) Extraction of Au

A 1-(C),11-(a), Nl -(d), IV -(b)

B.1-(d), Il - (b), lll - (c), IV - (a)

C.1-(C), 1 -(b), NI -(d), IV - (a)

D.1-(d), Il -(a), Nl - (C), IV - (b)

Answer: B

° Watch Video Solution



https://dl.doubtnut.com/l/_8uBOw8CKtY6j
https://dl.doubtnut.com/l/_Klm9FHqbILnu
https://dl.doubtnut.com/l/_hJe5GLXhsb4i

32. Match the following

List-l (Concentration method)

1) Hydraulic washing

2) Magnetic separation

3) Froth flotation

4) Leaching

List-1l (Principle)

a) Difference in solubility of gangue and ore particles in a
specfic substance

b) Difference in wetting property of ore and gangue particles
c) Difference in gravities of ore and gangue particles

d) Difference in magnetic property of gangue and ore particles

The correct match is

Q@ R o R
ST R~ U
0w o w
U SN


https://dl.doubtnut.com/l/_hJe5GLXhsb4i

c 1 2 3 4
"a d b c
1 2 3 4
D.
c d b a
Answer: D

o Watch Video Solution

33. The final step in the metallurgical extraction of Cu metal
from Cu pyrites takes place in a Bessemer converter. The

reaction taking place

A. Cu25 + 02 — 2Cu + SOQ

B.4Cu50 + Fes — 8Cu + FeSO,

D. CuyS + 2FeO — 2CuO + 2Fe + SO,


https://dl.doubtnut.com/l/_hJe5GLXhsb4i
https://dl.doubtnut.com/l/_a796sUV9Hf31

Answer: C

° Watch Video Solution

34. Heating a mixture of CusO and C'us S will give

A Cu + 502

B.Cu + SO3

C.CuO + CuS

D. CUzSOg

Answer: A

o Watch Video Solution



https://dl.doubtnut.com/l/_a796sUV9Hf31
https://dl.doubtnut.com/l/_9YolYiDxNcu2

35. In the extraction of silver from argentite are the one is
treated with dilute solution of NaCN in water in the presence of
Y, whereby the following reaction takes place.
Ag, X + 4NaCN + 2Y — 2Na[Ag(CN),] + Na; XO,X and Y
in this reaction are repesented by

A.Cland S

B.S and O,

C.0and O,

D.OandS

Answer: B

o Watch Video Solution



https://dl.doubtnut.com/l/_jvjbMhiMwsGE

36. Which of the following is not a characteristic of open -

hearth process

A. The quality of steel obtained is very high

B. Composition of steel can be controlled

C. A blast of air is used in the furnace

D. Iron scrap and lower grade pig iorn can be used

Answer: C

° Watch Video Solution

37. Formation of metallic copper from the sulphide ore in the
normal thermo-metallur-gical process essentially involves which

one of the following reaction ?


https://dl.doubtnut.com/l/_5CZvBrSofOkr
https://dl.doubtnut.com/l/_ZJN8ENi4lIJL

3
A.CuS + 502 — CuO + S0,, CuS + C — Cu+ CO
B.
3
CuS + 502 — Cu0 + 505, 2Cu0 + CuS — 3Cu + SO,

C.CuS + 209 — CuSOy4, CuSO4 + CuS — 2Cu + 250,

3
CuS + 502 — CuO + 50,5, CuO + CO — Cu + CO,

Answer: B

° Watch Video Solution

38. Which of the following reagent is used to separate the

impurity from red bauxite

A. Conc. HCI


https://dl.doubtnut.com/l/_ZJN8ENi4lIJL
https://dl.doubtnut.com/l/_R28tKArYzmzj

B. H,50,

C. NaOH

D. HNO,

Answer: C

° Watch Video Solution

39. A mixture of Al;O, and Fey can be separated by using

A. Sodium hydroxide

B. Cold water

C. Ethyl alcohol

D. Boiling water

Answer: A


https://dl.doubtnut.com/l/_R28tKArYzmzj
https://dl.doubtnut.com/l/_qRreQNuBv6dP

° Watch Video Solution

40. Percentages of copper and zinc present in a alloy brass, are
respectively

A.60 % and 40%

B. 40% and 60%

C. 0 % and 100%

D. 100 % and 0%

Answer: A

o Watch Video Solution



https://dl.doubtnut.com/l/_qRreQNuBv6dP
https://dl.doubtnut.com/l/_5gw1O6yhG3ux

41. In the blast furnace, the reaction that is taking place at the

temperature zone of 900 K to 1500 K is

A FeO + CO — Fe + CO,

B.F6203 + CO — 2FeO + 002

C.Fes04 + CO — 3Fe + COy

D. All the above reactions

Answer: A

° Watch Video Solution

42. Metal used in the extraction of Mn and Cr from their oxides

A Ag


https://dl.doubtnut.com/l/_eUGUnqPSDcRm
https://dl.doubtnut.com/l/_mstxVDRYpFMG

B. Cu

C. Al

D. Fe

Answer: C

° Watch Video Solution

43. Impurity present in red bauxite is

A. ZnO

B. F6203

C. 510,

D. Al,Os

Answer: B


https://dl.doubtnut.com/l/_mstxVDRYpFMG
https://dl.doubtnut.com/l/_RyHunKfipubB

o Watch Video Solution

44. Metal extracted from molten cryolite is

A Al

B. Fe

C.7Zn

D. Ag

Answer: A

° Watch Video Solution

45. Metal commonly present in bronze, brass and German silver

is


https://dl.doubtnut.com/l/_RyHunKfipubB
https://dl.doubtnut.com/l/_Iwm7JC9iqeHM
https://dl.doubtnut.com/l/_mhuGZg6qFHDg

A. Cu

C.7Zn

D. Fe

Answer: A

o Watch Video Solution

1. Nickel steel is used in making

A. Cycles

B. Alensils


https://dl.doubtnut.com/l/_mhuGZg6qFHDg
https://dl.doubtnut.com/l/_jSjdFjKXEJhI

C. Cutting tools

D. Cables

Answer: D

° View Text Solution

2. Carbonate or hydroxide ores are generally converted to their

oxides by

A. Roasting

B. Calcination

C. Smelting

D. Fluxing

Answer: B



https://dl.doubtnut.com/l/_jSjdFjKXEJhI
https://dl.doubtnut.com/l/_fYgJSA6IVtsK

| ° Watch Video Solution

3. Most abundant metal in the earth's crust is

A.Si

B. Al

C. Mg

D. Fe

Answer: B

o Watch Video Solution

4. Gravity separation method is based upon.

A. Preferential washing of ores and gangue particles


https://dl.doubtnut.com/l/_fYgJSA6IVtsK
https://dl.doubtnut.com/l/_aDbbDTK1yREp
https://dl.doubtnut.com/l/_tJfr6ztBz31K

B. Difference in densities of ore particles and impurities

C. Difference in chemical properties of ore particles and

impurities

D. None of these

Answer: B

o Watch Video Solution

5. Among the following statements the incorrect one is

A. Calamine and siderite are carbonates

B. Argentite and cuprite are oxides

C.Zine blende and iron pyrites are sulphides

D. Malachite and azurite are ores of copper


https://dl.doubtnut.com/l/_tJfr6ztBz31K
https://dl.doubtnut.com/l/_SA943zDUTe3q

Answer: B

° Watch Video Solution

6. Refractory metals are used in construction of furnaces

because

A. they can withstand high temperature

B. they are chemically inert

C. their melting point is high

D. their boiling point is low

Answer: A

o Watch Video Solution



https://dl.doubtnut.com/l/_SA943zDUTe3q
https://dl.doubtnut.com/l/_0XmOo8pQJ5Pa

7. The substance widely used to remove silica present as

impurity, from the ore is

A.CaO

B. P205

C. SiC

D. Na20'03

Answer: A

° Watch Video Solution

8. Extraction of aluminium from aluminium oxide (Al /Oj3)is

het done by

A. electrolytic reduction of Aly,O3


https://dl.doubtnut.com/l/_DZe1HsknvdUb
https://dl.doubtnut.com/l/_vHQyhk7aJAVF

B. reduction of Al,O3 with carbon

C. reduction of Al,O3 with sodium

D. reduction of Al,O3 with CO

Answer: A

° Watch Video Solution

9.the most electropositive metals are isolated from their ors by

A. High temperature reduction with carbon

B. Self reduction

C. Thermal decomposition

D. Electrolyris of fused ionic salts

Answer: D


https://dl.doubtnut.com/l/_vHQyhk7aJAVF
https://dl.doubtnut.com/l/_ahQzNyEvs2YO

° Watch Video Solution

10. Siderite mineral is

A. Sulphate of iron

B. Carbonate of zinc

C. Sulphate of zinc

D. Carbonate of iron

Answer: D

o Watch Video Solution

11. Chemical composition of malachite is

composition of azurite is

X'

Then the


https://dl.doubtnut.com/l/_ahQzNyEvs2YO
https://dl.doubtnut.com/l/_PVXQeXTGsIam
https://dl.doubtnut.com/l/_FmO5rMAx0CQq

A C’U,CO3 + X
B.Cu(OH), + X
CX— CUCOg

D. X — Cu(OH),

Answer: A

° Watch Video Solution

12. In sulphatizing roasting of Zns, products are

A ZnO + 502

B. ZnO + ZnSO4 + SO,

D. Zn + 502


https://dl.doubtnut.com/l/_FmO5rMAx0CQq
https://dl.doubtnut.com/l/_A8ct8S1UkkqC

Answer: B

° Watch Video Solution

13. In order to refine blister copper it is melted in a furnance

and is strirred with gree longs of woman the purpose is

A. To expel the dissolved gases in the blister

B. To bring the impurities to surface and oxidise them

C.To increase the cabon content of copper

D. To reduce the metallic oxide impurities with hydrocarbon

gases liberated from the wood

Answer: D

° Watch Video Solution



https://dl.doubtnut.com/l/_A8ct8S1UkkqC
https://dl.doubtnut.com/l/_CwIgj0DKnX1d

14. Which of the following process is used for concentration of

ores and for refining metals

A. Liquation

B. Leaching

C. distillation

D. Poling

Answer: A

° Watch Video Solution

15. The chemical composition of slag formed during smelting

process in the extraction of Cu is

A. Cus0 + FeS


https://dl.doubtnut.com/l/_UAf79OKrCKMo
https://dl.doubtnut.com/l/_bD8WtgsJ4azh

B. FeSi03

C.CuFeS,

D.CuyS + FeO

Answer: B

° Watch Video Solution

16. Impurities in the zinc spelter are

A. Ag and Au

B.Cd and Pd

C.Cd and Pb

D. Cd As and Au

Answer: C


https://dl.doubtnut.com/l/_bD8WtgsJ4azh
https://dl.doubtnut.com/l/_dWOWIou701hq

o View Text Solution

17. Role of limestone used in re extraction

A. Oxidation of Fe ore

B. Reduction of Fe ore

C. Formation of slag

D. Purification of Fe formed

Answer: C

o Watch Video Solution

18. The purest form of commercial iron is

A. Pig iron


https://dl.doubtnut.com/l/_dWOWIou701hq
https://dl.doubtnut.com/l/_pAP1SiWQPpN8
https://dl.doubtnut.com/l/_Z4XnnNjN9esL

B. Cast iron

C. Wrought iron

D. Pig iron and cast iron

Answer: C

° Watch Video Solution

19. Percent purity of iron in cast iron is

A.90

B.94

C.97

D.99

Answer: D


https://dl.doubtnut.com/l/_Z4XnnNjN9esL
https://dl.doubtnut.com/l/_k5XoObTd6wSx

° Watch Video Solution

20. Native silver metal forms a water soluble complex with a

dilute aqueous solution of NaCN in the presence of

A. Nitrogen

B. Oxygen

C. Carbon dioxide

D. Argon

Answer: B

o Watch Video Solution



https://dl.doubtnut.com/l/_k5XoObTd6wSx
https://dl.doubtnut.com/l/_InBq3qh8D0EC

21. Which of the following metals can be used for precipitation

of silver from sodium argento cyanide solution

A.Zn

B. Cu

C. Al

D. All

Answer: D

° Watch Video Solution

22.In the Down's process at low temperature sodium extracted

is more because

A. Solubility of sodium metal in fused electrolyte is less


https://dl.doubtnut.com/l/_PA0e2frV8dI3
https://dl.doubtnut.com/l/_1wfh9lb79FxG

B. Vapour pressure of sodium is more

C. Solubility of sodium in fused state is high

D. Common salt is the electrolyte used

Answer: A

o Watch Video Solution

23. Aqueous sodium cyanide is used as a reagent in the metal

extraction. This process is called

A. Pyrometallurgy

B. Electrometallurgy

C. Hydrometallurgy

D. None of these


https://dl.doubtnut.com/l/_1wfh9lb79FxG
https://dl.doubtnut.com/l/_wqWYPVDz5QXN

Answer: C

° Watch Video Solution

24. Metal is precipitated from Au(CN)i_ using zinc as a
precipitant. Along with Au, a complex compound of zinc is also
formed as product. The 1° and 2° valencies in the complex are

A2,3

B.2, 6

C.1,4

D.2, 4

Answer: D

° Watch Video Solution



https://dl.doubtnut.com/l/_wqWYPVDz5QXN
https://dl.doubtnut.com/l/_yX2y9q7GuLq7

25. The best electrolyte for the extraction of magnesium metal

is

B. MgO

C. Mg3N2

D. MgS

Answer: A

o View Text Solution

26. Which one of the following is the mineral for tin?

A. galena

B. cerussite


https://dl.doubtnut.com/l/_qBFvGMpSHs12
https://dl.doubtnut.com/l/_7i4TNm3cS2r8

C. cassiterite

D. Anglesite

Answer: C

o Watch Video Solution

27. Some statements about the below Ellingham diagram are

given below

]

¥
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(a)At 1120° C M gO will melt

(b) At the temperatures below 1400° C, Mg can reduce AL,O3


https://dl.doubtnut.com/l/_7i4TNm3cS2r8
https://dl.doubtnut.com/l/_9g7YOc40wrdq

and at the temperature above 1400° C' Al reduces MgO
(c ) At the temperature above 2000° C, carbon can reduce MgO
The correct statement is/are

A.onlya

B.onlyaand c

C.onlyc

D.a,b and c

Answer: D

o Watch Video Solution

28. Carbon cannot be used in the reduction of Al,O3 because

A. it is an expensive proposition


https://dl.doubtnut.com/l/_9g7YOc40wrdq
https://dl.doubtnut.com/l/_2ZpFmxC33ShH

B. the enthalpy of formation of CO, is more than that of

AlyO3

C. pure carbon is not easily available

D. the enthalpy of formation of Al,O5

Answer: D

o Watch Video Solution

29. Spinels are denoted with the formula M Al,O,4, where 'M' is

A. Mg in + 2 state or Mn in + 2 state

B.Fe in + 2 state or Mn is + 4 state

C.Fein + 3 state or Mg in + 2 state

D. Mg in + 2 state or Mn in + 4 state


https://dl.doubtnut.com/l/_2ZpFmxC33ShH
https://dl.doubtnut.com/l/_JYXpScPUX9gb

Answer: A

° Watch Video Solution

30. Magnesium present in the sea water is precipitated using 'X'
and precipitated as 'Y'. M Here 'X' abd 'Y' are respectively
A.CaCO3 and MgCOs
B.CaCO3 and Mg(OH),
C.Ca(OH), and Mg(OH),

D.Ca(OH,) and MgCOs;

Answer: C

° Watch Video Solution



https://dl.doubtnut.com/l/_JYXpScPUX9gb
https://dl.doubtnut.com/l/_WLK9EFWfnCJA

31. Magnesium oxide is reduced in the Hansging method using

A. Silicon
B. Ferro-silicon
C. Coke

D. Calcium carbide

Answer: C

° Watch Video Solution

32. The green mass formed when copper is exposed to moist air

has the same composition as that of

A. Azurite

B. Malachite


https://dl.doubtnut.com/l/_lCUNj5t6exme
https://dl.doubtnut.com/l/_4aByPQbZeM3B

C. Cuprite

D. Copper pyrites

Answer: B

o Watch Video Solution

33.The process of bringing the metal or its ore into solution by
the action of a suitable chemical reagnet following by
extraction of the metal either by electrolysis or by suitable
precipitating agent is called

A. Electrometallurgy

B. Hydrometallurgy

C. Electro refining

D. Zone refining


https://dl.doubtnut.com/l/_4aByPQbZeM3B
https://dl.doubtnut.com/l/_ri3IxC182AOE

Answer: B

° Watch Video Solution

1800k
34, Z’I" + 2.[2 — Z’I”I4 E— Z’I" + 2.[2

This sequence of reactions involved in

A. Mond's process for refining of zirconium

B. Van Arkel method for refining of zirconium

C. Zone refining of zirconium

D. Refining of zirconium by destillation

Answer: B

o Watch Video Solution



https://dl.doubtnut.com/l/_ri3IxC182AOE
https://dl.doubtnut.com/l/_Nn4Go0JP2q6o

35. Some statements about Ellingham diagram a) Increase in
the slope of the line on +ve side indicates the phase
transformation b) Metal Oxide decomposes on its own at the
temperature when the AG® becomes positive c) Oxide of the
upper line can be reduced by the element whose oxidation is

represented by the lower line The correct statement is/are

A.only a

B.onlyaandb

C.onlyband c

D.a,bandc

Answer: D

° Watch Video Solution



https://dl.doubtnut.com/l/_ezEkHcUzB0sc

36. The metal that can be obtained even by the electrolysis of

its aqueous salt

A Al

B.Zn

C.Cu

D. Na

Answer: C

° Watch Video Solution

37. the most electropositive metals are isolated from their ors

by

A. High temperature reduction with carbon


https://dl.doubtnut.com/l/_aeTBeAUiw2Fn
https://dl.doubtnut.com/l/_JP4wQ0R6q8Ys

B. Self reduction

C. Thermal decomposition

D. Electrolyris of fused ionic salts

Answer: B

o Watch Video Solution

38. In order to refine blister copper it is melted in a furnance

and is strirred with gree longs of woman the purpose is

A. To expel the dissolved gases in the blister

B. To bring the impurities to surface and oxidise them

C.To increase the carbon content of copper


https://dl.doubtnut.com/l/_JP4wQ0R6q8Ys
https://dl.doubtnut.com/l/_qvuj48aLYikI

D. To reduce the metallic oxide impurities with hydrocarbon

gases liberated from the wood

Answer: D

° Watch Video Solution

39. Electric furnaces are lined with magnesia because

A. It is not affected by acids

B. It liberates oxygen on heating

C. It melts at very high temperature

D. It has no effect of electricity

Answer: C

° Watch Video Solution



https://dl.doubtnut.com/l/_qvuj48aLYikI
https://dl.doubtnut.com/l/_JmXbYLxjKnhK

40. The separation of lanthanoids by the ion exchange method

is based on

A. The solubility of their nitrates

B. Size of the hydrated ions

C. Basicity of the hydroxides

D. Size of the anhydrated ions

Answer: B

° View Text Solution

41. Metal carbonate is converted to the corresponding metal

oxide usually by :


https://dl.doubtnut.com/l/_JmXbYLxjKnhK
https://dl.doubtnut.com/l/_tMMmKA2z2zlg
https://dl.doubtnut.com/l/_gEFiqboaEOtj

A.roasting process

B. calcination process

C. reduction process

D. oxidation process

Answer: B

° Watch Video Solution

42, Blast furnace is used in the extraction of the metal

A. Coper

B. Iron

C.Zinc

D. Silver


https://dl.doubtnut.com/l/_gEFiqboaEOtj
https://dl.doubtnut.com/l/_MrtldEwhiq1D

Answer: B

° Watch Video Solution

43. Nickel steel is used in making

A. Cycles

B. Alensils

C. Cutting tools

D. Cables

Answer: D

o Watch Video Solution



https://dl.doubtnut.com/l/_MrtldEwhiq1D
https://dl.doubtnut.com/l/_EQE70MjUvyii

44. Carbonate or hydroxide ores are generally converted to

their oxides by

A.Roasting

B. Calcination

C.Smelting

D. Fluxing

Answer: B

° Watch Video Solution

45, Most abundant metal in the earth's crust is

A Si

B. Al


https://dl.doubtnut.com/l/_hI2nD9jc9HJU
https://dl.doubtnut.com/l/_DTSDySQZgZyr

C.Mg

D. Fe

Answer: B

o Watch Video Solution

46. Gravity separation method is based upon

A. Preferential washing of ores and gangue particles

B. Difference in densities of ore particles and impurities

C. Difference in chemical properties of ore particles and

impurities

D. None of these

Answer: B


https://dl.doubtnut.com/l/_DTSDySQZgZyr
https://dl.doubtnut.com/l/_EFZ0W7J2OY8l

° Watch Video Solution

47. Among the following statements the incorrect one is

A. Calamine and siderite are carbonates

B. Argentite and cuprite are oxides

C.Zine blende and iron pyrites are sulphides

D. Malachite and azurite are ores of copper

Answer: B

° Watch Video Solution

48. Refractory metals are used in construction of furnaces

because


https://dl.doubtnut.com/l/_EFZ0W7J2OY8l
https://dl.doubtnut.com/l/_HBcMLleIhPKq
https://dl.doubtnut.com/l/_riXGLObjQeB5

A. they can withstand high temperature

B. they are chemically inert

C. their melting point is high

D. their boiling point is low

Answer: A

o Watch Video Solution

49. The substance widely used to remove silica present as

impurity, from the ore is

A.CaO

B. P,Os

C. S5 C


https://dl.doubtnut.com/l/_riXGLObjQeB5
https://dl.doubtnut.com/l/_BmJYG0Tzj2l7

D. NCL2003

Answer: A

° Watch Video Solution

50. Extraction of aluminium from aluminium oxide (Aly /O3)is
het done by

A. electrolytic reduction of Al,O4

B. reduction of Al,O3 with carbon

C.reduction of Al,O3 with sodium

D. reduction of Al,O3 with CO

Answer: A

o Watch Video Solution



https://dl.doubtnut.com/l/_BmJYG0Tzj2l7
https://dl.doubtnut.com/l/_Sicn9G7uVga7

51. the most electropositive metals are isolated from their ors

by

A. High temperature reduction with carbon

B. Self reduction

C. Thermal decomposition

D. Electrolyris of fused ionic salts

Answer: D

° Watch Video Solution

52.Siderite mineral is

A. Sulphate of iron


https://dl.doubtnut.com/l/_Sicn9G7uVga7
https://dl.doubtnut.com/l/_NDbq0j7Jdu4B
https://dl.doubtnut.com/l/_ezLUebIh6Z8H

B. Carbonate of zinc

C. Sulphate of zinc

D. Carbonate of iron

Answer: D

° Watch Video Solution

53. Chemical composition of malachite is 'X'. Then the
composition of azurite is

A CUCO?, + X

B.Cu(OH), + X

C. X — CuCO3

D. X — Cu(OH),


https://dl.doubtnut.com/l/_ezLUebIh6Z8H
https://dl.doubtnut.com/l/_P8wCPRTkt31e

Answer: A

° Watch Video Solution

54.In sulphatizing roasting of Zns, products are

A. ZnO + SO2

B. ZnO + ZnSO4 + SO,

C. ZnCl2

D.Zn + SOZ

Answer: B

o Watch Video Solution



https://dl.doubtnut.com/l/_P8wCPRTkt31e
https://dl.doubtnut.com/l/_VjUAt7JsfzMt

55. In order to refine blister copper it is melted in a furnance

and is strirred with gree longs of woman the purpose is

A. To expel the dissolved gases in the blister

B. To bring the impurities to surface and oxidise them

C. To increase the cabon content of copper

D. To reduce the metallic oxide impurities with hydrocarbon

gases liberated from the wood

Answer: D

° Watch Video Solution

56. Which of the following process is used for concentration of

ores and for refining metals


https://dl.doubtnut.com/l/_dTcUjyFbvtXV
https://dl.doubtnut.com/l/_tHW3cHuR6RVG

A. Liquation

B. Leaching

C. distillation

D. Poling

Answer: A

o Watch Video Solution

57. The chemical composition of slag formed during smelting

process in the extraction of Cu is

A.Cuy0 + FeS

B. FBS’LOg

C.CuFeS,


https://dl.doubtnut.com/l/_tHW3cHuR6RVG
https://dl.doubtnut.com/l/_1wZp8witw2Jl

D. CuyS + FeO

Answer: B

o Watch Video Solution

58. Impurities in the zinc spelter are

A. Ag and Au

B.Cd and Pd

C.Cd and Pb

D.Cd As and Au

Answer: C

o Watch Video Solution



https://dl.doubtnut.com/l/_1wZp8witw2Jl
https://dl.doubtnut.com/l/_irgaen73XtER
https://dl.doubtnut.com/l/_BBYHCLXhwawo

59. Role of limestone used in re extraction

A. Oxidation of Fe ore

B. Reduction of Fe ore

C. Formation of slag

D. Purification of Fe formed

Answer: C

° Watch Video Solution

60. The purest form of commercial iron is

A. Pig iron

B. Cast iron

C. Wrought iron


https://dl.doubtnut.com/l/_BBYHCLXhwawo
https://dl.doubtnut.com/l/_1GT9Nhs2pNOr

D. Pig iron and cast iron

Answer: C

o Watch Video Solution

61. Percent purity of iron in cast iron is

A.90

B. 94

C.97

D. 99

Answer: D

o Watch Video Solution



https://dl.doubtnut.com/l/_1GT9Nhs2pNOr
https://dl.doubtnut.com/l/_CzHqKraKnAdU
https://dl.doubtnut.com/l/_Fi43d0VS48gV

62. Native silver metal forms a water soluble complex with a

dilute aqueous solution of NaCN in the presence of

A. Nitrogen

B. Oxygen

C. Carbon dioxide

D. Argon

Answer: B

° Watch Video Solution

63. Which of the following metals can be used for precipitation

of silver from sodium argento cyanide solution

A.Zn


https://dl.doubtnut.com/l/_Fi43d0VS48gV
https://dl.doubtnut.com/l/_LUwnuU4bysKf

B. Cu

C. Al

D. All

Answer: D

° Watch Video Solution

64.In the Down's process at low temperature sodium extracted

is more because

A. Solubility of sodium metal in fused electrolyte is less

B. Vapour pressure of sodium is more

C. Solubility of sodium in fused state is high

D. Common salt is the electrolyte used


https://dl.doubtnut.com/l/_LUwnuU4bysKf
https://dl.doubtnut.com/l/_jXSMhqvqM2Pv

Answer: A

° Watch Video Solution

65. Aqueous sodium cyanide is used as a reagent in the metal

extraction. This process is called

A. Pyrometallurgy

B. Electrometallurgy

C. Hydrometallurgy

D. None of these

Answer: C

o Watch Video Solution



https://dl.doubtnut.com/l/_jXSMhqvqM2Pv
https://dl.doubtnut.com/l/_COn9lXMPwls9

66. Metal is precipitated from Au(CN)i_ using zinc as a
precipitant. Along with Au, a complex compound of zinc is also
formed as product. The 1° and 2° valencies in the complex are

A2,3

B.2,6

C.1,4

D. 2,4

Answer: D

° Watch Video Solution

67. The best electrolyte for the extraction of magnesium metal

is


https://dl.doubtnut.com/l/_xBjytECMMzW4
https://dl.doubtnut.com/l/_v2CuLQTUuPLy

B. MgO

C. Mg3N2

D. MgS

Answer: A

° Watch Video Solution

68. Which one of the following is the mineral for tin?

A. galena

B. cerussite

C. cassiterite

D. Anglesite


https://dl.doubtnut.com/l/_v2CuLQTUuPLy
https://dl.doubtnut.com/l/_sCbr6hZqPzoq

Answer: C

o Watch Video Solution

69. Some statements about the below Ellingham diagram are

given below
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(a)At 1120° C M gO will melt

(b) At the temperatures below 1400° C, Mg can reduce AL,O3
and at the temperature above 1400° C' Al reduces MgO

(c ) At the temperature above 2000° C, carbon can reduce MgO

The correct statement is/are


https://dl.doubtnut.com/l/_sCbr6hZqPzoq
https://dl.doubtnut.com/l/_nriZCMopRrU7

A.onlya

B.onlyaand c

C.onlyc

D.a,b and c

Answer: D

o Watch Video Solution

70. Carbon cannot be used in the reduction of Aly,05 because

A. it is an expensive proposition

B. the enthalpy of formation of CO, is more than that of

Al,Os

C. pure carbon is not easily available


https://dl.doubtnut.com/l/_nriZCMopRrU7
https://dl.doubtnut.com/l/_bWQ21livDWky

D. the enthalpy of formation of Al,O;

Answer: D

° Watch Video Solution

71.Spinels are denoted with the formula M Al,O4, where 'M' is

A. Mg in + 2 state or Mn in + 2 state
B.Fein + 2 state or Mn is + 4 state
C.Fein + 3 state or Mg in + 2 state

D. Mg in + 2 state or Mn in + 4 state

Answer: A

o Watch Video Solution



https://dl.doubtnut.com/l/_bWQ21livDWky
https://dl.doubtnut.com/l/_kDACbaTOpRPU
https://dl.doubtnut.com/l/_wiC7vMSch2N7

72. Magnesium present in the sea water is precipitated using 'X'
and precipitated as 'Y'. M Here 'X' abd 'Y' are respectively
A.CaCO3 and MgCQOs
B.CaCO3 and Mg(OH),
C.Ca(OH), and Mg(OH),

D.Ca(OH;) and MgCO;

Answer: C

o Watch Video Solution

73. Magnesium oxide is reduced in the Hansging method using

A. Silicon

B. Ferro-silicon


https://dl.doubtnut.com/l/_wiC7vMSch2N7
https://dl.doubtnut.com/l/_7IToAepnvTD9

C. Coke

D. Calcium carbide

Answer: C

° Watch Video Solution

74.The green mass formed when copper is exposed to moist air

has the same composition as that of

A. Azurite

B. Malachite

C. Cuprite

D. Copper pyrites

Answer: B



https://dl.doubtnut.com/l/_7IToAepnvTD9
https://dl.doubtnut.com/l/_3HCnZuwSqLFt

| ° Watch Video Solution

75.The process of bringing the metal or its ore into solution by
the action of a suitable chemical reagnet following by
extraction of the metal either by electrolysis or by suitable
precipitating agent is called

A. Electrometallurgy

B. Hydrometallurgy

C. Electro refining

D. Zone refining

Answer: B

° Watch Video Solution



https://dl.doubtnut.com/l/_3HCnZuwSqLFt
https://dl.doubtnut.com/l/_lZPEnOVvxeXZ

1800k
76. Zr -+ 2[2 — Z’I'I4 — Ar + 2[2
This sequence of reactions involved in
A. Mond's process for refining of zirconium
B. Van Arkel method for refining of zirconium
C. Zone refining of zirconium

D. Refining of zirconium by destillation

Answer: B

° Watch Video Solution

77. Some statements about Ellingham diagram a) Increase in
the slope of the line on +ve side indicates the phase
transformation b) Metal Oxide decomposes on its own at the

temperature when the AG® becomes positive c) Oxide of the


https://dl.doubtnut.com/l/_Dpohw0KwZFDW
https://dl.doubtnut.com/l/_fpxWDOq84uLX

upper line can be reduced by the element whose oxidation is

represented by the lower line The correct statement is/are

A.onlya

B.onlyaandb

C.onlybandc

D.a,b and c

Answer: D

o Watch Video Solution

78. The metal that can be obtained even by the electrolysis of its

aqueous salt

A Al


https://dl.doubtnut.com/l/_fpxWDOq84uLX
https://dl.doubtnut.com/l/_ZgyThlR25nzr

B.Zn

C.Cu

D. Na

Answer: C

° Watch Video Solution

79. the most electropositive metals are isolated from their ors

by

A. High temperature reduction with carbon

B. Self reduction

C. Thermal decomposition

D. Electrolyris of fused ionic salts


https://dl.doubtnut.com/l/_ZgyThlR25nzr
https://dl.doubtnut.com/l/_I9z4GHL0wDjQ

Answer: B

° Watch Video Solution

80. In order to refine blister copper it is melted in a furnance

and is strirred with gree longs of woman the purpose is

A. To expel the dissolved gases in the blister

B. To bring the impurities to surface and oxidise them

C.To increase the carbon content of copper

D. To reduce the metallic oxide impurities with hydrocarbon

gases liberated from the wood

Answer: D

° Watch Video Solution



https://dl.doubtnut.com/l/_I9z4GHL0wDjQ
https://dl.doubtnut.com/l/_zNdC0PJykZgn

81. Electric furnaces are lined with magnesia because

A. It is not affected by acids
B. It liberates oxygen on heating
C. It melts at very high temperature

D. It has no effect of electricity

Answer: C

o Watch Video Solution

82. The separation of lanthanoids by the ion exchange method

is based on

A. The solubility of their nitrates

B. Size of the hydrated ions



https://dl.doubtnut.com/l/_6wBbXG4Wnke1
https://dl.doubtnut.com/l/_2Fk18jeCkecx

C. Basicity of the hydroxides

D. Size of the anhydrated ions

Answer: B

° Watch Video Solution

83. Metal carbonate is converted to the corresponding metal

oxide usually by :

A. roasting process

B. calcination process

C. reduction process

D. oxidation process

Answer: B



https://dl.doubtnut.com/l/_2Fk18jeCkecx
https://dl.doubtnut.com/l/_nuFvQ1VGSaJQ

| ° Watch Video Solution

84.Blast furnace is used in the extraction of the metal

A. Coper

B. Iron

C.Zinc

D. Silver

Answer: B

o Watch Video Solution

Subjective Exercise 1 Short Answer Questions



https://dl.doubtnut.com/l/_nuFvQ1VGSaJQ
https://dl.doubtnut.com/l/_UyMSsbJEG5bf

1. How do metals occur in nature? Give some examples for any

two types of minerals.

° Watch Video Solution

2. What is an ore? On what basis a mineral is chosen as an ore?

° Watch Video Solution

3. Write the composition important of oxide and halide

minerals.

° Watch Video Solution



https://dl.doubtnut.com/l/_5H10VGM67JHS
https://dl.doubtnut.com/l/_tOHBWRUk06vX
https://dl.doubtnut.com/l/_e3UXrgNiOY1y

4. Write the names and composition of some sulphide and

carbonate minerals.

o Watch Video Solution

Subjective Exercise 2 Long Answer Questions

1. Write a note on ore dressing methods in metallurgy.

o Watch Video Solution

2. Describe different furnaces used in metallurgy.

o Watch Video Solution



https://dl.doubtnut.com/l/_Hwg1R4jBkqia
https://dl.doubtnut.com/l/_iLY3PLM3jmld
https://dl.doubtnut.com/l/_EtwBP77ydpSn

3. What are the common methods used in the extraction of

metals?

o Watch Video Solution

4. Write in brief about the refining of metals.

o Watch Video Solution

5. Draw a neat diagram of Reverberatory furnace and label it

neatly.

o Watch Video Solution



https://dl.doubtnut.com/l/_ebsGuIoisLbX
https://dl.doubtnut.com/l/_aknVW8n9uReZ
https://dl.doubtnut.com/l/_XnHblhPA33hq

6. Draw a neat diagram of Blast furnace. Indicate different

temperature zones and their names in it.

° Watch Video Solution

7.Discuss the thermodynamic principles used in metallurgy.

° Watch Video Solution



https://dl.doubtnut.com/l/_4suj32f3egNH
https://dl.doubtnut.com/l/_VaEEf7vXS1LV

